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Speak the truth
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Lead a religious life.
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Treat your Mother as God.
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Treat your father as God.
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Treat your teacher as God.
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Treat your Guest as God.
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O Lord! Lead me from Unreal to Real,

from Darkness to Light, from Death to Immortality
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May there be peace in the heaven! May there be peace in the space!

May there be peace on the earth! May there be peace in the waters!
May there be peace in the herbs! May there be peace in the plants!
May there be peace in the God's! Creations!

May Brahma, the Divine Knowledge, bring peace!
May all thing in the world bring peace!

May that peace, the real peace, be mine!
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FOREWORD

Evaluation is a very important and integral part of an Educational System.
Just as Teaching, Learning is a continuous process, so is the Evaluation. Evaluation
helps us to identify the shortcomings in teaching learning process, thus enabling
us to bring about the much needed changes in the methodology of teaching. We do
not restrict ourselves to evaluate only the students, but evaluation encompasses
teachers, syllabus and curriculum as well.

Written Examination (Pen and Paper Test) is one technique which helps us
in the process of evaluation. Question papers play a vital role in this process. It
is, therefore, absolutely essential that the question papers are student friendly,
catering to the needs of different strata i.e. brilliant, average and below average
students. The question papers have to be balanced so that these test the learning
outcomes specified for different subjects.

The annual examination of students of class VIII in all DAV Public Schools
was started in the academic session 1988-1989 and it has proved a great success.
As a consequence, the academic standards of our schools at the Senior Secondary
stage are bound to improve further.

In order to enable the teachers and students to prepare well for the Annual
Examination at the end of the academic session 2023-24, the DAV Centre for
Academic Excellence is providing Sample Question Papers. It is hoped that
these sample question papers will certainly improve the class room transaction
of the subject in our schools. These sample question papers have been prepared
by practising teachers of DAV Public Schools under the guidance of experienced
resource persons in workshops conducted under the guidance of DAVCAE.

I express my gratitude to Ms. Indu Arora OSD, DAV CAE and all the experts
who very ably guided our teachers in workshops organised by the DAVCAE.
I would also thank DAV CAE staff extending their support in organising these
workshops.

I am confident that the students and teachers will use these sample question
papers in teaching learning process and thus help the students to do well in the
Annual Examination in February-March, 2024.

Punam Suri

Chairman
DAYV Educational Board
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PREFACE

I am pleased to place before the students and teachers these Sample Question
Papers for Class VIII. As you know, the DAV Centre for Academic Excellence has
been holding common examination in class VIII of DAV Public Schools besides
helping schools in other academic spheres. The presentation of Sample Question
Papers has been immense help to the students as it introduces them to test tasks,
based on various instructional objectives. It also helps them to know the art of
answering a question. On the whole the student will get an insight of how he/she

has to plan his/her studies so that he is able to perform well in the examination.

These Sample Question Papers will help the teachers to modify their teaching
approach in the classroom which needs to be in agreement with the objectives

laid. These will also help the teachers to improve their own testing materials.
I am sure, this document will be quite useful to all its users.

I thank the resource persons and the school teachers for their contribution in

designing and developing these Sample Question Papers.

Suggestions for further improvement are most welcome.

Secretary
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INTRODUCTION

The DAV Centre for Academic Excellence, has been making all efforts to achieve
the objectives laid out for the department. One of the objective is to bring about a
uniformity in the standard of education in DAV Public Schools spread throughout
the length and breadth of India. We know that our Public Schools, situated as they
are, cater to the needs of different strata of society and it is, therefore a difficult
task to maintain the same standard of teaching in all these institutions. However,
one such activity that has helped us in bringing about some uniformity in the
standard of education is the system of common examination.

The DAV Centre for Academic Excellence provides common Question Papers of
Class-VIII in all DAV Public Schools. Examination is held in all the schools as per
the date sheet issued by the department. Since DAVCAE has changed the pattern
to annual examinations. Accordingly the Sample Question Papers are prepared
and compiled in this document. The Sample question paper have been made to
align assessment to the vision of NEP 2020 by including more competency-based
question this year.

The main tool in the written examination is the question paper. If the question
paper is not designed properly, the test will give a totally incorrect conclusion.
And in this whole process the casualty will be the student. It has been observed
that the question papers in general suffer from the following infirmities :

. The questions mostly require on recall of information and as such encourage
memorisation.

. Abilities like understanding and application of knowledge are seldom
tested.

. The questions are vaguely worded. As a result the student is not clear about

the quality of answer required.
. Question paper does not cover the whole course.

. Options are provided in the question paper which leave scope for the
students to pick and choose.

In order to remove the above infirmities and administer a good and balanced
question paper to the students, efforts are made to incorporate the following in
the question papers :
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The question measures a single learning outcome.

Incorporating some test tasks as would test all the abilities like
knowledge, understanding, application, competency & skill
appropriately.

Including questions that

(@) are within the scope of syllabus.

(b) are within the comprehension level.

(c) can be solved within a reasonable length of time.

(d) are worded in a clear, simple and unambiguous language.

(e) use appropriate directional words.

Hence for setting a good question paper, a great deal of planning prior to
the actual writing of questions is required. The major steps in the planning/
preparation of a good and balanced question paper are :

(1)

Preparation of the design : 1t lays down the chief dimensions of the
question paper. Weightage to learning objectives, weightage to content,
weightage to form of questions, weightage to difficulty level are decided
under the head design. Moreover through written examination, it is
the cognitive domain, representing the intellectual area of the pupils,
that gets evaluated. This domain involves the development of the
abilities of knowledge, understanding (comprehension), application
(expression) and skill. The paper setter assigns marks to each in view
of its importance. In order to cover maximum content course the paper
setter has to prepare large number of questions of various types. These
types include very short answer questions, short answer questions and
long answer questions.

Preparation of blue print: The designis then followed by the preparation
of a blue print. It reveals the actual picture of the question paper. The
blue print gives the placement of questions in respect of :

(a) the objective to be tested by each.
(b) the content area to be covered by each.

() the form of question suitable for testing.
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(iii) Preparation of questions : Preparation of an appropriate question is

(iv)

an art and requires knowledge of objectives and their specifications, a
mastery over the subject matter and the skill of framing questions. The
paper setter while framing a question should keep in mind that-

(a) It is based on a well defined specific objective.
(b) It is related to a specific content area.

() It is at the desired level of the difficulty.

(

d) It is well worded so as to be within the comprehension of the
students and can be done within a reasonable length of time.

(e) Its language is clear, simple and unambiguous.
(f) It uses appropriate directional words.

Editing the question paper : The editing and assembling of a question
paper is of crucial importance. The arrangement of questionin a question
paper should be from easy to difficult. Similarly very short answer type
questions should appear first to be followed by short answer type and
long answer type questions.

Preparation of marking scheme/hints to solution : This is very essential
as it
(a) reduces the subjectivity in scoring.

(b)  ensures uniformity in scoring when a number of evaluators are
involved and

() gives the paper setter a clear idea of how the pupils will react
while answering the questions. However, all teachers must
understand that Marking Scheme is just a guideline to bring
uniformity in evaluation.

Preparation of question-wise analysis : It helps the paper setter to
know the strength and weakness of his/her question paper. It also
enables the paper setter to reconcile the question paper with the blue
print. The questions are, therefore, analysed in terms of :

(@) objectives tested by the questions.

(b)  specification on which the question is based.
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(c) topic covered by the questions.
(d)  form of the questions.
(e) estimated difficulty level.
SAMPLE QUESTION PAPERS
Use of Sample Question Papers by students :

The Sample Question Papers indicate the pattern of the question papers which the
pupils will have to face in the forth-coming examinations. These will also help the
students to know how to answer a question. Understanding a question and then
answering it, is a technique which students need to know.

Use of Sample Question Papers by the teachers :

The material presented herein may provide sufficient help to the teachers in
bringing improvement in the techniques and tools of evaluation. It will help the
teachers in :

. understanding the objective of teaching a particular course.

. teaching various topics keeping in mind the learning objectives.

. framing appropriate questions.

. developing appropriate marking schemes for the question papers.

The sample question papers along with guidelines for their evaluation printed
herein were designed and developed in the workshops, held under the guidance
of DAV College Managing Committee. Subject experts helped and guided the
participating teachers in developing these question papers. It is the matter of great
satisfaction that small number of teachers participated in these workshops from
Schools, worked intensively & enthusiasticaly to form Sample Question Paper in
time.

I convey my thanks to all the resource persons for their able guidance without
which preparation of a good balanced Sample Question Paper in a particular
subject would not have been possible. My thanks are also due to Ms. Indu Arora
OSD. DAV CAE and the staff working in the DAV Centre for Academic Excellence
for their devoted and dedicated work.

Dr. Nisha Peshin
Director (Academics)
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L.

II.

ENGLISH - COURSE 'A’

DESIGN
Weightage of learning objectives :
Objectives Reading Writing & Grammar Literature Total
% of Marks 25% 37.5% 37.5% 100
Marks 20 30 30 80
Weightage to form of questions :
Type of Questions| LA SAI SAII | VSA/DB]J | MCQ Total
No. of Questions 02 02 01 06 02 13
Marks 16 24 04 23 13 80
III. Weightage to Content :
S. No. Name of Unit Marks
1 [Section - A (Reading) [1-2] 20
2 [Section - B (Writing and Grammar) [3-9] 30
3 Section - C (Literature) [10-13] 30
Total 80
IV. Scheme of options : Choice in Q. 3, 4,10, 12 & 13
V. Scheme of Sections : A, B, & C
VI. Weightage to difficulty level :
1. Difficult questions  :23% 2. Average questions  :47 %
3. Easy questions :30%

VII. Expected length of answers to different types of questions & time management :

Noo|  Tvpesof Questions | BPeE O O | D ention type
1 [Long Answer (LA) 100-120 words 40 minutes
2 |Short Answer (SA-I) (SA-II) 30-40 words 50 minutess
3 | Very Short Answer (VSA/Obyj) 10-20 words 60 minutes
4 [Multiple Choice Questions ( MCQ)| One word/Phrase 30 minutes
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ENGLISH - COURSE 'A’
(SAMPLE PAPER-1)
CLASS VIII - 2023-24

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1.
2.
3.

NG

This paper consists of three sections: A, B, and C.

Attempt all the questions.

Do not write anything on the question paper except your name, class/section, and
roll number.

All the answers must be correctly numbered as in the question paper and written in
the answer sheet provided to you.

Ensure that questions of each section are answered together.
Read each question carefully and follow the instructions.
Strictly adhere to the word limit given in the paper.

Do the paper neatly and in a presentable manner. All the Best!

Section - A (Reading) (20 Marks)

Read the following passage carefully and answer the questions that

follow : (1x8)

The Secret Behind an Ant’s Gravity Defines Grip!

1. A biologist studying ants for three decades tells us how ants can
move on different surfaces easily!

2. Ants have 6 feet, and each foot has five jointed segments. Each
of these segments has spines and hair, which provide the ants
traction on rough surfaces. The last segment also has a pair of
claws that help with a good grip on irregular surfaces. Together,
both spines and claws act like our shoes - protect ants from hot
and sharp objects.

3. Located between each pair of their claws is an inflatable sticky
pad called an arolium. Before gravity can pull an ant, its leg
muscles pump fluid into the pads causing them to inflate. This
sticky fluid called hemolymph circulates throughout their body.
A little bit of hemolymph oozes out of the arolium when an ant
places its legs on the surface, allowing it to stick to the surface.
And when it removes its legs from the surface, the leg muscles
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absorb the liquid back into the body.

Since ants are lightweight; these six pads are adequate enough
to give them their gravity-defined grips on any surface. In their
underground chambers, ants sleep on the ceiling using their
sticky pads to avoid the rush hour traffic of other ants on the
chamber floors.

When we walk, our left and right feet alternate. Ants do the same
thing too - when they move, three of their legs are on the surface
and three in the air at a time.

i) Shoes are to humans, like _ are to ants.
a) spines and claws
b) arolium/sticky pads
c) leg muscles
d) legs
if)  On which type of surfaces does Arolium allow ants to walk?
a) spongy surfaces
b) sticky surfaces
c) irregular surfaces
d) clean and regular surfaces
iif) Why do ants sleep on the ceiling of their chambers?
a) because they have sticky pads to climb
b) to improve their surface climbing ability
c) because they prefer to sleep in groups
d) to allow other ants to enter without any hindrance

iv) What is the similarity between the way ants and humans
walk?

a) Both alternate left and right feet.

b) They can walk on all kinds of surfaces.

[12]
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c¢) Have an even number of feet.

d) Both put their left foot out first when walking.
v) How are the leg muscles useful for the ants?

a) They are light-weight and flexible.

b) They are strong enough to take all the weight.

c) They are inflatable and provide traction.

d) They thrust the sticky fluid towards the arolium.

vi) Ants prefer to live in

vii) Ants' claws give them their gravity-defined grips. (True/
False)

viii) Find the opposite of the word “slipperiness” in the above
passage.

2. Read the following passage carefully and answer the questions that
follow:

1.

In terms of the total energy consumed by different sectors, the
largest consumer is understandably the industrial sector, which
accounts for nearly half of the total energy used in the country
today. This is followed by the transport sector which consumes
about 25%, the household sector about 16%, and the agricultural
sector about 9%. This last sector has had a considerable increase
in energy use over the last four decades. Among the primary
fuels, the relative proportion of coal has dropped from nearly
80% to 40% and that of oil has gone up from 17% to 44% over the
same period.

Total energy consumption in India today is equivalent to 291
million tons of oil of which 26% comes from wood. On a per
capita basis it works out to about 1 litre of oil per day, which
is extremely low by international standards. The future energy
demand depends upon the level of development envisaged and
also on the sections of people to be affected by it.

The energy disparity between the urban and the rural population
at present is as wide as between nations on a worldwide scale.
There is apparently a greater need to provide energy in the rural

[13]
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areas and to improve the efficiency of energy use than merely to
increase the national figures for energy consumption, limiting its
use to those who are getting the bulk share already.

4. With the projected rate of population growth, improving upon
the per capita energy consumption is a herculean task as our
coal reserves and the capacity to import oil cannot be increased
beyond a point. There is clearly no escape from the utilisation of
renewable energy sources in a big way if the gap between the
desired level of energy supply and available resources has to be
kept at a minimum.

Data on Consumption of Energy

i) In the passage, the author is laying greater emphasis on

a) efficient use of energy

b) increasing energy consumption
c) controlling population growth
d) consumption of coal in India

ii) Arrange the following in ascending order of their consumption

of energy.
1) irrigation of fields 2) domestic electricity use
3) industrial electricity use 4) transport

. 2x4=8
Choose the correct option from below:

a) 1,2,3,4 b)342,1, 1,243 d)3214

iif) Increasing per capita use of energy is
[14]



a) not desirable at all

b) a matter of great concern

c) aroutine matter

d) rather difficult, but not impossible

iv) The following options are marked Assertion(A) and Reason (R).

Read the statements and choose the correct option:

(R) It will reduce bulk users

(A) The best possible solution to overcome the energy crisis is
maximising renewable sources.

a) Both (A) and (R) are true but (R)is not the correct explanation

of (A).

b) Both (A)and(R) are true and (R) is the correct explanation of

(A)-

c¢) Both (A)and (R) are true.

d) Both (A) and (R) are false.

v) Identify the picture of renewable source of energy from the ones

given below:

(a)

vi) The writer has used a term ““herculean task”

In the passage.

Identity the picture which makes the meaning of the term clear.

[15]
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vii) “There is clearly no escape’ means

viii) Pick out the synonym of 'imbalance' from paragraph 3. 8
ix) The use of which primary fuel has dropped to almost half?
x) Find the antonym of 'insignificant' from paragraph 1.

xi) According to the writer, the biggest reason for increased demand
of energy in future will be

xii) Mention whether the following sentence is True or False.
There is no need to provide energy to rural areas.

Section B (Writing and Grammar) (30 Marks)

‘It is important to get back to nature to de-stress ourselves and to
experience pure joy!” Bearing the same thought in mind, your school
has decided to add to the city's green cover and organise a tree
plantation drive in the school’s neighboring areas. Draft a Notice for
the school notice board giving all necessary details. You are the Head
Boy/Head girl of Himalaya Public School, Kota. (Word Limit: 50) (4 Marks)

OR
Complete the dialogues given below:
Coach: Karan, good news for you!

Karan: a) ?

Coach: A chess competition is going to be held next week.
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Karan: That’s great, sir. b) ?

Coach: At National Stadium, New Delhi. You have to start practising
from today itself.

Karan: Sure, sir. c) . At the same time, |
am also a little nervous.

Coach: Don’t worry. (d)

The twenty-first century we live in is marked by growing intolerance.
People of different castes and creeds cannot even stand one another,
let alone co-existing in harmony. Virtues like sensitivity, mercy
and patience have been replaced by arrogance and rash behaviour.
Tolerance is the only hope. Write a letter to the editor of a national
daily expressing your concern about the deteriorating social values.
You can take ideas from the Unit “Tolerance” of 'My English Reader'.
(Word Limit: 100-120)

OR

'Self-confidence, enterprise and a personality shaped by good deeds
and value system spell victory.' Write an article on the topic ‘Fortune
favours the Bold’, reflecting on the lives of your role models, who
have earned success through sheer determination. Take ideas from
the Unit ‘Enterprise” of ‘My English Reader’. (Word Limit: 100-120)

In the paragraph given below, one word has been omitted in each
line. Write the missing word along with the word that comes before
and after it in your answer sheet against the correct blank number.

Before Missing After
Antibody is a type protein type of protein
used the immune system (Q) coverrees e
of our body identify and (D) coviiciies s
neutralise foreign objects as (C) covvvieies v v
pathogenic bacteria viruses. (d) oo

Rearrange the following words/phrases into meaningful sentences.

a) of/celebrated/poets/India/the/is/Rabindra Nath Tagore/one/
most/of

b) the/he/Prize/receive/became/Indian/to/the/Nobel/first/

[17]
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prestigious
c) vault/of/safety/awards/stolen/few/from/a/his/were/the

d) locate/there/medallion/demands/a/are/the/probe/to/start/
to/fresh.

Read the conversation among the family members at dinner. Then
report it by completing the sentences that follow using appropriate
expressions.

Granny :  Pass me some salt, dear.
Child :  Hereitis, grandma! The pasta is really yummy, Mom!
Mother :  Thanks dear, but don’t skip your juice for it. You need

to take a proper diet.

Granny :  Always listen to your mother. Moms are always right!

Speaking to the granddaughter affectionately, Granny asked her to (a)
. The granddaughter quickly passed the salt to her and
complimented her mother (b) . The mother thanked
her and advised (c) as (d) a
proper diet. Granny suggested her granddaughter to always listen to
her mother as moms are always right.

Choose the correct word from the options given below to complete
the following passage.

One of the most important political figures of the United States(a)
(were, was, being, are)Benjamin Franklin. He (b)

(shapes, shaped, will shape, is shaping) the American Revolution.

His success in c) (securing, secured, secure, is securing)

the French Military financial aid was decisive for American victory

over Britain.

Do as directed.

a) Walk fast lest you miss the school bus. (Fill in the
blank with a suitable modal)

b) Neither of the two candidates selected for the
competition. (Provide a suitable helping verb according to the
subject)

[18]
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c) Baking is my favourite pastime.

(Identify whether the underlined word is a Gerund/Participle/
Infinitive).

Section - C (Literature) (30 marks)
10. Attempt any one extract out of the two given below.
I strongly recommend a quiet week in bed.
We sighed with relief and tucked her up well.
Poor Granny! For her, it was like a brief season in hell,
Confined to her bedroom, while every breeze
Whispered of summer and dancing leaves.
a) Identify the speaker in the first line.
b) Pick a pair of rhyming words in the above lines.
c) The poetic device used in the last lineis.....................
d) Write the synonym of the word 'suggest' from the stanza.
OR
Bangle sellers are we who bear
Our shining loads to the temple fair.
Who will buy these delicate, bright
Rainbow-tinted circles of light?
Lustrous tokens of radiant lives,
For happy daughters and happy wives.
a) State the reason for the bangle sellers’ visit to the temple fair.
b) Write the rhyme scheme of the given stanza.
c) Who will buy these shining loads?
d) The “shining loads’ refers to

11. Attempt any one extract out of the two given below.

[19]
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12.

"On a number of occasions, he quarrelled with the police and they
have always been on the lookout for an opportunity to implicate
him. Recently when a dacoity took place in the village, they got their
chance and during the investigation roped him in. He is under arrest
and has been in jail for the last week. The case is filed in the court of
Deputy Collector, Mr. Mohammad Khalil. Daroga Sahib and he are
great friends and I am sure that my son will be sentenced. No one,
only you, can save him." (1x4=4)

a) Identify the speaker and the listener of the above lines.

b) ’‘He’ refers to

c) Write the reason for his implication by the police.
d) Find the synonym for the word 'incriminate.'
OR

Speaker 1: I won’t have much money. Perhaps I won’t be able to pay
you.

Speaker 2: It doesn't matter sir. I've saved some money, so I don't
need any now. But I want to stay here. It's my home.

a) Identify speaker 1 and speaker 2.
b) Speaker 1 would not be able to pay speaker 2 because

c) Speaker 2 works as a

d) Why does speaker 2 want to stay there without a salary?

Attempt ANY SIX short answer type questions out of the seven given
below. [Word Limit: 30-40]. (2x6=12)

a) Whatdoes Alexander Pope declare about judgments and watches
through his couplet? (Couplets)

b) Initially,the bearded manwanted tokill theking, butlater heasked
for forgiveness. Explain the reason behind this transformation.
(Three Questions)

c) Elucidate the poet’s toil and challenges as a child. (My Mother)

d) Children want to lessen man’s distress, when they grow up. How
will they be able to do so? (The Children’s Song)
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13.

14.

e) The disconnect between Margie and her mechanical teacher
was the primary reason for her disinterest in her school. Do you
agree? Support your answer with evidence from the story. (The
Fun They Had)

f)  Although the young woman was right-handed, she was posing
herself to be left-handed. What was her purpose behind it? (The
Case of the Sharp-Eyed Jeweller)

g) ’'Swami went to his seat with a bleeding heart’. Why was he so
upset? What was tormenting him? (Father’s Help).

The narrator was flattered and was too young to have learned to say
NO to a woman. The narrator had to spend his entire month’s budget
to host a luncheon for the lady at Foyot’s. Despite being frustrated,
he remained cordial and friendly towards her. Keeping this instance
in focus, throw light on the character of the narrator in the story “The
Luncheon’. (Word Limit: 70-80)

OR

Swami gave a lurid account of Samuel’s violence to his father. His
father became excited and wrote a complaint letter without verifying
the facts, leading to a spiral of negative events that ensued from one
to another. Elaborate the theme of the story “Father’s Help” in the
light of the above statement. (Word Limit: 70-80)

Imagine yourself as Margie. After knowing about old-time schools
and the fun children had there, you feel inclined to join such a school
as you are fed up of your technologically-advanced school. Write a
diary entry mentioning all the aspects of old-time schools that excite
your interest, and give an account of the disadvantages of your
mechanical classroom. (Word Limit: 100)

OR

Mrs. Hill is guilt-stricken for having left her husband when he needed
her the most. On behalf of Mrs. Hill, write a letter to her friend
expressing her feelings regarding the same. (Word Limit: 100)

[21]
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ENGLISH - COURSE'A’

(CLASS VIII (2023-24)
SAMPLE PAPER -1 Maximum Marks : 80
MARKING SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by the candidates,
be suitably awarded. )

Marks
allotted to| Total
Q. No. VALUE POINTS/ KEY POINTS each key otal
point/value
point
Section : A (Reading)
1. Reading Comprehension Passage 1
i)  a)spine and claws 1 8
ii) c)irregular surfaces
iii) d)to allow other ants to enter without any
hindrance
1

iv) a) Both alternate left and right feet.
v) d) They thrust the sticky fluid towards the 1

arolium.
vi) underground chambers 1
vii) False 1
viii) traction 1
2. Reading Comprehension Passage 2 "
i.  a) efficient use of energy
ii. b)3421
1

iii. b)a matter of great concern

iv. a) Both (A) and (R) are true but (R)is not the 1
correct explanation of (A).

v. d)optionD 1
vi) d) option D 1
vii) there is hardly any alternative/no choice/any 1

other relevant answer
[22]




Marks

it.(any other relevant answer)

Formal Letter

Format:
e Sender’s Address
e Date

* Receiver's Designation

Q. No. VALUE POINTS / KEY POINTS aelé‘;*}felfety" I\Egﬁl(ls
pm;(t)/;la}tlue
viii) disparity 1
ix) coal 1
x)  considerable 1
xi) population growth 1
xii) False 1
3. | Notice
= Name of school/organisation Format 1
*  The word ‘NOTICE’ Content 3 4
= Date
» Heading/Topic/Title
*  Body/Content (what, when, where, who etc.)
= Name
= Designation
(Put in a box.)
OR
Dialogue Completion
a) Whatis it, sir?/ What's that sir? 1
b) Where will it be held? / What's the venue? 1
c) Iamvery excited!/ thrilled / The news has animated 1
/ charged me!
d) I know you can do it. / You will be able to make 1 4

[23]



Marks

Allotted to| Total
Q. No. VALUE POINTS / KEY POINTS each value M(a)r-‘il( .
Point/Key
Point
* Receiver's Address (Name of the national daily and
address) Content 3
*  Subject
Fluency 2
*  Salutation 8
* Content / body — 3 paras Accuracy 2
*  Subscription Format 1

Value points:
PROBLEM :

* Itis disheartening to see that the younger generation
is becoming increasingly intolerant towards people.

* This trend can be observed in school and colleges
also.

* It is not uncommon to hear the stories of bullying,
harassment and hate speech which can have a lasting
impact on the victims.

CAUSES :

*  Orthodox mindset.

*  Sense of superiority.

*  Effect of social media trends.
SOLUTIONS :

* As a society we must take responsibility of
addressing this issue

* We must create a safe space where everyone feels
valued.

* Social media platforms to be mindful of the content
and the messages they convey.

* By fostering a culture of tolerance and acceptance,

[24]




Q. No.

VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

we can create a brighter future for our youth and
society as a whole.

(accept any other relevant idea or point.

Content should be divided in three paragraphs-
introduction, development of idea with examples and
conclusion)

OR
Article
Format:
* Heading
* By line / writer's name

* Content (to be divided into three four paragraphs)

Value points: (any other relevant points)

*  Action is the key to all success.

*  Despite obstacles one should not be hopeless.

*  Success is something that everyone desires .

* Itrequires hard work, determination and belief.

*  Will power is the ability to control one's thoughts,
emotions and behaviour.

*  One should always be ready to take the challenges
head on and not be afraid of failure.

* Physical strength, talent, creativity and vibrant
personality etc. are the other factors for success.

* With hard work , dedication and perseverance
success is within reach for anyone, who is willing to
put in the effort
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Marks

Q. No. VALUE POINTS / KEY POINTS Allotted to Jlot-‘il(l
Point/Key arks
Point
* Hardwork and will power overtake talent and
destiny.
5. Editing (Omission)
Before Missing  After 1
a) used by the
1
b) body to identify
c) objects such as 1
d) bacteria  and viruses 1 4
6. Rearranging words and phrases
a) RabindraNath Tagore is one of the most celebrated 1
poets of India.
b) He became the first Indian to receive the prestigious 1
Nobel Prize.
c) A few of his awards were stolen from the safety 1
vault.
d) There are demands to start a fresh probe to locate the 1 4
medallion.
7. Reported Speech 1
(@) pass her some salt. )
(b) that the pasta was really yummy.
(c) not to skip her juice for it. 1
(d) she needed to take 1 4
8. Gap- Filling
1
a) was
b) shaped 1
. 1 3
c) securing
9. Do as Directed
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Marks

Q. No. VALUE POINTS / KEY POINTS Allotted to J[g:ils
ko

a) should 1

b) was/has been 1

c) Gerund. 1 3

Section : C (Literature)

10. [ A) RTC (poem)

a. The doctor 1

b. Well-hell 1

c. Personification 1

d. recommend . 4

OR

B)

a. To sell the bangles 1

b. aabbcc 1

c. happy daughters and happy wives 1

d. shining bangles 1 4
11. | (A) RTC Prose/ (play)

a. Narrator and Baldev 1

b. Baldev’s elder son 1

c. He had querrelled with the police many times 1

d. implicate 1 4

OR
B)
a. Mr. Hill and Annie 1
he will have to resign from the bank / he has lost his 1

job.
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Marks

Q. No. VALUE POINTS / KEY POINTS Allotted to J[otell(l
Point/Key arks
Point
cook 1
she considered it as her home/devotedly working 1 4
for twenty years
(Any Six)
12. Just as two watches do not show the same time, in 2
the same way judgements of two people may be
different. )
The king saved his life whereas he wanted to kill the
King. The kindness, compassion and generosity of
the king changed his heart.
Walking miles before sunrise / collecting and 2
distributing newspaper / evening business (Any
two)
God’s blessings / by deed or thought/their own 2
strength
The mechanical teacher did not express empathy/ 5
Margie was discouraged by her failure to perform
and the inability of the teacher to assist her/The
mechanical teacher could not pacify or encourage or
motivate Margie. )
She knew that the American was left-handed / The
flower ring was stuck on the left side of the counter.
He was feeling guilty. The teacher had been kind to 2 12
him but his false allegations could lead to the ruin of
the teacher’s career.
13. Struggling writer; lived in a tiny apartment; hard of A A

money
Soft and humble, courteous and polite

couldn’t say NO to a woman’'s invitation for lunch;
was easily sweet-talked into a forced meeting

[28]




Q. No.

VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

14.

Good listener, patient, compliant and adjusting
Good host - spent all his pocket money at Foyots
Frugal- didn’t order expensive food for himself
Though frustrated of, did not misbehave

OR

One lie leads to another. A lie could cost you a lot
of embarrassment and guilt.

One must think a hundred times before making an
allegation. It doesn’t only ruin another person’s life
or reputation but also your night’s sleep and peace.

Swami made an excuse for not going to school on a
Monday morning.

He tried to convince his father by lying about his
teacher’s strict behaviour.

One lie triggered a chain of events that led to
Swami’s father filing a formal complaint against his
teacher.

Gave a lurid account of his violence that did not
have any truth.

Though Swami felt guilty, he had to indulge in
nuisance to prove his allegations right.

He couldn’t deliver the letter due to the absence of
the Headmaster, thus earning spite from both his
father and teacher.

Format of Diary entry

Got to know about the old-time school from Tommy;
Saw a real book so exciting!

It was fun to go to school in those days
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Q. No.

VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

A human teacher instead of a mechanical teacher -
so understanding, forgiving and loving.

Going to school with other children -learning/
playing/eating together - social relationships

Special building called school - a chance to explore
environment and human nature

No fun, no friendship in present school - mechanical
robotic teacher - no empathy, compassion or
motivation

lonely and secluded ; no one to share and care

Wish I could go to old time real schools - am fed up
of this mechanical routine

Any other relevant points
OR
Mr. Hill / George lost his job
Indifferent towards Annie, bank employees

Forced to resign from the bank—bad patch in life;
embarrassing and emotionally shattering

But, instead of standing beside him, Ilost my temper,
decided to leave him

Didn’t even think about Annie

Feeling guilty for deserting him when he needed me
the most. Could have counselled and supported him
as a companion.

Annie’s selfless behaviour opened my eyes. Feeling
remorseful. Will make up for the mistake.
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ENGLISH - COURSE 'A’
SAMPLE PAPER-2
CLASS VIII
2023-24

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1.
2.
3.

P N9

This paper consists of three sections: A, B and C.
Attempt all the questions.

Do not write anything on the question paper except your name, class/section
and roll number.

All the answers must be correctly numbered as in the question paper and
written in the answer sheet provided to you.

Ensure that questions of each section are answered together.
Read each question carefully and follow the instructions.
Strictly adhere to the word limit given in the paper.

Do the paper neatly and in a presentable manner. All the Best!

Section - A (Reading) (20 Marks)

Read the following factual passage carefully and answer the
questions. ®)

Underwater Ecosystems!

1. A kelp forest is one of the most valuable and productive
ecosystems on Earth. They are found all over the world - the
west coasts of North and South America, the southern tip of
Africa and Australia and off the islands near Antarctica.

2. In North America, kelp forests are found on the Pacific Coast,
from Alaska to California. A forest of kelp is home to a variety of
creatures. The kelp provides shelter, not only from predators but
also from storms. Mammals and birds that thrive here include
seals and sea lions, whales, sea otters, gulls, egrets and herons.

3. Sea otters have an especially beneficial bond with kelp. Mother
otters wrap their babies in kelp to keep them from drifting away
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while they go hunting. Adult otters also find the dense kelp
canopies a secure place to snooze. The otters return the favour
by eating sea urchins that dine on kelp.

. Kelp forests can shoot up in no time, growing up to 30 cm a day.
Some species attain heights of over 45 metres! Kelp farming is a
big part of the billion-dollar global seaweed-farming industry.
Kelp renders sea water less acidic. This enables kelp farmers to
raise shellfish, which require low acidity.

. One kelp farm can produce 40 metric tons of kelp and a million
shellfish per hectare per year! Kelp is used in many products
including shampoos and toothpastes as well as a wide range of
foods such as salad dressings, puddings, cakes, dairy products
and ice cream.

i) Kelp forest is valuable for ecosystem because it provides:
1. Shelter 2.Food 3.Farming 4. Habitat
Choose the correct option from below:
a)124 b)234 cl34 d)123
ii) What kind of ecosystem is the kelp?
a) Grassland Ecosystem
b) Desert Ecosystem
¢) Underwater Ecosystem
d) Forest Ecosystem

iii) Which of the following statements CANNOT be inferred
from the passage?

a) Sea otters and kelps are in a symbiotic relationship.
b) One kelp farm can produce 40 metric tons of kelp.
c) Shellfish and otters are dependent on each other.
d) Kelp forests can grow at a great speed.

iv) Kelp is used in making many products. Choose the correct
option.

a) Ice cream and cosmetics
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b) Leather and dairy products
c) Salad dressings and puddings
d) Wooden furniture and polish
v) How do sea otters contribute to the kelp ecosystem?
a) Wrap their babies in kelp to avoid drifting
b) Go hunting in the kelp
c) Snooze in the dense canopies
d) Eat sea urchins that dine on the kelp
vi) Kelp forests are a bane for sea creatures. True/False
vii) Less acidic water in the kelp helps in breeding of

viii) Rewrite the sentence given below by replacing the underlined
word with a synonym from para 4.

His presence made the occasion more gracious than ever.

Read the following case study based passage carefully and answer
the questions

Heatwaves to make Regions Uninhabitable within Decades!

1. Heatwaves will become so extreme in certain regions of the world
within decades that human life there will be unsustainable. A
new United Nations Red Cross report into climate change alludes
to certain parts of the world becoming so hot within a matter of
decades, that human beings will be unable to survive there.

2. A heatwave is a period of excessively hot weather which may be
accompanied by high humidity. A severe heat wave is declared
when the maximum temperature crosses 47 degree Celsius.

3. The joint report predicts that extreme heat waves could become
so fierce that they could exceed human physiological and social
limits in parts of Latin America, Central Africa and South-West
Asia. Theworld’slowestincome countries - thoseleastresponsible
for climate change - are already experiencing a disproportionate
increase in the extreme heat, as was witnessed this year with the
heat wave catastrophes in Somalia and Pakistan.

[33]
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4. As per the reports published by the UN's Office, some steps have

been suggested to combat the impact of extreme heat waves,
including providing early information to help people and
authorities react in time, and finding new ways of financing local
level action. They also included humanitarian organisations
testing more “thermally-appropriate” emergency shelters and
“cooling centres”, while getting communities to alter their
development planning to take account of likely extreme heat
impacts.

. At an individual level, a few measures can be of help. Installing
cool and green roofs, bringing back lots of trees in and around
the neighborhood, painting roofs white, increasing shade around
homes, well-ventilated homes and most importantly, using
energy-efficient appliances and gadgets.

. If greenhouse gas emissions, which cause climate change, are
not aggressively reduced now, the world will face unimaginable
levels of extreme heat. The time is now. Every individual step
counts!

Global Greenhouse Gas Emissions by Economic Sector

Industry

Agriculture, forestry and land use 21%

24%

Other energy sources

Buildings 10%

6%

Transportation
14%

Electricity and heat production
25%

i)  Extreme heat waves would result in

ii) Heatwaves will only affect the world's lowest income
countries. True/False

iif) Find a synonym of the phrase ‘severe adversity” from the
passage. (Paragraphs 1 to 3)

[34]
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iv)

Vi)

vii)

State any one measure to combat heat waves in day to day life.

As per the pie chart, which economic sectors contribute the
most and the least to the global greenhouse gas emissions?

Which countries are the recent victims of heat waves,
according to the passage?

The following statements are marked Assertion (A) and
Reason (R). Read the statements and choose the correct
option.

(A) A heat wave is a period of excessively hot weather,
which may be accompanied by high humidity.

(R) A severe heat wave is declared when the minimum|
temperature crosses 47 degrees Celsius

a) Both (A) and (R) are true, but (R) is not the correct
explanation of (A).

b) Both (A) and (R) are true, and (R) is the correct
explanation of (A).

c) (A)istrue, but (R) is false.
d) (A)is false, but (R) is true.

viii) According to the passage, “thermally appropriate” could

ix)

mean :

a) centres with temperature regulated to suit human body
b) centres provided with thermal wear for humans

c) centres running on thermal power

d) hot and cold centres

If the heat wave is not controlled, which of the following
would happen?

1. Decrease in cooling centres
2. Climate change

3. Less number of emergency shelters
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4. Abnormal increase in heat
5. Adverse impact on plant and animal life

Choose the correct option from below:

a) 134 b) 245
c) 135 d 234
x)  The writer is urging to help contribute to

reduction in levels of heat.
a) the powerful countries
b) countries with low incomes
c) United Nations Red Cross
d) all the people of the world
xi)  Choose the word which DOES NOT mean the same as ‘mild’.
a) unsustainable b) intensive
c) allude d) fierce

xii) The central idea of a few paragraphs has been mentioned
below. Match the paragraph with the central idea

Paragraph Central Idea
Paragraph-1 |i) |Combating heat waves at community level
Paragraph-4 |ii) |Individual efforts to overcome heat waves

Paragraph-2 |iii) | Warning signs!
Paragraph-5 |[iv) | Heat waves defined

bl Bl N B

a) 1-iii, 2-i, 3-iv, 4-ii
b) 1-i, 2-ii, 3-iv, 4-iii
¢) 1-iii, 2-iv, 3-i, 4-ii
d) 1-iv, 2-i, 3-ii, 4-iii
Section - B (Writing and Grammar) (30 Marks)

3.  Read the following telephonic conversation between Venny and
Ms. Nair.

Ms. Nair: Hello!

@)
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Venny: Hello! Could I talk to Vaibhav, please!

Ms. Nair: Vaibhav has gone for his casio class. He will be back by
6:00 pm. Any message for him? I am his mother, and will
give the message.

Venny: Oh! That will be great, ma’am. I am Venny, Vaibhav’s
classmate. Tell him that I have been able to arrange a
complimentary pass for him for the IPL match on Sunday at
11:00 am. He should keep himself free.

Ms. Nair: Thatis very nice of you. He was very keen to see the match.

Venny: We will finalise the programme when we meet at the school
tomorrow.

Ms. Nair: Alright! I will convey your message to him.
Venny: Thank you, ma’am. Bye!
Ms. Nair: Bye.

Ms. Nair has to go to the market for shopping. So, she leaves a message
for her son Vaibhav. Write the message on her behalf. (Word Limit: 50)

OR

During the summer vacation, you are going to the ‘Queen of Hills -
Shimla” with your family. You are very excited. You wish to click
pictures and capture the beauty of nature as a life-long memory.
However, you do not possess a good quality camera. Draft an email to
be sent to your friend requesting him/her to lend you his/her camera
for your trip! (Word Limit: 50)

Compassion was long considered a virtue, but it seems like an
anachronism today. The present generation upholds only the value
of self-gratification. A considerably large percentage of youth lacks
core virtues like sincerity, compassion, courtesy and forgiveness.
There is degeneration of values among the youth. As a concerned
mother, write a letter to your son/daughter studying in Australia
sharing how the milk of human kindness should be applied to
every action and decision of life. Think of ideas from the unit
‘Compassionate Souls’ of ‘My English Reader’. (Word Limit: 100-120)

OR

[37]
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The need and importance of sports in the twenty-first century cannot
be overlooked. Sports encourage innumerable virtues that we need
for a good life, such as sportsmanship, team spirit and tolerance.
Besides, sports also open the door for the formation of amicable
relationships among players, communities, racial groups and even
nations. As the Head Boy/Girl of your school, write a speech to be
delivered in your school’s morning assembly on the topic, ‘Sports:
A Life Skill'. Think of ideas from the unit ‘Sports” of ‘My English
Reader’. (Word Limit: 100-120)

The following passage has not been edited. There is an error in each
line. Write the incorrect word and the correction in your answer
sheet. The first one has been done for you as an example.

Incorrect Correct
Word Word
Vulture population in India have have has

being declining due to several reasons, — (a) oo e,

and mainly due to the adverse (5]
impact off certain veterinary drugs () [P
used for treatment of cattles. (d) oo

Rearrange the following words/phrases into meaningful sentences.
a) Coursers/ are/there/species/ten/world/of/the/in

b) to/birds/Glareolidae/these/belong/family/the/of

c) wading/regions/birds/these/most/species/of/live in/hot

d) on open/depression/ground/in a/shallow/their/lay/eggs/they

Read the procedure for planting a sapling and complete the
instructions using passive voice:

Let’s Plant a Sapling !!!

Take a pot.

Add some manure and garden soil to it.
Put the sapling into the pot.

Add a little more manure.

Sprinkle adequate water.

[38]
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10.

To plant a sapling, a pot a) . Then, some manure and garden
soil b) to the pot. After that, the sapling c) into
the pot. Next, a little more manure is added. Finally, adequate water
d)

Choose the correct word from the options given below to complete
the following passage. (1x3=3)

The Centre a) (had increased/is increasing/has increased)
Minimum Support Price (MSP) for six rabi crops. But do you b)

(knew/knows/know) what MSP is? It is the price at which
the government procures certain crops from farmers irrespective of

steep fall in prices. It c) (was/is/will be) a part of Centre’s
Agriculture Price Policy to ensure support prices to farmers.

Do as directed. (1x3=3)
a) Only education render confidence and voice to a girl child.

(Fill in the suitable Modal)

b) One of her relatives yoga sessions for the elderly people
every Sunday. (Fill a suitable verb according to the subject)

c) A galloping horse is a delightful sight. (Identify whether the
underlined word is a Gerund/Participle/Infinitive)

Section - C (Literature)
Attempt any one extract out of the two given below. (1x4=4)
You come to me like heaven’s caring arms,
I remember the war days when life was challenge and toil -
Miles to walk, hours before sunrise,
Walking to take lessons from the saintly teacher near the temple.

a) “"War Days’ are symbolic of

b) Who gave solace to the poet in his difficult time?
c) The first line of the stanza has a simile. Why is it a simile?
d) Inline-2, what does the word “toil” mean?
OR
Teach us the Strength that cannot seek,
[39]



11.

12.

By deed or thought to hurt the weak;
That, under Thee, we may possess
Man'’s strength to comfort man’s distress.
a) In the given stanza, what is the prayer of the children?
b) From the stanza, find and write an archaic word and its meaning.
c) Explain: ‘By deed or thought to hurt the weak’.
d) The rhyme scheme of the stanza is aabb. Why?

Attempt ANY ONE extract out of the two given below :

He was as white as a sheet. His voice was shaking as he said. "l am
sorry, sir.  hope that you will understand and excuse me. I beg your
pardon, indeed I do."

a) Who does 'T' refer to?
b) Write the reason for his shaking voice.

c) He was as white as a sheet shows that he was

d) Who is the speaker seeking pardon from?
OR

Speaker : 1 No, you can’t do that. You're my wife and you must meet
these people. You can’t spend your time in the kitchen.

Speaker : 2 What is the answer then?
a) Who are Speaker-1 and Speaker-2?
b) Speaker-1 does not expect speaker-2 to

¢) To whom does ‘these people’ refer to?
d) What solution does speaker-1 provide to the problem?

Attempt ANY SIX short answer type questions out of the seven
given below. [Word Limit: 30-40]

a) “Tommy walked away nonchalantly, whistling, with the dusty
book tucked beneath his arm.” Describe his temperament. (The
Fun They Had)

b) Though the narrator had to undergo inconvenience but after

[40]

(1x4=4)

(2x6=12)



13.

14.

twenty years he finally sought revenge from the lady. Discuss. 1x4 =4

(The Luncheon)

c) “Well, I'll grow old disgracefully.” With this line, which
stereotype is the granny breaking? (Granny’s Tree Climbing)

d) For what reasons did the people approach the narrator after they
got to know that he had a personal meeting with the district
officer? (The Undeserved Reward)

e) In the poem ‘Bangle Sellers’, how do the bangles symbolise
happiness and warmth?

f) Explain Alexander Pope’s views on charity as advocated through
his couplets. (Couplets)

g) How did the king and the hermit save the bearded man’s life?
(Three Questions)

“Your father is quite right; a very sensible man. We want more
parents like him.” In the light of this statement, analyse the character
of Swami's father in ‘Father’s Help’. (Word Limit: 70-80)

OR

“Follow my example,” she said as we shook hands, “and never
eat more than one thing for luncheon.” Throw light on the use of
humour in the story “The Luncheon’. (Word Limit: 70-80)

“The answers we seek outside are within.” As the king in the story
‘Three Questions’, write a letter to your fellow king friend sharing
how your own life experiences gave you the answers of your three
questions and made you a better human being! (Word Limit: 100)

OR

“Home is not brick and mortar, but the people who live in it.” As
Annie in ‘A Bad Dream’, write a diary sharing how you got a chance
to show your love and loyalty to the Hill family by standing beside
Mr. Hill in his difficult time. (Word Limit: 100)

[41]
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ENGLISH - COURSE 'A'
SAMPLE PAPER-2
CLASS VIII (2023-24)

Maximum Marks : 80

MARKING SCHEME / HINTS TO SOLUTIONS

(Note : Any other relevant answer, not given herein but given by the candidates,
be suitably awarded. )

iv)  Installing cool and green roofs/bringing
back lots of trees in and around the
neighbourhood/painting roofs white/

Marks
13(')_ VALUE POINTS / KEY POINTS %%Egﬁgg I\T[g:ils
Point
Section : A (Reading)
1. Reading Comprehension Passage
i) a)l,24 1 8
ii)  c) underwater ecosystem 1
iii)  c) Shellfish and otters are dependent on each 1
other.
iv)  ¢) salad dressings and puddings 1
v)  d) eat sea urchins that dine on the kelp 1
vi)  False 1
vii) shellfish 1
viii) His presence rendered the occasion more 1
gracious than ever.
2. Reading Comprehension Passage
i) uninhabitable regions/no life on earth 1 12
iif)  False 1
iii)  catastrophe 1
1
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Marks

(Message in a box)

OR

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgrel‘( S
Point/Key
Point
increasing shade around homes/well
ventilated homes/using energy efficient
appliances and gadgets. (Any 1)
v)  Most greenhouse emissions : Electricity and 1
heat production
Least greenhouse emissions: Buildings
vi)  Somalia and Pakistan 1
vii) ¢) (A) is true, but (R) is false. 1
viii) a) centres with temperature regulated to suit 1
human body
ix) b)24,5 1
x)  d) all the people of the world 1
xi)  d) fierce 1
xii)  a) 1-iii, 2-i, 3-iv, 4-ii 1
3. MESSAGE
Format 1
Format includes
Content 3
Date
Time
Salutation
Content 4
Signature
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Marks

To have kind feelings towards others - has become
a bygone trait - people running a rat-race - put
others aside -cut-throat competition - no humanity
or compassion-ego and selfishness prevails

Kindness begets kindness -From ‘I" to ‘We’ - we
should harm none -benevolent in thought, speech
and action - as simple as speaking with kindness
to others - using sorry and thank you - accepting
people for who they are - forgiving - empathetic to
all creatures - changing our mindset - thinking of

13('). VALUE POINTS / KEY POINTS ?;iﬁtffﬁ to J[g:ils
PoIi)Icl)tljli(tey
EMAIL
Date:
From:
To:
Subject:
Salutation
Content
Subscription
4. Informal Letter
Format: Format 3
° Sender’s Address Fluency 2
° Date Accuracy 2
Format 1
° Salutation 8
° Body of the letter
° Subscription
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No.

VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

others while making decisions - being mindful in
everyday life - small steps create big changes - real
action comes from the desire to help

OR
Speech
Format:

° Formal introduction, greeting and statement
of the topic

° Content (2-3 paragraphs)
° Conclusion
° Thank You!

Games and sports - holistic development - everyone
went through mental and physical agony due to
covid-19 - coming back to normal life, a challenge

Besides physical fitness and active lifestyle -boosts
confidence - healthy and fit - healthy mind lives in
a healthy body- engaging in games and sports is
important to inculcate life-long habits at grass-root
levels -should be a part of curriculum in schools
and colleges - contributes to overall growth of an
individual

Development of personality - channelizing energy
- teamwork - dedication - discipline - punctuality -
interrelated with curriculum

Government must promote sports - should be made
compulsory - raising awareness in the society via
newspaper articles, ads, radio - can even become
means of livelihood and career options for the
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Marks

a)  hasincreased

13('). VALUE POINTS / KEY POINTS %Egﬁ gg Total
Point
future generation if started early
(Accept any other relevant point/idea)
5. Editing (Errors)
Incorrect Correct 1
a)  being been
b) and but !
c)  off of 1
d) cattles cattle 1 4
6. Rearranging words/phrases
a)  There are ten species of Coursers in the world. 1
b)  These birds belong to the family of
Glareolidae. 1
c¢)  Most species of these wading birds live in 1
hot regions.
d)  They lay their eggs in a shallow depression 1 4
on open ground. / They lay their eggs on
open ground in a shallow depression.
7. Passive voice
a)  istaken '
b)  areadded !
C) is put 1
d) issprinkled 1 4
8. Gap filling
1
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B ettec t0 J[gfll(ls
Point/Key
Point
b)  know 1
c) is 1 3
9. Do as directed
1
a) can
b) organizes / conducts / holds / takes 1
C) participle 1 3
10. RTC (Poem)
a)  Poet’s struggles and challenges during 1
childhood
b)  Poet’s mother 1
c)  because it compares the mother to heaven's 1
caring arms.
1 4
d)  extreme hard work
OR
a)  To give them strength to never hurt the 1
weak/help to comfort others
b)  Thee - you 1
C) Not to hurt anyone, especially the weak, 1
neither in action nor in mind/speech
d) aabb — because the last words of line 1&2 1 4
rhyme (seek-weak) and last words of line
3&4 also rhyme (process-distress
11. RTC (Prose/Play)
1

a)

Mr. Regnier
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B ettec t0 ﬁg:ils
Point/Key
Point

b)  He did not find his expensive flower ring 1
while frisking/checking the American.

C) He was clueless/blank/embarrassed / 1
disappointed (due to the missing flower ring)

d)  From the American (his customer) 1 4

OR

a)  Speaker:1 Mr. Hill 1
Speaker:2 Mrs. Hill

b)  Speaker:1 does not expect speaker:2 to spend 1
time in the kitchen and neglect the guests.

C) Mr. Hill’s clients/ guests/ friends 1

d)  To get/hire/keep a new cook. ! §

(Any Six)
12. a)  Walked calmly - making Margie feel inferior 2 12

for not having a real book of her own to read
- he was behaving in a self-importantly/
supercilious / haughty manner.

b)  After twenty years - narrator met the lady 2
at a theatre - she had become obese - heavy
weight - weighed almost twenty-one stone -
narrator’s revenge taken

c)  Broke the stereotypes that with age, one must 2
become sober and act one’s age; must be
graceful and sacrifice her desires and hobbies;
gender stereotypes also broken

d)  Getting favours - telling about high 2

headedness of police officials - grudges
against officials and police - favouritism for
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgrell( S
Point/Key
Point
getting their work done.
e)  Bangles are associated with different stages 2
of women'’s life - maiden to bride to mother
to middle age - every woman wears bangles
as a mark of happiness and warmth-
celebrating that phase of a woman's life.
f) As per Pope, the whole mankind’s concern 2
should be charity: to help others, spread
kindness, love, brotherhood - do good -
receive good
g)  Bandaged his wounds with a handkerchief 2
and towel - gave him water - made him
rest in hermit’s hut till he felt better - took
prompt action and saved his life.
13. Swami’s father - man of principles - stubborn - 4 4

concerned parent - wants his son to be disciplined
- stern, but soft also - writes a letter against the
teacher when he gets to know about his violence -
does not favour his son for wrong things - poignant
character of the story - man of his words and actions
- did not support his son when he did not get an
acknowledgement.

OR

The whole story is drowned in tub of humour
- the woman says she does not eat anything for
lunch - orders so much from caviare to asparagus
to salmon to coffee - did not practise what she
preached - funny how she kept on saying she did
not eat anything for lunch or ate light, but hogged
on so many expensive dishes.

Informal Letter
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Marks

S. Allotted to| Total
No. VALUE POINTS /KEY POINTS each value Mgril( .
Point/Key
Point
14. My own life experience gave me all the answers 6 6

- did not know the answers lay within me - was
seeking answers of my three questions from
people - even announced a reward - going to

the hermit opened my eyes - saving the bearded
man’s life made me understand - the most
important time is the present time - the most
important person is the one we are dealing with
in the present moment - the most important thing
is to do that person good - the wise hermit helped
me understand life - humbling experience

OR
Diary

Today proved to be a very special day - could tell
Mr. Hill how much I consider him and Mrs. Hill
my family - he got fired from his job - was so upset
and heart-broken - I tried to console him - he told
me he would not be able to pay my salary - I told
him how much I loved them - always considered
it my home - money didn't matter -I have savings
will also be loyal - will stand beside him in his
tough time - will never desert them - could tell
him his household was my own - got a chance to
show my love - felt good.
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SCIENCE AND TECHNOLOGY
DESIGN

The weightage to marks, over different parameters of the question paper would be as follows :
A. Weightage to content / subject units:

PHYSICS
S. No. NAME OF UNIT Total Marks
1 Force and Pressure (Chapter - 4) 5
2 Friction (Chapter - 5) 5
3 Refraction & Dispersion of Light (Chapter - 10) 7
4 The Human Eye (Chapter - 11) 4
5 | Sound (Chapter - 12) 4
6 Electric Current & its Chemical Effects (Chapter - 16) 5
Total | 30 Marks
CHEMISTRY
S. No. NAME OF UNIT Total Marks

Metals and Non-metals (Chapter - 3)

1 8
2 Sources of Energy (Chapter - 6) 5
3 Combustion (Chapter - 7) 7
4 Synthetic Fibres and Plastics (Chapter - 13) 5

Total 25 Marks

BIOLOGY
S. No. NAME OF UNIT Total Marks
The cell - Its structure and functions (Chapter - 1)

Reproduction in Animals (Chapter - 14)

5
Microorganisms - Friends or Foes (Chapter - 2) 6
7
7

B lw|no |-

Reaching the age of Adolescence (Chapter - 15)

Total 25 Marks

Total Marks for the Question paper : 80 Marks
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SCIENCE AND TECHNOLOGY

(Model Test Paper - I)

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1)

The question paper comprises five sections- A,B,C,E and E. There are 38 questions in
the question paper. All questions are compulsory
Internal choice have been provided in some questions A student has to attempt
only one of the alternatives in such questions.
Section A consists of question number 1-19 these question are MCQ’s and asser-
tion-Reason question. They carry one mark each.
Section B consists of question number 20 to 25. These are short answer questions
which carry two marks each.
Section C consists of question number 26 to 31. These are short answer questions
which carry three marks each.
Section D consists of question number 32 to 34. These are long answer questions
which carry five marks each.
Section E consists of question number 35 to 38. These are case based answer ques-
tions which carry four marks each.

= 9T

1.

2)

3)

4)

5)

6)

7)

e 0 W Ui EE wE I SR S wifhel €1 Y9 U § e 38 WA B1 gefi g

arferd €

%o e ° ofdaRe fashey R U 7| U@ weA W UH B Hl e Tk faehed @
& W T 2

TE & Y9 GEA 1 ¥ 19 dF g1 T T Tgfaehedd 9 iR SifTeRer-sRo ge
21 T 9 e Y Tk 3k @l @

TE @ W YT G&A 20 ¥ 25 T €1 A o SUd U ®, T 9 ek U % 2

#fn 2

TE T H Y e 26 W 31 a9 21 4 off e U ¥, T 9 Yew U &

q e 2

T o H yeT @ 32 9 34 7% 21 A sy 7, T ¥ vy & g
#fh 2

©E T W U GE&A 35 U 38 a% B1 Ay AURd Y €, Tk I & 4 3Hh 2

[122]



SECTION -A (@g - 31)

The pores in a bread is due to gas bubbles of .......................

a) oxygen b) nitrogen dioxide
C) nitrogen d) carbon dioxide.

aT ¥ fog frg @ & qoqga & &R 8 ¢

a)  offede b)  EN SRS
c)  EISH d)  FEH SEHAES
A common preservative used in jam and pickles is .......................
a) sodium benzoate b) nitric acid

C) sodium chloride d) copper sulphate
S R STER ¥ SWEE B ATl U WER TREF oo 2l
a)  Hiferw dsige b) i ufEe

c)  wifead FnrEe d) W Fehe

A ball is rolled, with the same speed on the following horizontal
surfaces, one by one:

A) A marble floor B) A floor made of bricks
O A floor covered with sand D) A wooden floor

In which case will the ball experience the least friction?

a)A b)B c)C d)D

T g I TR-aR 9 Freffed Sfas gael ) a9e fa 9§ g
Eﬂ?ﬂ%:

A) ETHER & H B) 3 ¥ & Wl
C) @ 9 T TH ®E D) &Sl & wE
frg el § T %9 9 HH U H FAINT HEN?
a)A b)B )C d)D
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Which of the following is a method of increasing friction?

a) sprinkling talcum powder on carrom board
b) ball bearings in shafts of motors

C) treads and grooves on tyres of vehicles

d) greasing of machines.

frefafead & 9 SF-91 w90 e & il 82
a) &M O W Sohy TR g

b) AU ® WER H did Sk

¢) A & el W wiefeat ok @i
d) =il @t WEn

Incomplete combustion of carbon fuels results in the formation of :

a) Carbon monoxide b) Carbon dioxide

C) Nitrogen dioxide d) Sulphur dioxide.
FE ST & ST T8T & UNUTHEEY ol B

a)  hEA AHISEES b) e SEAFES

) TIEISH SESRIES d) T SEERES

Which of the following will form real and inverted image if the
object is kept in front of it.?

a) Double concave lens b) Plano concave

C) Diverging meniscus d) Double convex lens

T @ T & WO o5 S WH W gidias ardtas 3 Sedl 9w
g2

a) 99 IEdd W9 b) TUSA 3EdA

Q) et faf sy d) T9d 3Od @9
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A e is a piece of transparent material bounded by two 1)
plane surfaces inclined at an angle.

a) Prism b) Glass slab

C) Plane mirror d) Concave lens.

................... T U R Foh! g8 & GUql Tdel 9 ot IR WHEnt @5
T TS 2

a) fiem b) TEE ®iE

c)  HHAA U d)  3feda "

An example of a tactual aid is ........cccuneeee. (1)
a) lens b) braille

C) audio books d) telescopic aid.

a) g b) EISl
c)  Afedgse d)  EH "
Nylon is a wonder polymer as.................... 1)

i) it is highly elastic and tensile

ii) it has silk like appearance

iii)  itis highly durable

iv)  itis a natural fibre

which of the above statement(s) is/are correct?

a) i) and ii) b) i) and iii)
C) i), ii) and iii) d) iv only
i)  I% TEfus @eRR SR O R

i) ¥% 3EA § Wm SR
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10.

11.

12.

iii) I sTafus o B
iv) I€ TH WHfae BER T

ST § 9 SF /8 wUT 1 e/e?

a) (i) R (i) b) (1) ¥R (i)
o) (i), (ii) ¥R (iii) d)  ®a (iv)
Reproduction by binary fission takes place in :

a)  Hydra b)  Yeast

¢)  Plasmodium d)  Bacteria
fefoee g0 e v Shar o =i @

a)  ®BEY b)  @HR

¢)  mHfeTH d)  femg

The organism in which fertilization and development both take
place in the female body is ---------------

a) Frog b) Hen
C) Fish d) Elephant

a8 Sig fog & & TR § = oik foem 91 e §, s ©...

a) Hew b)

c)  HIA d)  =ef
Select a viviparous animal from the following;:
a) Snake b) Pigeon
C) Fish d) cat
frfafed § 9§ SRS Siq &1 991 St

a) b) AW
c) el d) faeedt
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13.

14.

15.

The right meal for adolescents consists of ------------ 1)
a) Chips, noodles and coke

b) Chapati, dal and vegetables.

C) Rice, noodles and burger

d)  Vegetable cutlets, chips and lemondrink.
ool & fau ot wivm o e 2.

a) o, T=d iR =i

b) U, T SR Hestt

c)  =Ed, Jed SR aUR

d) sl & wheore, facg ok g ar

Fossil fuels are formed by the action of ----------------- (1)
a) heat on dead plants and animals
b) pressure on remains of dead plants and animals
C) heat and pressure on the remains of dead plants and
animals.
d) heat on animals only.
Sframen e fRe foran gm0 o €

a)  gd WY IR SHe’l W T 9

b)  Hd WY SR WHeX % SfeRit W qerE

c)  Ha 1Y IR SMedl % rEsie W H AR e
d)  Had S W TH g

The largest coal mines in our country are at ----------- 1)
a) Raniganj and West Bengal

b) Godavari Krishna basin
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16.

)
d)

Mumbai High
Madhya Pradesh

TR W § g 1 GIH q€ ©EH R......

a)
b)
c)
d)

TS IR ufy=m s
et 3R Fo e
T T
e I

For Question number 16-19, two statements are given. one
labeled Assertion (A) and the other labeled reason (R) select the
correct answer to these question from the codes (a), (b), (c) and

(d)

Both (A) and (R) are true and R is the correct explanation
of A.

Both A and R are true and R is not the correct explanation
of A.

(A) is true but (R) is false
(A) is false but (R) is true.

W9 WE&AT 16-19 & TAT St o fau 7w ¥~ e @t arfiTeRes (A)
3T @ W HRUT (R ) el 74T &1 i fau e &g (a), (b),
(c )3T (d) ¥ 37 Ugail & TE IO 1 =TT a

a)

b)

c)
d)

AR 3N HROT S G B 3N HROT (HReA i Tl
AT Ll B

AR 3R HROT Sl HEl § olfeh R0 AR 1 Tl

e Tl Ll 2

SR 9 © Afhd &R0 T 2

SIfTeheM T © A SRU § 7

Assertion (A) : Partial combustion of wax vapours takes place in
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17.

18.

19.

20.

the middle zone of the candle flame.

Reason (R) : Middle zone of a flame is its hottest part

sfgeReM (A) : 99 & a4 &1 TR T8 Amedt ®i off & Ted &
¥ g 7
FHROT (R) : SoTel &1 HEA AN $9 999 79 96 8l 2

Assertion (A) : Voice of a child is low pitched than that of an
adult.

Reason (R) : One’s Larynx becomes bigger and the vocal cords
lengthen and thicken as one goes though puberty.

TR (A) : THh I=d hl STEN & AR Th AEh DI godl H HH
Bl 2

HWO (R) : TET 991 8 9l © SR ger eife ot 3ik a1 @
St €, S-S g oo ¥ ToRal €

Assertion (A) : Solid sodium chloride conducts electicity.

Reason (R) : Sodium chloride solution is a strong electrolyte.
AfeRed (A) : 3 Hifsaw Tz fastell 1 Haied & Bl

FWO (R) : Wifeaq FARES Hid T Oelgd SoaeiaEe 2l

Assertion (A) : The angle of incidence /1 is equal to the angle of
emergence /€ for a ray of light passing through the glass slab.

Reason (R) : The refracting surfaces are parallel to each other.

AfTRe (A) : MU HI0T /i Hid & Tid ¥ Bl ToRA dell bl
F foror & Frfd 2R & &0 /e & TR B 7

FWOT (R) : 2MUadsh Hag Th S & AR et 2|

Section- B (© @)

Mention the name and size of the smallest cell and the largest cell,
in living world.

OR
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21.

22.

23.

24.

25.

Are the cells in an elephant larger than the cells in a rat? Give
reason for your answer.

gsfta ST ot T B HIVThT AR T S HIYTRT BT AH SR

3R fafem)
Fera
7 Tl AT FIRTRIT T8 HT FITR T TS 3?2 ST ITW HT FROT S|

Some microorganisms clean up the environment. Name them and
explain how they clean up the environment?

%S GeHsid TR i W Fd © S AW fafen $R auemey %
3 qHfeo ol Y Wow FA o7

House flies may sit on the garbage and animal excreta and the
Pathogens stick to houseflies body. Explain how do houseflies
spread diseases?

R h! AR FE W dS TRl © SR e’ ® "ol T WSHE 5 HT
Tired ¥ foues S 21 9Eed o SR &) Ofeesl SHiRar Sy o 22

Why the flame of a burning candle goes off when we blow over
it? Give two reasons for it.

STt g HiFeR W ek HRA © SHe! ol @ g9 S 22 g6 q
<h 0T LU |
Which of the following electrolytes will make the bulb of a

continuity tester glow brightly? Sodium chloride solution, distilled
water, sea water, citric acid. Give reason for your answer.

frefafed § 9 H 9 soeeiense T ROt e & dod i SHehien
T M7 Wifeaw FANES Hied, T Sd, TRl 9, WiEfedh Tas| A
S T FHROT TR

What are the energy changes taking place in the following cells?

a) Voltaic cell b) Electrolytic cell
frafafed oal § @ S ufed & ® 872
a)  diceras 9 b)  SoRIcTEfeR 9
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26.

27.

28.

Section- C (@s-T)
Mention the functions of the following cell organelles:
a) Mitochondria
b) Ribosomes
C) Golgi Complex
Attt IR & Tl 1 Seeie ity

a) TS

b)  TEEEm

) AT ShIFIeTed

a) Mention a non-metal which exists in native as well as in its

compound state

b) Some metals are found in the form of their compounds
and some other are found in their native state why?

a) U UG 3Tg K Sooi® HIfT S gl qe AfTw <Al staensi
H o St 2

b)  wD WY A AR b TG W UE Wl € R WD I oA
el Sreree | U St 21 i

Tashi placed an object on surface P, Q and R one by one and pulled
it as shown in the figure given below. He recorded the amount of
force needed to pull the object over a fixed distance for each type
of surface.

Surface |Magnitude
of force (N)

- Spring
balance — P 30
Q 60
R 15

a) Which surface out of P, Q and R was the

(i) Smoothest
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(i)  roughest
Give reason
b) What is limiting friction?

AR 3 TH-TH ek G P, Q 3R R W Th-Teh hich Toh oeq L@l

IR W wi fermn 9 fF A= G erfa o fewmn ¥ S wOE
YR i Hag & fau te ffved g8 @ a5 &l ©ied & foau smewes
I i 7 ol Reie T

Hdg e T IRHTT
N
FHMIER M)
> [P 30
G| 0 60
R 15

a) P,Q3RRAYIA G Tdg g0 Farft R god gesdt 772
THH HRU U

b)  if@ = g 2

Allternative question for visually impaired students in lieu of
Q.No. 28

a) On what factors does the force of friction depend on?
b) What is limiting friction?
T e 28 % T W gfearfyd sl & fau defeqs g
a) w0 9 R wRa W Fel @2
b)  wifa s e @2
OR

a) A crumbled sheet of paper and a flat sheet of paper are dropped
at the same time from the same height. Which of the two will
fall with a greater speed? Give reasons for your answer.

b) Mention a similarity between the shape of an aeroplane
and the shape of a bird.
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29.

30.

31.

a)  HE H TH I g e 3R HI H TH GUR ve &
99 TH 7 AR 9 R ®, <9 A 9 e ety fg @
iRt 82 3197 ST T RO FaATd?

b)  TAE SES & STHR IR Ul & SMHER § HE TH THEA FaEy

“LPG and CNG are considred as cleaner fuels” Justify this
statement by giving three reasons.

TS SR HTAST B e $u WA S ©, i HR0T A 39 e
F gie H

Give reason for the following.

a) We can boil water in a paper cup on a spirit lamp.

b) White phosphorus catches fire spontaneously.

C) A matchstick can be lighted by striking its tip on a rough
surface.

OR

“Air is necessary for burning of a candle”. Describe an
experiment to prove it.

frefafed =1 o S

a) B9 fofie o W IR %9 H U e 9 2

b) %3 FEHRE SHEE A UHE odl T

c) Tt &t el & fR a6l fFdl TRl gde W P 9 98 S @)

SRl

e ! STH & fog arg e € 3@ fag w6 & fau s yam
1 U i

Ram went for the Eye checkup where his eye specialist suggested
him to wear corrective glasses having convex lens.

a) Name the defect he is suffering from

b) State two possible causes of the defect.
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32.

T eitEl ® S % faw T w9 9 fawee 4 3 39a o aren
GURTCH SeH TeH kT e f&

a) ¥ Y H T JaR EY 9% Wwifeq 2l
b)  IW F T HfId FROT TR
Section- D (@s-9)

Give reason for the following:

a) Sodium and Potassium are stored in kerosene.

b) Copper cannot displace zinc from zinc sulphate solution.
C) Metals are used for making bells.

d) Phosphorous is kept under water.

e) Graphite is used for making electrode of batteries.
frefafed & fer sror ife:

a)  Gifezm iR Wiefem it faedt % 9 ® @ 9 2

b) HR, TS Towe facem 9 S =t fozenfaa 7€ ¢ g=an
Q) Hfeat o & fau urge w1 syEn feer S 2
d)  HEERE H U ® I T Sl B

FHTEE H1 ITAN 9 & soidere 99H & fae e s g
OR

)
~

An element reacts with dilute hydrochloric acid to form a gas Y.
when a lighted matchstick is brought near the gas it burns with a
'‘pop' sound.

a) State whether the element is a metal or a non metal. Name
one such element and the gas Y.

b) Give the chemical equation for the reaction of one such
element with dil. Hydrochloric acid.

C) The same element is then made to react with oxygen to
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33.

form an oxide. Will the oxide be acidic or basic in nature.
Give chemical reactions to support your answer.

Teh o T eIES A Il & WY Al e Y 9 S @1 S
T Sord! g2 WirEE w1 et 1 T % e A S @ a9
e % WY St 2

a)

b)

9aIg foF dc o1 A1 1) W U acd 3R N Y T AW
ERIRY

T € T q H O eESel o % WY stfatma w5
oS g &)

TRy SHY O Rl SRS & 91 Yfafshan ik STeaEs R
ST B 1 SATIEE Uhid | STRdE A1 & BNl ST S
&% guYA § wEEfae srfafean <o)

Two school bags with the same length of straps but different
widths are available at a shop. Width of the strap of bag A is
4 cm. Width of the strap of bag B is 8cm. Which bag would
you prefer? why?

Name one “action at a distance’ force. Give an example also.
State the effect of force in the following cases.:
i) a potter making pots out of clay.

ii) magnet brought near an iron nail.

T Thel ST HT WU I A FAM € AT Th gHH W

AT IS ST €1 o7 A & W4 %I =Sk 4 4. €,
a1 B % WU & Ak 8 Wl T AW iAW OO THS HN?
Fi?

fordlt T g0 W TR’ 9 T AW 9dEU) T 3Ee Wi i)
frfafed feerdt § 9 & g9@ &t Fad

i) FHER i @ 969 s 2l

ii) I & AR P A H IH A= T
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34.

OR

Write the observations about the streams of water
emerging out from the following holes of a tin can filled
with coloured water.

i) Four equidistant holes along a vertical line in a tin
can

ii) two holes at the same level in a tin can on both its
sides.

State the properties of liquid pressure associated with the
observations above.

Why do streams of water emerging out of the holes cover
different distances?

SRl

T ol 9 R foT & fesd & fefafea B 9 e arel
S & garor fafem)

i) T fod & fesd § ts &R @ & WY 9’ a5
EX

i) Thfa®fesd dwF @ W R A BT 3T A SR
g 2
ST Y& § Heifud g9 @ % O 1 Scerd e

foxi @ frshe arelt UMt &1 U STer- ST T F 99 It
22

Name the site and type of fertilisation in a human female.

How the zygote, embryo and foetus are different from
each other?

OR
Give any two differences between sperm and ovum.

Explain the following terms:
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35.

i) Uniparental reproduction

ii) Hermaphrodite

iii) ~ Budding

ME W § FeA % T 3 YR 1 A €|
TS, YU IR HIed TH TR U fRg whR fa B €2

e
IR SR 3UE] H wiE § o fafEm)

o o e *

ffafed s8] i SRS i

i) THIETE S
i)  fgferm
iii)  wareq

Section- E (& <.)

Question number 35 to 38 are case study based questions and
contain five sub-parts each. You are expected to answer any four
sub-parts in these questions.

U9 HET 35 ¥ 38 A WE Ui YT §1 TH ¥ Udw W urd
STATT & T 37 W91 o forgl o SU-WEH & SWT o <kl 3muer
i ST )

Shweta’s teacher demonstrated an activity where she took a

simple pendulum and made it oscillate. It was observed that it
took 10 seconds for the pendulum to complete 20 oscillations.

2)
b)

What is the time period of the simple pendulum?

How much time will be taken by the pendulum to go from
one extreme position to other extreme position?

What is the frequency of the pendulum?

The maximum displacement of the simple pendulum on
either side of its central position is called
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36.

e) Which of the following sounds will be
I) shriller
IT) flatter
i) Crying of a child
ii) A mother scolding her child.
iii)  Arijeet singh singing a song.

vaar st frfarest 3w wfafafy yfia &t foed 3=F TF QEmen s
o 3R I8 o AT T8 I@ T F Alerd w20 o [ FA H
10 9hg 1 0T o

a) T ATk 1 STEdeRe Tl B2

b)  UgaH ® T = feefd 9 gud =W feufd 9% SE ° fRaw
A T2

) Ugerd i oTgfa feRat gii?

d) WA Aok H AT ws feafa & <A IR siferehan fazemd
T HEA €2

o) frfatem § § FA w A ww
1) o
) X
i) Teh &g &1 1
ii)  TH A B AW T H e
i) efeha fde =1 W @ 2

Some plastic articles can bend easily while some break when
forced to bend. When we add hot water to a plastic bottle, it gets
deformed. Examples of such plastics are PVC and polythene.
These are used for manufacturing toys, combs and various types of
containers. On the other hand, there are some plastics which when
moulded once, can not be softened by heating, therefore they can
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37.

not be remoulded again. Examples of such plastics are Melamine
and Bakelite.

a) Name a plastic that can resist fire and can tolerate heat
better than other plastics.

b) Which type of plastics have cross-linked arrangements of
molecules in them?

C) Bakelite is used for making handles of cooking utensils.
Give reason.

d) Write the full form of PVC.

e) Name the type of plastic which can be deformed easily on
heating.

e F1 S TKE A ¥ g I T Jofh |z I St 81 5 7Y
e i Sidel | T I S o g8 faehd 8 St ©1 UW Wi &
IR WAl SR Uifereii= 81 s9 ST fadd i fafa= R =
FeR & fmfo % fau fra S 21 T IR, |9 wifes T ot e €
= T 9R eer & 9 T4 S 9 WE A R S wehar @, 1@
M % SRR HeAME 3R SehelEe Bl

a) 39 WfEH & AW T S A 1 Hfae Gkl © iR
I AN HT qerl | T ol ded We # HWehdl Bl

b)  FFE TR % wifes | oupt w1 w9 fode e e 2?2

)  THARES H STIR THT ThH & il F gl oA § Bl 2
HIT A

d) e =1 gl wu fafen

e) ME® & 39 YRR Hl 919 FaEC 59 T HH W A=A |
forspfar feran ST Sk 21

In females every month one egg is set free by either of the ovaries.
The uterus forms a thick lining of blood vessels to support foetus,
to keep it ready in case of pregnancy. If fertilisation of egg does not
take place, then egg and thickening in uterus are removed in small
parts. As aresults bleeding in the vagina takes place for some days.
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38.

The sequence of events starting form the release of an egg and till
egg gets removed is called menstrual cycle.

a) Name a process of blood flow from human female
reproductive system.

b) State the term used for first menstrual flow in human
female.

C) At what age the ovaries become active in girls?

d) Name a cell formed by the fusion of male and female
gamete.

e) Which organ of the female reproductive system can grow,

stretch and expand many times its size?

Afearell ¥ et TEH ol T femE & g Uk ofe1 gad Bl &1 Teiaer
% AEA H U R GIR W & fou i W afeskietl # uw we
WA S 71 AR 27 1 A T lar @ o 37uer den v i wd
BR-BIE A W bl Wt €1 Ao, T & faw @it o e
Bl 1 3108 & Tiehor § oot 3108 & fomfed e qh ol seiell & %u
+ Wk oH Tk HE S e

a) e W& Yo YTl § R JaT6 i T FfshAl o1 A Faisul

b) MG AR H YUH @Al YAE 6 ¢ Y IR HI Seord
ISy

Q) aefwal ¥ sfewm fha 3u H 9k e @7
d) T AR AR JHE & Gordd G el i & A fateu)

e) R USHA qF H BN W T AT SHER T HE A e
ferama 3R fawr #T wewar 272

Riya went to the market to buy a watch on her birthday with
her father where she saw a person repairing a watch, using a
magnifying glass, keeping it very close to the watch.

a) Name the lens which is used in a magnifying glass.

b) Why is the person using the magnifying glass to repair the
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watch?

Why is the person keeping the magnifying glass close to
the watch?

Give one more application of the same lens used in the
magnifying glass.

What happens to the ray of light when it passes through
the optical center of a sperical lens?

o ot faar & WY o SR R U WS Wied % feu SR T,
el SH Tk AT Wl T STEYeh oF 1 STAN Hd gU T hl AOHA
FA @ T4 TSN & Fgd hid @l T4l o

3G OF &1 A Jaet SEE IUAN sade ofg | fRa S

9% Al TS hl A0 & fau ag® ofF &1 ISTAN FAl L
WI aq17

9 A STadE oF H TSl B UG = W @l 82
e ofg ¥ Y SHl o9 1 T AR Sy dfey

GeRTST 1 TR0 1 oI BIAT @S9 I8 MR o F & Afeha
#% 9 ToRdl 2
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SCIENCE AND TECHNOLOGY

(Model Test Paper - 1)
Maximum Marks : 80
MARKING SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by the candidates,
may be suitably awarded. )

1\% VALUE POINTS / KEY POINTS g{gﬁf:‘}%}g I\T[g;ils
Point
SECTION-A
1. d) carbon dioxide. 1 1
2. a) sodium benzoate 1 1
3. a) A marble floor 1 1
4. c) treads and grooves on tyres of vehicles 1 1
5. a) Carbon monoxide 1 1
6. d) Double convex lens 1 1
7. a) Prism 1 1
8. | b) braille 1
9. c) 1), ii) and iii) 1 1
10 d) Bacteria 1 1
11 d) Elephant ! !
12 d) cat ! '
13. | b) Chapati, dal and vegetables. 1 1
14. | ¢) heat and pressure on the remains of dead plants 1 1
and animals.

15. | a) Raniganjand West Bengal 1 1
16. | ¢) (A)is true but (R) is false 1
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Marks

Q. Allotted to
N VALUE POINTS/ KEY POINTS B ettec t0 ﬁg:ils
Point/Key
Point
17. | d) (A)is false but (R) is true.
18. | d) (A)is false but (R) is true.
19. | a) Both (A) and (R) are true and R is the correct 1 1
explanation of A
Section- B
20. | Smallest cell-PPLO/Mycoplasma
Th+ 1/,
Size = 0.1 micron e
Largest Cell - Ostrich egg &
v 2
Size = 170mm in diameter ’
OR
No, there won’t be any change in the size of organism. 1
It is not necessary for the cell size to be bigger based on 1
the size of organisms.
21. | Bacteria and Fungi. Vot 1
They decompose plants & animals when they die. 1 2
22. | Houseflies carry harmful microbes with their bodies 1
and sit on our food and water and contaminate it. 1 2
23. | i) air current lowers the temperature of burning wax 1
vapours below their ignition temperature.
ii) The CO,, in our breath, acts as a fire extinguisher 1 2
24. | Sodium Chloride Solution, Sea water because they are IVAEVA
strong electrolytes 1 2
(they ionize completely)
25. | a) Chemical energy to electrical energy 1
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Marks

Q. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgrell( S
Point/Key
Point
b) Electrical energy to chemical energy 1 2
Section- C
26. | a) Mitochondria-cellular respiration and for 1
generation of energy
1
b) Ribosomes - Protein Synthesis
c) Golgi body - Processing and packaging of materials 1 3
produced by the cell
27. | a) Carbon or Sulphur 1
b) Highly reactive metals like sodium etc. are found in
. . 1
the form of their compounds in nature .
c) Less reactive metals like gold, silver and platinum 1 3
are found in native state in nature.
28. | a) (i) R i Q Vot Va
Force of friction depends on nature of two surface in contact 1
b) The maximum value of the force of Static friction is
called limiting friction 1 3
Alternative question for visually impaired students in
lieu of Q.No. 28
a) i) Nature of two surfaces in contact 1
ii) Force pressing the two surfaces together 1
b) (already explained) .
OR
a) Crumpled sheet of paper will fall with a
greater speed because due to less surface area it 1
experiences less air resistance. 1
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Marks

Q. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgr;ll( S
Point/Key
Point
b) both have streamlined body. 1
29. i) Ecofriendly 1 3
ii) release no ash particles 1
iif) Do not release any harmful gases 1
30. | a) A part of the heat energy supplied to the paper cup 1 3
passes on to water
b) Ignition temperature of the white phosphorus is
35°C. During summer, room temperature often 1
rises to 35°C, white phosphorus then catches fire
spontaneously.
c) On striking, friction generates enough heat to light 1
the matchstick by making the chemical catch fire.
OR
Refer to activity - 2 on Pg. No - 121 3
31. | a) Hypermetropia or far signtedness 1
b) i) the focal length of the eye lens becoming too 1
large.
ii) The eye ball getting shortened 1 3
Section- D
32. | a) They react very vigorously with water. This 1o+l
reaction gives out so much heat that the hydrogen
evolved catches fire.
1
b) Zinc is more reactive than copper.
c) Because they are sonorous 1
d) to prevent its contact with air as it catches fire on Yo+l
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Marks

Q. Allotted to
N VALUE POINTS/ KEY POINTS B ettec t0 J[gfll(ls
Point/Key
Point
reaction with air.
e) Graphite is a good conductor of electricity. 1 5
OR
a) Metal, Iron/Zinc/Mg, Hydrogen gas Vo, Vo, Vo
b) Fe +2HCl — FeCl, + H, 1
(or any other equation)
c) Basic oxide 2
i) 2Mg+ O, — 2MgO (or any other) 1
iiy MgO +H,0 — Mg (OH), 1
33. | a) We prefer bag B. because if contact area is more, so | 14,1
pressure will be less.
b) Non-contact forces - Magnetic / gravitional force 1
(any one)
eg. - Magnet attracts iron nails / filings
- Falling down of an apple from an apple tree 1
(or any other relevant example)
c) i) Force can Change Shape and size of an object 1
if) Change of position from rest to motion / pull 1 5
/ attraction
OR
a) i) Water from the lower holes travel a larger 1
distance
ii) Water emerges out from two holes with equal 1

force
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Marks

Q. Allotted to
N VALUE POINTS/ KEY POINTS B ettec t0 J[gfll(ls
Point/Key
Point
b) i) The pressure exerted at any point is directly 1
proportional to the height of liquid column
above that point
ii) The liquid pressure is transmitted equally in 1
all directions, and is same at a given horizontal
level.
c) Because the water pressure is different at different 1
depth inside water.
34. | a) Oviduct - site of fertilization type - Internal
fertilization
b) Zygote - a fertilised egg / single cell, produced 1
through Fusion of the male and female gametes.
Embryo - Early developmental stage of an unborn 1+1 5
organism. Foetus - stage where all body parts
of an embryo can be identified / later stage of
development of an unborn animal.
OR
a)
Sperm Ovum 1+1
i) It is a male gamete. i) Itis a female
gamete.
ii) Smaller in size ii) bigger in size.
iii) Sperm will have iii) egg will always
either (22+x) or (22+Y) |have  (22+x)
chromosomes Chromosomes
(any two or any other relevant answer)
b) i) Uniparental reproduction - The production 1

of young ones by a single parent, without the
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Marks

1\%. VALUE POINTS / KEY POINTS %Egﬁ gg Total
Point
Formation and fusion of gametes.
iil) Hermaphrodite : - an animal having both 1
male and female reproductive organs / same
individual produces both types of gametes.
iii) Budding : Formation of a new individual from 1
outgroth, or a bud, arising on the parent body.
Section- E
35. | a) 0.5Second or %2 second 1
b) 0.25 second or %2 second 1
c) two hertz 1
d) Amplitude
e) I) Crying of a child - Shriller &
II) Arijeet singh singing a song - Flatter V2 4
(Any Four)
36. | a) Malemine 1
b) Thermosetting Plastics 1
c) Bakelite is a poor conductor of heat. 1
d) PVC - Polyvinyl Chloride !
e) Thermoplastics ! *
(Any Four)
37. | a) Menstruation 1
b) Menarche 1
c) The ovaries become active when the girl reaches 1
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Marks

Q. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgrell( S
Point/Key
Point
puberty / (between 11 - 13 years of age)
d) Zygote 1
e) Uterus 1 4
(Any Four)
38. | a) Convex lens 1
b) To get an erect and magnified image. 1
c) So that the object lies within the focus of the lens to 1
get a erect and magnified image.
d) Convex lens can be used in Microscope, Camera, 1
telescope etc.
(any other relevant answer)
e) It passes straight through the optical centre without 1 4

any deviation.

(Any four)
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SCIENCE AND TECHNOLOGY

(Model Test Paper -II)

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1)

The question paper comprises five sections- A,B,C,E and E. There are 38 questions in
the question paper. All questions are compulsory
Internal choice has been provided in some questions. A student has to attempt only
one of the alternatives in such questions.
Section A consists of question number 1-19. These question are MCQ’s and
Assertion-Reason questions. They carry one mark each.
Section B consists of question number 20 to 25. These are short answer questions
which carry two marks each.
Section C consists of question number 26 to 31. These are short answer questions
which carry three marks each.
Section D consists of question number 32 to 34. These are long answer questions
which carry five marks each.
Section E consists of question number 35 to 38. These are case based questions
which carry four marks each.

= 9T

1.

2)

3)

4)

5)

6)

7)

e 0 W Ui EE wE I SR S wifhel €1 Y9 U § e 38 WA B1 gefi g

arferd €

%o e ° ofdaRe fashey R U 7| U@ weA W UH B Hl e Tk faehed @
& W T 2

TE & Y9 GEA 1 ¥ 19 dF g1 T T Tgfaehedd 9 iR SifTeRer-sRo ge
21 T 9 e Y Tk 3k @l @

TE @ W YT G&A 20 ¥ 25 T €1 A o SUd U ®, T 9 ek U % 2

#fn 2

TE T H Y e 26 W 31 a9 21 4 off e U ¥, T 9 Yew U &

q e 2

T o H yeT @ 32 9 34 7% 21 A sy 7, T ¥ vy & g
#fh 2

©E T W U GE&A 35 U 38 a% B1 Ay AURd Y €, Tk I & 4 3Hh 2
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1.

SECTION -A (@g - 31)

The process that takes place when yeast is added to sugarcane juice
and left for a week is ..........cc..........

a) Decomposition b) Fermentation

C) Distillation d) Oxidation

T8 Wi S T W H TER el R UF gwe & fou s W W
Bl @

a)  STTEEd b)  fevad

c) e d) TR

Which of the following is incorrectly matched?

a) Polio - Virus b) Malaria - Bacteria
C) Tuberculosis - Bacteria d) Hepatitis - Virus
freAfefed & 9 %9 9 o gafea 272

a) e - =rRE b)  wefen - sEifen
o)  Tufew - FFAfen d) el - arRE

The correct arrangement of frictional forces in increasing order is
a) Rolling, Sliding, Static b) Sliding, Static, Rolling
C) Static, Rolling, Sliding d) Static, Sliding, Rolling

934 %A § SN0 dell 1 G aE @
a)  Ufew, udf, wWiew b) =i, Wik, A
c) wWifaer, Afe, gdf d)  ifaw, gdf, afem

A block is placed on a table. Megha pushes it horizontally with a
force of magnitude F from east to west direction. The block does
not move at all. The force of friction acting on the block is

a) less than F, from east to west
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b) F, from west to east
C) more than F, from west to east

d) less than F, from west to east

T 39 W TF sclfsh W@ T ¢l 941 28 fgsl ®9 § F 9iero & a5a
% g qd o ufvem fon ¥ gehor ?1 sl faoge Tl feeran wdtw
T T A THT T Beorrrrrrreererrerrrreenrens

a) F¥ &9, 7@ 9 9=M & 3R
b)  F,uf=m @ @ &t &R

¢)  F¥ sfys, oftem 9§ 94 &t @R
d) F¥ &8, 9em ¥ 7@ & R

The lowest temperature zone of a candle flame, is its....................... (1)
a) Yellow Zone b) Black Zone

Q) Blue Zone d) Orange Zone

TS T BT O H T FH AT BT TR

a)  dien &= b) el &

c)  Hiem &= d) A e

A ray of light passes from water to a glass slab. Inside the slab (1)
a) the ray bends towards the normal and slows down.

b) the ray bends away from the normal and speeds up.

C) the ray bends towards the normal and speeds up.

d) the ray bends away from the normal and slows down.

ThTST 1 Teh TR0l UM & e & Wid § Sl 81 Wie @ A
a) ot gmm &6t 3R g I @ SR SHe! A i 7 S 2
b) RO gmEF @ R el W @ SR sEet fa 98 S 2l
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c) oo wmr Y R gk Wt @ iR SHent Tfa =g Wt 2
d) o = ° R =l SR SR SHeR i = S 2

An Incident ray, passing through the principal focus of a convex (1)
lens, after refraction will

a) move parallel to the principal axis.

b) pass through its principal focus ‘F’

C) go undeviated

d) pass through its '2F point'

SIEdA & 9% 3T 9 o &4 ®ihd ° oA dreft ofafad fewo

a) &A% A ol @

b) U H&A ®iHd W AT 2

c) TR welt S 2

d) 2F ¥ TR 2

The part of the eye responsible for focussing the light entering the 1)
eye is

a) Retina b) Pupil

Q) Eye lens d) Cornea

@ § gAY HE A YR hl hisd HE & fou fTHER 3ti@
%A @ feem B

a) e b) e
c) e w1 A" d) ENERI
A fibre which is obtained from a natural source and then (1)

processed to give a silk like appearance is .................
a) Cotton b) Nylon
C) Rayon d) Silk
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10.

11.

12.

T R S T Uihask Sid 9 W foman S § @ik fee Yo S
e & foru wafa feean s @)

a)  ®HIE b) TN

c) EOIE| d) wm

Reproduction by budding takes place in ................. (1)
a) Hydra b) Amoeba

C) Paramoecium d) Bacteria

qehe™ GRI S BT Boevvvvvvvrennnn

a)  BES b) el
c)  Twferm d) S
Incubation is the process of ......... 1)

a) Changing larva to adult

b) Laying eggs

C) Laying fertilised egg

d) Keeping the fertilised egg warm in order to hatch.
R DRI IET) I S

a) @ hl TIER H F_Hl

b) &=

c)  fmifaq s <

d) frfad &€ = 91 & fou ™ @

Adolescents should be careful about what they eat because : (1)

a) Proper diet develops their brain only.

b) Proper diet is needed for the rapid growth taking place in
their body

C) They feel hungry all the time
[ 154 ]



13.

14.

15.

d) Their taste buds are well developed
3 &l S 98 @@ ©, SE fou gafeu geye w1 =ifsT wifE
a) SToad omr 9 & 37 ufss &1 faw™ g 7l

b) 3% IR H oot ¥ B W gfg & fau 3fea smeRr &t etevaekan
Bt 2

¢) 3% W UHI @ A R
d) IR wWE FHfaen =St a@ ¥ fawfad et €

The first menstrual flow that begins at the puberty in females is (1)
called ....ccoevvrueinncnnne

a) Menopause b) Menarche

C) Menstruation d) Pregnancy.

ol o Ao & THT YRS Al YU Wihs e F1 Fea ¢l

a) WS b)  EH

c) RN d)  Tfeen

Water is an inexhaustible natural resource. Which of the following 1)
is another inexhaustible natural resource?

a) Petroleum b) Coal

C) Sunlight d) Minerals.

S Teh AT Wik GEee ¢ Fefated § 9 Th o9 18 Wiehiash
REICERCIEL

a)  Ueiferm b) &l

c) IS & W d) @fe =

Destructive distillation of coal is done to get some useful

products. One of the products so obtained and used for extraction (1)
of metalsis ...........

a) Coke b) Coal gas
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16.

C) Coal tar d) CNG

FS STANT IR F I HH & (AT HiFad &1 ol staad fwa
S ®, ugstt & fepdu % fou ww SR S fRy oM ol Sl o
SRC

a) &% b)  Hia T
<) EQIGEIES d) @uAsht

For Question number 16-19, two statements are given. One labeled
Assertion (A) and the other labeled reason (R). Select the correct
answer to these question from the codes (a), (b), (c) and (d)

a) Both (A) and (R) are true and R is the correct explanation
of A.

b) Both A and R are true and R is not the correct explanation
of A.

C) (A) is true but (R) is false
d) (A) is false but (R) is true.

Y9 G& 16-19 & U € e KU U &- U *l AfqweH (A) 3R
TWR & FRO (R) el T 71 A= &y 7 Fe (a), (b), ()R
(d) 9 37 93 & TE IW B 997 B

a)  AfeheH SR HRU S Ucd © SR SR Y w1 Gel
S F 2

b) AR 3R RO M WET © WfeRd SR Afiuehe i Hel
e 8l B

c) fypeM ¥ T afed SR e B

d)  eifqemed o © Wf SR T @)

Assertion (A) : Puberty is the age at which an individual becomes
sexually mature.

Reason (R) : In girls puberty occurs at younger age than boys.

TR (A) : A9 98 39 ? 59 9 & =afe 9 w9 9 9y @
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17.

18.

19.

20.

ST 2
#07 (R) : oASfpal ® diaq gl w1 qorl o %8 S H o7 S @)

Assertion (A) : Oxides of Sulphur and Nitrogen dissolve in rain (1)
water and form acids.

Reason (R) : Such rain is very useful for crops, buildings and soil.

AR (A) : TEH TAT AELSH & SAFAES I8 & STl H el

A T T
#01 (R) : U oo wEel, worl @ik faedt & faw aga swEnh e 2
Assertion (A) : A thin coating of expensive metal is deposited over (1)

an object made from less expensive metal

Reason (R) : Electroplating is done to increase the cost of objects
or articles.

sifeped (A) : §KN 91 § o fRdl a%g & S0 W o1 i qaen

WA =GE S 2l
F0 (R) : SO o%qell i | 9@ % fou i S 2
Assertion (A) : The speed of light is less in glass than in air. (1)

Reason (R) : The more is the optical density of a medium, the less
is the speed of light in it.

AfTRET (A) : TS i Tq Bel 1 STUET g § wH el 2l

FOT (R) : Twdl wresm o1 siffeshal sea foian stfyes e =, 399
TR 1 T Sa1 & HH Bl

Section- B (TE @)

On the basis of your observation of an onion peel slide and cheek )
cell slide under a microscope, write two differences between
them.

OR

a) Cell which are the basic unit of all living beings remained
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21.

22.

23.

24,

undiscovered for a long time. Why?

b) Why an amoeba and a rabbit differ in their size?

AT e & YR W, Th @S i &ES 3 el i hirsemet
&) TARS ! AEHIERY & g Wd T, 396 o9 & 5 AR fafeu)

SUEN
a)  hifereRt S gl Sfifaa Wi #1 qot 3RE €, o9 99 ah
FE B = ®?
b)  o7HfiEl iR BRNW H SRR § FR A Bl 7?2
One should avoid standing close to a common cold / tuberculosis )

patient while she/he is coughing. Why?
fordt T o<t o qufss & UM & U T BH 9 F a9 =,
V4 9 @iE @ E?

Soham added a teaspoon full of curd in a pot filled with )
lukewarm milk and left it undisturbed for 5-6 hours.

a) What would he observe after 5-6 hours?

b) Give reason for his observation.

TEW A TIE 39 ° W TH 96 § Tk I0d 9 @ el 3R 39 5 9
6 ¥ & o sig o

a) SHH 59 6 TS TIE F <@
b)  3T® YT HT HRUT AT

In an experiment 3.5 kg of a fuel was completely burnt. The heat 2)
produced was measured to be 175000Kj. Calculate the calorific
value of the fuel.

T M H 3.5 TRl 399 B T @ San W 175000 TRl S e
W k1 TS| e o holl W i UMD Shife)

................. is the phenomenon which forms the basis of the 2)
production of all large scale electricity produced in the world.
This phenomenon forms the underlying principle of modern day
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WwwwaﬂﬁélﬁmaﬂWw% ............. R
....... & ofafifed fagia o1 fmio st 2

25. ®||‘| o )

~~~~~~~~~~~~

Copper Plate < »  Zinc Plate
(anode) (cathode)

L ot

The two plates shown in the above figure are taken out and
weighed after one hour of the experiment. Will the plates weigh
same or different? Give reason.

R TS - > 5% wie
(TR) ()

|||||||
|||||
[
L
|
|
|
||
|||||
alygnl

[, PR T TRRH
SWid fod o fe@E T < Wi H YA & T 6 9R fheR diel
S €1 g Wiel 1 oIS GHM B Al STe? SRl W Sy

Allternative question for visually impaired students in lieu of
Q.No. 25

Explain the process of electroplating. Also state any one condition
to get a smooth and firm deposit during electroplating.

U9 WEAT 25 & AN WX gREaTiod Bl o fo dehfedeh wod
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26.

27.

28.

TARITIET 1 UiHAT 1 e HY 3R TeeRmien & e fased 3K
3G T8 W i & fa¢ T I ol

Section- C (@ )

Plastids are cell organelles found in plant cells. Name different 3)
types of plastids and give one function of each.

TfiEed URY Sif¥Ret ¥ qU S o iR o ) fafe yeR @
el & AW fafEy qen g &1 Th & Il

a) Differentiate between a mineral and an ore. (©)

b) Mention the term used for the following processes of
metallurgy.

i) The process of treating ore to get the metal in its
free state.

ii) Process of removal of impurities form the ore.

a) T 3R IR H ST T Fifu)

b) g foam &1 fr=fafea gfswaet & fau 9w | &1 Seae
i)

i) g I T ST H UM i & U 7%k & e
1 Gihar &1 9 faf@m)

ii)  oTT%k § STYfsA H R w1 Ak

a) What do you mean by 'drag' in case of an object moving €)
through a fluid?

b) Mention the factors on which it depends.

C) How can an object be designed so that the drag
experienced by the object is minimized?

a) UF WA HeFH A 9 FoH oiell 9% & HHA W ST Y ST
e 872

b) I FHNH H Soor@ HIT 9 W I8 FeRk *ar =)
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29.

30.

c) Tt ovg 1 w9 fosmza foman w1 wehan ©1 dfeh €& g
sy foRan T 2 wH ° &A T

OR

Why is friction a necessity? Give three points.
a0 = sevEs 22 dA fag Gy

We should use fossil fuels judicously. Justify the statement by
giving three points.

B Sttored Su 1 AN fadeh gl qlie § e =feul i fag ST
YA &l gfe sifvu)

Two paper cups, one with water in it and one empty, are heated
slowly, one by one. What will happen to both the cups. Give
reason for your answer.

OR

Ruhani introduced a glass slide into a part of candle flame. She
kept it like that for a minute and then withdrew it from flame. She
observed a circular, greyish black ring formed on the glass slide.
Answer the following questions based on her observations.

a) Name the zone of the flame in which she introduced the
slide.
b) State the reason for her observation.

C) Why is there no deposition in the middle of the ring?

Y TR HY, TH a7 qH & AR Tk I & T, Th Teh hih 3 T/
TRH T A €1 A9 Y& =1 BI? HRO 9dEU|

SE]

e 3 hid Hl WSS *I HHe FI o ® Th &8 § een ik 39

T e % U@ € W@ iR R 39 o § g form 9 i o wiEe

W s IR U-wieh [T 1 STaciieh wdl &1 ST Y0 & SR |

frefafed geai @1 W SN

a)  Soen % 39 fewd w1 AW fafe fSad Se e w @ e
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31.

32.

b) 3 U T HRU FAEY
o) o we am A faguor & = g

Riya went for the eye checkup where her eye specialist suggested
her to wear corrective glasses having concave lens of prescribed
number.

a) Name the defect she is suffering from.

b) State two possible causes of the defect.

e ofEl &t Sie % fou T S 3w 9 fanive 3 s fuifa gen
% 3T ©F ATl YURHh 99Hl T8+ a1 gea =

a) 9% few Iw ¥ difeq ¥2
b) TN & T Hfad RO KU

Section- D (@€ )

Complete the following table to dirrerentiate between metals and
non metals on the basis of the following physical properties. Also
fill the exceptions wherever asked.

Property Metals Non Metal
Q) e
Melting point ((C) R
Exception b)...............
() IR
Lustre d) o Exception (f)
8) e D)oo
Hardness
Exception (h) ............ Exception (j) ........

frefefeaa ifdes oI & SuR W el IR Auge &« ST wE

[ 162 ]



33.

% fou frefeted difesh s qu @ @R e ot o)

e il Skl
Q) e
etk (€3 IS
YA b)...............
(S J
ELED d) e
CREI 6 ) I
8) e 1) SO
sedl
AR (h) ............... HIATE (§) cvovvrnenee
OR
a) How are alloys better than metals?.
b) Name the following:
i) an alloy of copper used for making gun barrels
ii) an alloy of aluminium used for making magnets
C) How is purity of gold expressed? Can we use pure gold to
make Jewellery? Give reason.
d) Name two non metals used for making feutilisers.
SRl
a)  fag-eg, uge @ 9 9T 7?2
b) RILEC I
i) dle o T fagerg fEea ST 9<% & 9 s A o
feran ST 21
i) ga% T & fau wge TFfitad w1 fHen)
¢) WM F YSd HY T HT S €2 FM TH NIV S & forg
IS GH HT ST H Gehd B2 HROT U
d) 3I9® T H ¥ TP B arel ] A9gst & 9 fafew)
Some hot water is poured into a plastic bottle and is shaked for ®)

[ 163 ]



a minute. The lid of the bottle is closed quickly after pouring the
water out of the bottle.

a) What will you observe in the above activity?
b) Give reason for your observation.

C) Why is the lid of the bottle closed quickly after pouring out
the water from the bottle?

Teh AIfeh i dided | %9 T g S/ S @1 SR U e &%
foru feeman S 21 3HH o€ U ol adel 9 TRt 39 W Siedl |
eRh o e S 2

a) W Tfdfafy § sy g I=h?
b) ST YU H HROT A2

c) A 9§ UMl fehrer & AR diqel 1 @Rk Sieal | ]
feran s 2

OR
a) Define pressure
b) Why do nails have pointed ends?

C) Three identical cubical blocks are placed on a table in two
ways. Each block of face area A exerts a force F on the table

I : Blocks in contact with each other, side by side.
IT : Blocks, one above the other.

What is the total force and pressure exerted on the table?
Give reason for your answer.

SRE
a) <19 i IR it
b)  @iel 1 TG Jeten @@ e €2

) 9 UM Hfehd e Tk U | A TWE W W A &l Heh
&TFA A 1 TS scileh W) W Tk ol F Wfua &Ll 2l
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34.

I) 3T oA Tk S & GO H @ 7T Aleh]|
) TF WS FTW W T A
el W e a1 ot 3R <@ A B2 A9 ST hl HRO LT

a) Give one function of each of the following parts of male
reproductive system :

i) Testes ii) Sperm duct iii)  Penis

b) Hen and frog both are oviparous but they have different
types of fertilization. How?

OR
a) Compare sexual and asexual reproduction. Give one
example of each.
b) Draw a diagram showing process of fertilization.

Alternative question for visually impaired students in lieu of
Q. No 34 (b)

How an external fertilisation different from an internal
fertilisation?

a)  IEY YSH gUTel & frAfafed ar H @ g 1 T i a-

i) ELL
i)y o Afeem
iii)  fem

b) o iR Hewh I TUvSuSF e & ek SR FSeA
STT-3TCHT YR T BT &1 Hhd?

SRl

a)  ©ifiek 3R STAfiTeh U T g ISl AT T Teh SSIER
SIS
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35.

b)  fe=a =1 gfsran &l @i aren fod AR
U9 WEAT 34 (b) & TN W ghearia Bl & fou Sehfedss wod
aed F=q el fem 9 +9 fa= g @2

Question number 35 to 38 are case study based questions and
contain five sub-parts each. You are expected to answer any four
sub-parts in these questions.

U9 HE& 35 ¥ 38 s WS meia wed &1 TH ¥ Ueeh W Ui
IYNTT &1 AOH 37 o1 o fepgl oI SU-HAT & I«C o4 i el
Calis i

Section- E (@e B.)

Itis observed that some animals get disturbed before an earthquake. (4)
Earthquake produce low frequency sounds before the main shock

waves are released, which are not audible to the human ears. It

is this feature that possibly alerts these animals of an Impending
earthquake.

a) What are these low frequency sounds called as?
b) The frequency of these sounds is less than ..................
C) What is audible range of frequency for normal human ear?

d) Dogs have the ability to hear sounds of frequency much
higher than 20 KHz. What are such sounds termed as?

e) Which characteristic of sound in determined by its
frequency?

TE 3@ T B R T ¥ Usd |3 SHeR fomfad g W € e vk
T W BH @ Uee W SAgha whi eS| ST Bl € S " Sl &%
feru s =l e, 7 fagwar ® < genfad €9 9 o1 et %Y ¥

el ! g9d ®l 2

a) T %W g arel A F F wEd €7
b) T ErE H SR s T %Y Bl 2



36.

c) W MG &M % fau e wt s o €2

d) =l ® 20 fraeds @ sifye ogfa 1 =aft A &1 &mar gt
2, T a9 weand 72

e) = & HA faeiva s@t sgfa @ fruffa et 22

Synthetic fibres find uses ranging from many household items/
articles like ropes, buckets, furniture, containers, etc. to highly
specialised uses in aircrafts, ships, spacecraft, healthcare, etc.

The different type of fibres differ from each other in their strength,
water absorbing capacity, nature of burning, cost, durability etc.
Today life without plastic cannot be imagined. Be it home, or
outside, plastic is everywhere.

a) Melamine is used to coat the uniform of fire brigade
personal. Why?

b) Acryalon is better than pure wool. Give reason.
C) Why nylon is used for making ropes, parachutes etc.?
d) Write full form of PET.

e) A bucket made up of plastic does not rust like a bucket
make up of iron. why?

fofesh hgel 1 ST *E T THE G TH, 9!, HHR HeR
Mg 9 oIk gaATs STeTsh, AaRel I, deudaR N | Tty fafime
SR q Bl g1 fafe= TR % BEeR T% W W I dhd, ST
FETNEU] &9, Se 1 Yehid, oNTd e onfe § fa=1 e €, &1
e & o1 Site 1 sheu &l i ST Hehdl €| e o8 S el Aol

e Te® &Y SITE el

a) HAHTE &1 SHHE BRI fofle & ol &1 a8 W W 9eH &
fere ==t fopan S @7

b) ke g S 9 dEl &l HRO T
) T IR ok W % fau TEes & W@ b e s
d) Wz A w1 wa v fafeu
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37.

38.

e) s *1 iedt § diR 1 9ol it e 1 A Tel o 82

The endocrine system is an integrated system of organs which 4)
regulates the release of hormones. There are various endocrine

glands in our body which secrete hormones directly in to blood

and are carried to specific target site. Hormones are needed for

proper growth and development.

a) Which gland controls the release of other hormones in
human body?

b) Name the hormone that is released by testes at the onset of
puberty?

C) What will happen if thyroid gland of a todpole is
removed?

d) Name the glands that regulate mineral level in the blood.

e) When is a person said to suffer from the disease called
‘Diabetes’?

TeihTed foed ST 1 TH THipd TN § W wWiA e
frifia ot 31 97 7R vk o fafy= sfasoreh i € S smE
WY e | S w © 3R fafire @ed e a9 o Sl @1 Sted
gfg iR foerm & foau emiA ot sevaewar gl 2l

a) & i Uy g SRR H o1 v & fER i fEte e @2
b)  SSUA HI UERES Y w e 3 W 9 g
c) 3 U H AW S S W § @S 'R e w82

d) S eMH @1 A fafew St dem # e | guv gR St
g 272

e) Afed el AYHe A I 4 difgd T s @2

Rohan while learning swimming landed into the pool of water (4)
and realised that the pool was deeper than it seemed to be when
he was outside the pool.

a) Name the phenomenon responsible for the Rohan's
observation.
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What is its cause?
The speed of light ............. when it goes from air into water.

A ray of light falls normally on the surface of water in the
pool. What will happen to the ray of light.

How is the optical density related to the speed of light in a
given medium?

I HiE @1 Ued W U F ke B I, 99 ST Heqd R fF wE
IE I & AR O, T Yol S Teq o, 3HY Fel s e 2

T & Y& & fou SO ufimeTs =1 9w fafew)
IUHT FHROT T 7
T BT T o, B S & o9 98 g1 § Ul § S 21

ThTST 1 RO T ®9 9 qd A UM 1 Hae W) AR 2
FATSY YehTRT ohi TRT0T T R BITT?

foreft feu @ e ¥ yehter @ MG snfesd uc ¥ $9
Hafua 87
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SCIENCE AND TECHNOLOGY

(Model Test Paper - II)
Maximum Marks : 80
MARKING SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by the candidates,
may be suitably awarded. )

1\?(')_ VALUE POINTS / KEY POINTS g{gﬁf:‘}%}g I\T[g;ils
Point
SECTION-A

1. |b)  Fermentation 1 1
2. |b) Malaria - Bacteria 1 .
3. |a) Rolling, Sliding, Static 1 1
4. b) F, from west to east 1 1
5. |b) Black Zone

6. |a) the ray bends towards the normal and slows 1 1

down.
7 a) move parallel to the principal axis. 1 1
8. o eye lens ! !
9 C) Rayon 1 1
10. |a) Hydra 1 1
11. |d) Keeping the fertilised egg warm in order to hatch. 1 1
12. |b) Proper diet is needed for the rapid growth taking 1 1
place in their body

13. [b) Menarche 1 1
14. |c) Sunlight 1 1
15. |a) Coke 1 1
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B ettec t0 ﬁg:ils
Point/Key
Point
16. |ii) Both A and R are true and R is not the correct 1 1
explanation of A.
17. |iii)  (A) is true but (R) is false 1 1
18. |iii)  (A) is true but (R) is false 1 1
19. [i) Boath (A and (R) are true and R is the correct 1 1
explanation of A.
Section- B
20.
Onion peel slide cheek cell slide 1
1. cell are arranged | 1. Isolated cells or
in rows cells in clusters
2. bigger in size 2. Smaller in size 1 2
OR
1
a) Cells are too small to be seen with unaided eye 1
b) Amoeba is unicellular. Rabbit is multicellular Ya
21. | Common cold / tuberculosis is an air - borne disease 1
(communicable diseases)
When someone sneezes, pathogens spread in air which 1 5
are inhaled by healthy people (droplet infection)
22. | Milk will set into curd. Lactobacillus converts milk into 1+1 2
curd by multiplying in it
23. |Heat produced on burning 3.5 kg fuel = 175000 KJ
2 2

Heat Produced on burning
1 kg fuel = 175000Kj/3.5 kg = 50,000 Kj/Kg

(mark to be deducted if unit is not mentioned)
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgrell( S
Point/Key
Point
24. |Electromagnetic induction. Generators and transformers |1+%+ v 2
25. | Plates will weigh different. Process of electroplating will 1+1 2
result in the deposition of copper on zinc.
Alternative question for visually impaired students in
lieu of Q.No. 25
The process of depositing a thin layer of any desired 1
metal on another material by the passage of electric
current.
* Article to be electroplated should be made cathode 1
* Anode is made of pure metal to be coated on the 1
article
* Suitable soluble salt of anode metal should be the 1
electrolyte
(any one)
Section- C
26. |Chloroplast - manufacture food for green plants by | 2+ %
photosynthesis. Chromoplast - impart colour to different | 14+ 14
parts of the plant. Leucoplast - provide space to store | 1x+ 14 3
starch, proteins, oils etc.
27. |a) Mineral is a naturally occurring inorganic 1
substance found deep under the surface of the
earth. Ore is a mineral from which one or more 1
metals can be extracted profitably
b) i) Reduction V2
2 3

ii) Concentration of Ore
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgri S
Point/Key
Point
28. |a) Frictional force exerted by fluids against a 1
moving object
b) Nature of Fluid &
Shape of the moving object &
Speed of the moving object with respect to the 1
fluid
Q) by giving streamlined shape to the object 1 3
OR
Walking on the ground for rolling 1
writing, holding an object 1+1
(Any other relevant answer)
29. [reduces air pollution 1
reduces risk of global warming 1
ensure their availability for future generations 1 3
(Any other relevant answer)
30. [Empty cup will burn faster than the cup with water. In 1
case of empty cup, ignition temperature is attained faster
than the cup with water. In case of cup with water, heat 1
passes from cup to water , which leads to late attainment 1 3
of ignition temperature.
OR
1
a) Middle Zone / Luminous zone
b) deposition of unburnt carbon particles present in 1
the middle zone on the glass side
1

C) No combustion in innermost zone
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Marks

13('). VALUE POINTS / KEY POINTS %Egﬁ gg Total
Point
31. |a) myopia / near sightedness 1
b) - excessive curvature of cornea 1
- elongation of eye ball 1 3
Section- D
32. |a) high melting point V10 s
b) Caesium or Gallium
Q) low melting point
d) Lustrous / shiny
e) Non Lustrous / Dull
f) Iodine
8) Hard
h) Sodium or Potassium
i) Soft
)) Diamond (form of carbon)
OR
a) harder, stronger, resistant to corrosion 1154
b) i) gun metal s
ii) alnico &
C) in terms of carats Y
NO L
Pure gold is very soft Y2
d)  Nitrogen and Phosphorus Vot Ya
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( S
Point/Key
Point
33. |a) The walls of bottle get deformed or crushed 1
inwards
b) Hot water heat up the air in the bottle and causes 1
it to expand
Good part of air inside the bottle escapes out 1
Pressure of air outside the bottle becomes more
than the pressure of air inside the bottle. Difference
. 1
in pressure deforms and crushes the bottle.
C) so that there is less air inside the bottle, cool air 1 5
from outside does not enter the bottle.
OR
a) Thrust acting on unit area of a surface / Pressure 1
= Thrust/Contact area
b) Since contact area is less, pressure exerted will be 1
more, iron nail can then be driven into the surface
with minimum effort.
C) Case 1
Y2
Total force = 3F
Pressure = 3F/3A =F/A &
C 2
ase ”
Total force = 3F
2
Pressure =3F/ A
Reason : Pressure = Thrust / contact Area. 1
34. |a) Testes : sperms develop in testes. 1

Sperm Duct : sperms pass from the testes through
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgrell( S
Point/Key
Point
the sperm ducts to urethra 1
Penis : conducts urine as well as semen 1
b) In hen internal fertilisation and external 1
development takes place
In frog external fertilisation and external 1 5
development takes place.
OR
a) Asexual Reproduction - 1
Production of young ones boy a single parent,
without the formation and fusion of gametes.
eg.  binary tission in amoeba / budding in 1
hydra / multiple fission in plasmodium
Sexual Reproduction - Production of young ones 1
by the formation and fusion of gametes.
contributed generally by two parents &
et. human beings, cat, dog etc.
b) Diagram :
,\,\/@ Nuclei in —
sperm and ovum Nuclei in 2
7 —
ygote
Single
ucleus
in Zygote

(Diagram -1, Labelling - 1)

Alternative question for visually impaired students in
lieu of Q. No 34 (b)
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Marks

13('). VALUE POINTS / KEY POINTS %Egﬁ gg Total
Point
External fertilisation takes place outside the female body 1
internal fertilisation takes place inside the female body 1
Section- E
35. |a) Infrasonic sound 1
b) 25Hz 1
¢)  25Hzto25kHz 1
d) Ultrasonic sounds / ultrasounds 1
e) Pitch 1 4
(any four)
36. |a) because it resists fire and can tolerate heat better 1
than other plastics
b) is lighter and provides same warmth as pure Vot Y2
wool
cheaper
moth resistant
available in multiple colours
(any two)
C) highly elastic, high tensile strength Vot V2
d) Poly Ethene Tetra phthalate 1
e) Plastic is resistant to chemicals 1 4

(any four)

[ 177 ]




Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B ettec t0 J[gfll(ls
Point/Key
Point
37. |a) Pituitary gland 1
b) Testosterone 1
C) Tadpole will not turn into adult frog / Thyroxine 1
will not be released / Metamorphosis will not
take place.
1
d) Adrenal glands
e) due to lack of insulin in the blood 1 4
(any four)
38. |a) Refraction of light 1
b) Change in speed of light when light moves from 1
one transparent medium to another
C) decreases 1
d) It will go straight, without any deviation / 1
bending / no refraction
e) More is the optical density of a given medium, 1 4

less is the speed of light in it and viceversa.
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CLASS VIII
DESIGN
I. Weightage to learning objectives :
Objective Knowledge/ Understanding | Application/HOTS | Skills | Total
Suggestive Marks 44 28 8 80
II. Weightage to form of questions :
Form of Questions MCQ/AR CBQ | SA1|SA2 LA Total
No. of Questions | 10(MCQ)+2 (AR) 2 8 8 4 34
Marks Allotted 12 8 16 24 20 80
ITI. Scheme of Sections :-
Section I (MCQ/ AR) :10 (MCQ)+2(AR) Questions : 1 mark each
Section II (Case Study Based Questions) : 2 Questions : 4 marks each
*(each having 3 sub parts as 1+1+2)
Section III SA1 : 8 Questions  : 2 marks each
Section IV SA?2 : 8 Questions  : 3 marks each
Section V LA :4 Questions  : 5 marks each
IV. Scheme of options :-
No overall option, only Internal choice in 8 questions.
- In each Case Study Based Question there is a choice in the two-mark question.
- 2 questions in Section III
- 3 questions in Section IV
- 3 questions in Section V
V. Weightage to difficulty level :
(1) Difficult questions 16 marks 20%
(2) Average questions  : 48 marks 60%
(3) Easy questions : 16 marks 20%
VI. Abbreviations Used :
HOTS : Higher Order Thinking Skills AR : Assertion-Reasoning
CBQ : Case Based Question SA 1: Short Answer Type 1
MCQ : Multiple Choice Questions SA 2 : Short Answer Type 2

MATHEMATICS (2023-2024)

LA : Long Answer Type
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MATHEMATICS
(CLAS VIII)

Model Test Paper - I
Time Allowed : 3 Hours Maximum Marks : 80

afrefed 999 : 3 He AfeRdd 37k : 80
General Instructions :

1. The question paper consists of five sections :

*  Section I Question No. 1 to 12 are of 1 mark each. (10 are MCQ Type and 2 are
Assertion reasoning type Questions.

*  Section II Question No. 13 and 14 are of Case Study Based Questions. Each case
study has 3 case-based sub-parts, two of them are MCQ type (1 mark each) and
third subpart is a short answer type (2 marks) having internal choice

*  Section III Question No. 15 to 22 are Short Answer Type questions of 2 marks each.

*  Section IV Question No. 23 to 30 are Short Answer Type 2 questions of 3 marks each.

*  Section V Question No. 31 to 34 are Long Answer Type questions of 5 marks each.
2. Please write the serial number of the question before attempting it.

3. In questions of constructions / graph, the drawing should be neat, clean and exactly as
per the given measurements. Use ruler and compass only.

4. All questions are compulsory. However, internal choices have been given in some
questions.

Wﬁéﬁ:
. -1 & 5 ©E © -
e @e | ¥ uw HWEm 1 ¥ 12 q% Tgfehedieh YRR % WA €, fo W yee @1 1 3 2
ewE I § uv7 Hem 13 3 14 &9 = Ui o 21 9% &9 e § 3 hg-aeia
IU-9 & I 9 T Tgfashedid YR (Y& | 3eh) € SR dE SU-9 Tk Hiew ST YR
(2 &%) ¥, fomd st faseq 2
o @e [II ¥ yea F& 15 ¥ 22 oY S0 WhR | & WA €, o ¥ Yok & 2 3 €,
o e [V  9e W& 23 § 30 d%h ST YR 2 % WA €, fEd 9 wew & 3 3 €
ewE V ¥ U3 Hea 31 9 34 4 It yeA € o U e % 5 3% 2
2. Y SURA G B 2 YA (2 ek UIA), 2 Ak b 3 YA, 3 A b 2 YAl AN 5 B & 1
e W ool Saies faehed YgH fohan T 71
3. FYA Y 1 YA FE U UEA Y A & STER & YA H FHHG |
4, FEREAE & 9 o, TET -Gl 3k Ky T A % HUR e wfEu ®or SR UM w
T e ]
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SECTION-I (@Ug - 1)
The value of . [172 _152 is:
\/m * AE B
(@) 32 (b) 1/8 () 2 (d) 8
310°+9% _13 is equal to
o
(@) 12 (b) 10 (© 9 (d) 18
if 3* =81 then the value of x* is
Ifg 3% =81 B, @l x* H HA B
(@) 2 (b) 9 (c 3 (d) 4

il
6

The value of (0.000064) ¢ is

(0.000064)%5$T oM e

(@) 3125 (b) 5 () 2 (d) 32
The coefficient of x in the product (x+5)(x+4) is:

TUAEE (x+5)(x+4) |, x 1 TN &

(@) 20 (b) 5 (c) 4 (d) 9
In the given figure, if AB| | CD, then the value of 'x' is :

& T emepfa ®, A AB||CD ®, @ 'x' @ HA @:

v

p=
Loy
==K J

3x

v

N
\Q'
=
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10.

(@) 80° (b) 10° (©) 36° (d) 720

If the measure of an exterior angle of regular polygon is 72° , then number

of its sides is :

afg Weh Fafa ag9S % Tk 98 HI0 H1 A 720 ¥, q TGS i qone
aﬁw%

(@) 6 (b) 4 (@ 5 (d) 3

The distance between the points A (2,2) and B (7, 2) in a Cartesian plane is :
Tt qel o fageil A (2,2) 3R B (7,2) & = &I g €

(@) 2 units (b) 3 units (c) 4 units (d) 5 units

When the diameter of the base of a cylinder is halved and its height is

doubled, its volume will

(@) remain the same

(b) become half of the original volume
(c) be doubled

(d) be one fourth of the original volume.

9 T o YR & oA Hl ST A SR S AT fHar S, af
ST S

(a) HAE &

(b) TET © T B SCmW

() USS & T B SIQW

(d) Ted H TH-SIeE € S

Two cubes each of side 5cm are joined end to end. The total surface area of

the resulting cuboid is :
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11.

59 qemstl aret J WHE WAl oI, RN W fHem #R W@ T 39 YER 9H
I T e YO &he e

(@) 125cm? (b) 200 cm?
(c) 250 cm? (d) 400 cm?

Direction :- In question numbers 11 and 12, a statement of assertion (A)
is followed by a statement of reason (R) Choose the correct

option out of the following :

a) Both assertion (A) and reason (R) are true and reason (R) is the correct

explanation of assertion (A)

b) Both assertion (A) and reason (R) are true but reason (R) is not the

correct explanation of assertion (A)
c) Assertion (A) is true but reason (R) is false

d) Assertion (A) is false but reason (R) is true

U9 W@ 11 3R 12 & fomw S wee fou w #- we @ srfveRes
(A) 3T g &I ®RUT (R) kel T4 &1 - fou e /e /e (i),
(ii), (iii) 3 (iv) ¥ 37 Yo & WE SUT Rl oG AT

(a) @T9FHUT 3R FROT A T & 3 FROT ARTRA T el FRe Ll

2l

(b) 2R 3R FRU I T © kT RO AMTFRSA H1 T&l A& T
EaGIY

(¢) @AfFaT 9 B aifhd SRUT 3/ 2

(d) fsher 3 T Afh FRO T 2
Assertion (A) : The distance of point A (3, 4) from the y-axis is 3 units.

Reason (R) : Any point lying on the y-axis is of the form (y, 0)

afirepe (A) : 65 A (3,4) T y-3181 ¥ T 3 HhE T
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12.

FRO (R) : Tft fog & y-o1¢1 R feom € & o (y, 0) €

Assertion (A) : A quadrilateral ABCD in which AB=4.5cm, BC=5cm,
CD=3.8cm, DA=4cm and diagonal AC=8cm, cannot be constructed

Reason (R) : In a triangle, the sum of the lengths of any two sides is always

greater then the third side.

afgwed (A) : TH ga9sl ABCD 588 AB=4.5cm, BC=5cm, CD=3.8cm,
DA=4cm 3R fashol AC=8 Cm%, W A G99 &l %I

HROT (R) : BI9qs & foreel < syoneti 1 4 el st 9 =g e 2

Section II (GE II)

CASE STUDY BASED QUESTIONS (@ 3Temfia U9 )

13.

13 and 14 are Case Study Based Questions. There are three subparts out
of which two are MCQ type carrying 1 mark each and one short answer
question of 2 marks having internal choice. Attempt all subparts of each

question.

13 3R 14 %9 = Ui yed 21 & § 9 99 7dm € o @
Tgfashedia TR €, fod Ui 1 3fF 1 € SR Tk 2 3k At o S|
e | 3fidfien foshed 1 T w9 % @t SU-9m i |

CASE STUDY-1

During festival season, the shopkeepers offer different type of rebates in

order to increase the sale.

Inevery suchsale, anitemis tagged with a card and its price called MARKED
PRICE (MP) is written on it. The shopkeeper offers a certain percentage of
rebate known as DISCOUNT % (D%) on it.

At AJAY SALES, during one such sale, the marked price of a Computer is X
50,000 and discount offered is 10% Also, the store offered 20% discount on the
marked price of a Washing Machine whose Selling Price (SP) was  25,200.
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13.

Based on tho answer the following questions:
(i) The discount received by a customer on computer is :
(@) 500 (b) 5,000 (c) 45,000 (d) 55,000

(ii) The formula to find SP, when MP and D% is given :

MPx(100+D%) MP (100 - D%)
a bl Sl i by sp=“—"2AV 8
@ sp 100 ®) 100

MP x100 _ MPx1
© SP=l00-Dw) () 5P= 00+ D%)

(iii) Find the MP of the Washing Machine.

OR
Find the SP of the Computer if the discount is same as on Washing Machine.
%Y wel-1
TR & W99 % RA HAER fawt 989 & fau fafe= yar #5192 g5H
w1 2
T UH A H, T Ve FI TH FIE b W I FA 0 T SR TR Fww

5 eiffhd 7o (MP) 81 Sl 8, 36 R fofan Sl €1 SheR &2 1 Th
e wfeera we@ e © 5 sz % (D%) % &9 § S S @1

g ol H, THi Th U & SWH, wER fgen sifha ged T 50,000 2,
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14.

SH R 10% H B2 T B 3T A, ©R A S ik & sifed go
T 20% ki e &, TGt fashl goa1 (SP) ¥ 25,200 ol

SR @ u*r—ﬁ'sr% IW T
(i) IR | TF Teh H el 32 2
(@) T 500 (b) % 5,000 (c) T45000  (d) T 55000

(ii) 9 MP 3R D% f&an 7= =, at SP & 71 % &1 g T
_ MPx(100-D%)

MPx(100+ D%) b

a il St SP

@ sp 100 (b) ” %88
MPx100  MPx

© 5P ={io0-pw) () SP= 00+ D%)

(iii) SR 92 % sifhd qea 1 [ SR
OR (3797 )

Ifg R R AT AL F THA w2 7, A FEAX & okl oI H A
HISQ)

CASE STUDY-2

In a hospital 30 patients were admitted and their pulse rates (per minute)

were recorded as follows:

61 79 68 62 73 74 63 73 78 76
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14.

68 76 72 69 71 71 71 72 60 80

73 75 72 73 78 81 66 64 75 71

To analyse the data, a frequency distribution table was prepared with class
intervals of the type 60-65; 65-70 etc.

Based on the above information, answer the following questions:
(i) The range of the data is

(@ 15 (b) 18 (c) 20 (d) 21
(ii) The class size used for making frequency distribution table is

(@ 5 (b) 10 (c) 60-65 (d) 62.5
(iif) In which class interval, the maximum number of patients are there?
How many are there?
OR
Find the class mark of the Class interval in which minimum number of

patients are there.
HY -2

T A § 30 AR bl 9l ha@n T o1 3R 3R 9o X (ufa fie)
R 3 ® T

61 79 68 62 73 74 63 73 78 76

68 76 72 69 71 71 71 72 60 80

73 75 72 73 78 81 66 64 75 71

[ 187 ]



15.

16.

17.

T SThel o1 faveruu & & fau, T eAgfa foaaor afaedt 60-65: 65-70

afe YR & ol Sfauell & WY AN F T
IR SR & 3R R, frefafed gef & s 2
(i) eTishel 1 TRET R

(@) 15 (b) 18 (©) 20 (d) 21
(i) emgf foawor dfernt =M & fw s9=im feman S aren o TR @
@ 5 (b) 10 (c) 60-65 (d) 62.5

(iii) Tre ol & sfquel o, eiferhae AR 1 HEm B 3R 9 fhad €72

a0

39 1 Sfaa # ot faeT 9 R e =Een W 2
Section III (@T III)

Find the smallest number by which 3750 must be multiplied so that the

product becomes a perfect square.

€ o B WeA A hitsQ 99 3750 1 ON HA W FE Tk Yol o
&A1 51 S|

Find 'x'if :
HT HH F1d hitoa afg:-

(82 _72)x :33 X53

At what rate percent p. a. will a sum of ¥ 1000 amounts to ¥ 1102.50 in 2
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18.

19.

20.

21.

years when compounded annually?

Thgfs =& 1 form <X gfae aiftis & 21000 T TR1 299 F T1102.50
B S, S for oS aiftier waisa g 22

Factorise: 164%b— 645>

UGS HINT ¢ 1642 - 64b°

OR
Factorise: 2 —(b—c)?
UGS HifeT : a® —(b—c)?
Solve for x: x 1 :f+1
2 5 3 4

% fou eat wifoe ¢ X-1ox, 1
X T 25 3 1
In the figure given below Z1=62°and £2=118° show that lines m| |n

J= @ T emepfa § £1=620 3R £2=118° Tag witsT fF @@ m| |n:

/t
<o o—>

The length of a pair of adjacent sides of a rectangle are in the ratio 3:4. If

its diagonal is of length 20cm, find the lengths of the sides of the rectangle.
Teh 3MFd i TG st sl Targal i ST 3:4 7, 9% foerol Y g
20 Gt ®, Al I H1 qeneti *1 AIY AG HifEw)

OR ( 319q@r)

An exterior angle of a parallelogram is 70°. Find all the interior angles of the

parallelogram.
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22.

23.

24.

25.

IfE T G =TqYs & TH aEF HIO H1 WY 700 ® A AR wqHS &
gfl T T AT TG BT

An unbiased dice is thrown once. What is the probability of getting.
a) anumber greater then 3

b) a multiple of 3.
T HRT 99 & T 9K 39Tl ol 81 9 & o/ 1 Wifvear 9
HifSE|

a) T §ea S 3 9 el
b) 3 H N
SECTION -B (@UE - &)

Three numbers are in the ratio 3 : 4 : 5 The sum of their cubes is 27000, find
the numbers.

o Gestl w1 U 3:4:5 B S SAl 1AM 27000 ¥ FEAW A
it

If 221 —4*!' =64 Find the value of x
g 22 _4 264 T, A 'x' H T [ KT
OR ( 37aT)
If 61 =36 and 72¥ ! =7¥*3 then find the value of %+§
i 61236 T p2-1_7v9 B, 4l %+§ %1 HE 1A HiTSQ)

A contractor with a workforce of 420 men can complete a work of
construction of a building in 9 months. Due to the request by the owner,he
was asked to complete the job 2 months before the scheduled time. How

many extra men, he must employ to complete the job.

Teh ShaR 420 AR & T o WY Th ARG hl 91 1 HE 9 TEH o
T FR Gehall | foreg Wifersr o Fider o1 ER 4% $ARG oA w1 %W Fruifa
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26.

27.

28.

29.

99 9§ 2 9N usd @ed TR S A fRdd iR sTefiEl w1 s gn
Simplify (¥X hHIfSIT) @

(Bx+ 7y)2 -(3x— 7y)2

OR ( 31<r@r)

1 1
If x2+—2=7 find he value of X+
X

BIEy x2+xi2=7 g, x+% 1 T FG it

Find the difference between the quotient and remainder when (x°- 6x2 + 11x
- 6) is divided by (x+1)

TGUR (x3- 632 + 11x - 6) Il (x+1) H 9T T W Y 9ATHS q ATHA hl
A A HIfeTT)

In the figure given below, if AB| | CD, ZBDC=30° and ZBAD=80°, find the

value of x, y and z.

T smRfa W, Ak AB| |CD, ZBDC=30° 3iR /BAD=80° &, @l x,y X z
! AT Fd HIFST

D \ C

A >
On a Cartesian plane, draw a square A B C D whose 3 vertices are A(2, 3),
B(5,3) and D(2, 6). Find the co-ordinates of the vertex 'C'. Also, find its area.

T HIAEF T, | TH a7 A BCD d°T, s @ f&ema A2, 3), B, 3)
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30.

31.

R D, 6) Bl fag 'C' & féwriar @ FIFTT qon SHR1 S5kt 1@ HiferU)

Alternate Question For visually challenged students in lieu of Q. 29

I have X 1000 in ten and five rupees notes. If the number of ten rupee notes
that I have is ten more than the number of five rupee notes, how many notes

do I have in each denomination.

UYT HET 29 & WM W eheenfud Bl & fou Jefeus g

W qE 210 SR IS H A ® ®T H we 1000 H AR BN AR 210 A
T T HEM T5 e A w G@ W 10 A € d W T TIE TR
&% fohaa-forda e 21

Rohan was very happy to make a symmetrical cut out of a hut in his craft
class and showed it to his maths teacher. The cut out made by Rohan is
shown in the figure given below. Find the area of the hut using the given

dimension. (all dimension are in cm)

e 79 Foreuepan W T St ¥ 9ufHd e oSS oA T d'd Gl ol
3R SHA e T W 1eATdeh @ UeA g S T Hhestse T
o fe@man wn g1 § v famet 9 et o aswd o it (gt famnd
q # § T F)

o

s F i E
SECTION -5 (G@US - S.)

The production of a mobile phone company in 2019 was 8000 mobiles. Due
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32.

33.

34.

to increase in demand, it increased its production by 15% p.a. in the next
two years and its production decreased by 5% p. a. in the third year. What

is the production of the company after 3 years?

Teh HiEEe HEET A 2019 § 8000 HISTESH i Scdred fwmaml | sS4 89 &
HROT M T a9 &F AT FEAT F ST 15% p.a. F@T R AT 9 AW
FH BH H BN IARA 5% p.a. FH T &7 o6 & € HEAT H AR
1 B2

Five years ago, Shikha was thrice as old as Honey. Ten years later from

today Shikha will be twice as old as Honey. How old are they now?
5 a9 vgd, fren ®t g, T *I Y H A A o A W 10 TW AR,

foren 1 g =1 &1 T I ST EN| A T IqHM T AG DI
OR ( 37erarm)

The denominator of a fraction is 6 more than its numerator. If 2 is added
to both the numerator and the denominator, the fraction becomes 1/2 Find

the fraction.

Th T B TR W W 6 atfue B 9fE TEe ¥ SR e e W 2
Sier ST, d ¥E 12 59 S 2 9= T st

Construct a quadrilateral MARS in which MA=5.5 cm, AR=4 cm, ZM=105°,
ZA=75°, ZR=120°. What type of quadrilateral it is?

T IqHst MARS & &1 SIS {595 MA=5.5 cm, AR=4 cm, Z/M=105°,
ZA=75°, ZR=120° ¥ TE T FhR 1 =g 772

Alternate Question For visually challenged students in lieu of Q. No. 33

Find the square root of 5, correct up to 3 decimal places

W9 W& 33 h M W ghearia Bt @ o Sehfedss uvd
5 o1 A 3 TYHS TAF qoh Y TG hIST

The barrel of a fountain pen, cylindrical in shape, is 7cm long and 5 mm
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in diameter. A full barrel of ink in the pen will be used up on writing 330
words on an average. How many words could be written with a bottle of

ink containing one fifth of a litre (Take = = % )

Th I ol U9 i SeehR 2t Wl oW Smm AR o 7em ®1 AR
F IE T W g€ ® A S 330 T o W wehd ?) AR uw @R w
Wﬁl/SFﬁHW%,ﬁW@WWWWW%ani—Z)

OR ( 3@ )

A carton of soft drink contains 30 cylindrical tin cans, each having a base
diameter 8cm and height 14 cm. To increase the profit, the company decided
to fill only three-fourth of each can. If the cost of drink is X 0.1 per ml, find
the total cost of the drinks kept in the carton.

T fesd o 30 SoeR U9 T & fo €, ww fed % omum W oarw gut
AR ST 14 U, B HEA T A AW ATk HH * fow Th oA w6 3/4
T T & fv=a fmam Az 1faeh 99 9= 1 9o 2001 ®, @ W fes o
99 91 AT Hed A hiTeU)
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MATHEMATICS

Model Test Paper - I
Maximum Marks : 80
MARKING SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by the candidates,
be suitably awarded. )

13(')_ VALUE POINTS/ KEY POINTS %ﬁi‘}%& I\T[g;ils
Points
SECTION -1
1. |(d)8 1 1
2. (@12 1 1
3. |(A)2 1 1
4. |(a)3125 1 1
5. |(d)9 1 1
6. |(c)36° 1 1
7. |(c)5 1 1
8. | (d) 5 units 1 1
9. | (b) become half of the original value. 1 1
10. | (c) 250 cm? 1 1
11. | (c) Assertion (A) is true but Reason (R) is false 1 1
12. | (a) Both Assertion (A) and Reason (R) are true and and
Reason (R) is the correct explanation of assertion (A) 1 1
SECTION - 11
13. | (i) (b) 5000 1 1
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Marks

S. Allotted to
No. VALUE POINTS / KEY POINTS each value l\rl/igﬁl(ls
Point/Key
Points
(i) (b) sp=MEx(00=D%) 1 1
100
SPx100
(iii) (b) MP (of Washing Machine) = 1OOX— D% Ya
25200x100
= 100-20 &
_ 25200100
80
=331500 1 2
OR
D% =20%
S.P of Computer = W 1y
_ 50000x (100 —20%) 1,
100
_ 50000x80
100
= 340,000 1 2
14. () (d) 21 1 1
(i) (@ 5 1 1
(i) 1 1
Class Intervals | Tally Marks Frequency
60 - 65 it 5
65-70 I 4
0-75 i o | 12
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Marks

13('). VALUE POINTS / KEY POINTS %Egﬁgg Jlgiils
Points
80 - 85 I 2
70-75 Y2
Number of patients = 12 Ya
OR
Correct table 1
Class mark of class interval with minimum number of
Patens = % =825 1 2
SECTION - I1I
15. 2 | 3750
3| 1875
5| 625
51 25
51 5
511
3750=2><3><5|_><|5><5|_><|5 "
3750 must be multiplied by 6 so that the product becomes
a perfect square Ya 2
16. | (8-7)*=3 x5
(15)* = (3x5)° Yot Vo
(15)* = (15)° 2
=>x=3 2 2
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Marks

Allotted to
No. VALUE POINTS / KEY POINTS o A I\T[g:ils
Point/Key
Points
}’ n
17. | A= P(l + ﬁj
2
1102.50 = 1000(1 + Lj
100 173
1102.50 ( r jz
=1+ —
1000 100
(18 v
100) 100 T
105 r
= 1 1
100 L 100 /2
_r 105
100 100
r_5
100 100
= r=5 14 )
18. |16 a?b-641b°
16 b (a2 - 4 b?) 1
16b (a - 2b) (a + 2b) 1 2
OR
a’- (b -c)?
=la-(b-¢c)][a+ (b-c)] 1
=(a-b+c)(a+b-c) 1 2
x 1 x 1
B 127573%
_ox 1. 1.1 1
2 3 4 5 /s
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( s
Point/Key
Points
x_9 1
6 20 /
9% 6
= x=" )
27
= x=7y or 27 or27 2 1
10
20. / ;
m
1
"
n
/é/ :
L3=2/2 =118° 2
Here £1+ £Z3 =72°+118°
= 180°
Because the co-interior angle are supplementary. 1
S m]||n 2 2
21. D C 2
3x
20
4x
A B
Let the sides be 3x and 4x 2

(AC) = (AB: + (BOY
(20)? = (dx)? + (32
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Marks

13('). VALUE POINTS / KEY POINTS %E:‘/j’é gfg Jlgiils
Points
400 = 16x + 9x?
400 _ 2
25
x=4 Y2
~. Sides are 12 cm, 6cm P! 2
OR
D C
3 2
4 L N0
A B
Z1+70°=180°
S Z1=180°=70°=110° 2
Also Z3=/1=110° 2
Now £3 + £4=180°
Z4=180°-110° =70° 2
L2 =/4=770°
s LI=110°, £2="770°, £3=110°, £4="70° 2 2
22. |a) Possible outcomes =4, 5, 6
P(a number greater then 3) =3/6=1/2 1
b) Possible outcomes =3, 6
P(a multiple of 3) =2/6=1/3 1 2
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS oy A l\rl/ig:ils
Point/Key
Points
SECTION -1V
23. [ Let the three numbers be 3x, 4x and 5x Ya
ATQ (3x)* + (4x)® + (5x)* = 27000 Ya
= 27x% + 64x% + 125x° = 27000 2
= 216x° = 27000
= x*=27000/216 =125 Y2
= x=5 2
The numbers are 15, 20 and 25 Ya 3
24. 2(2x—1) _22(3{—1) — 64
= 2(2x—1) _22)672 — 64: 1/2
2x 2x
22 e
= 2 2 2
2x
2 (1 —1] =64
= 2 2 1/2
2x
23
= 2 2 1/2
= 27 =64x4
= 2%=256
= 22x — 28 1/2
= 2x=38
= x=4 7!

OR
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgrel‘( s
Point/Key
Points
6" =36
3 6x—1 62 1/2
= x-1=2
= x=3 1
72y*1 — 7y+3
= 2y-1=y+3
= y = 4 1
y x_4.3
x y 3 4
25
=5 1 3
25. | Let the number of men required to complete the work in
7 months be x 2
No. of men 420 X
Month 9 7
This is a case of inverse variation 2
420x9=xx7
_ 420x9
= x=—
= x=540 1
Extra men required = 540 — 420
=120 s
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgri .
Point/Key
Points
26. (3x+7y)2 —(3x—7y)2
= (Bx+ 74 +3x-70) (35 +7y - 35 +7y) 2
= (6x)(14y) s
= 84xy 1 3
OR
2
[x‘f‘%j =x2+xi2+2><x><% 1
, 1
=x2+—+2
x°+ = +
1 2
(x+;j =74+2=9 1
1
X+ ; = 1 3
27.

3+x2

x+1 ?—6x2+11x—6 2 _7x+18
©

©

— 712+ 11x%2-6
— Ix?-Tx
@' @&

18 — 6
18x +18
e

24

Quotient — Remember

=  xX*-7x+18-(-24)
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Marks

S. Allotted to
o VALUE POINTS/ KEY POINTS B ettec t0 l\rl/;g:ils
Point/Key
Points
=  x*-7x+18+24
=  x*-7x+42 12 3
28. |AB||CD
= /x =30° (alternate angle) 1
In AABC
y+x +80°=180°
y =180° -110°
=70° 1
In ADBC,
30° +y —30° + z=180°
30° + 70° — 30° + z= 180°
z=110° 1 3
29. [ v
6t o N
® Q
57 |
|
47 [
|
3 |
|
27 ® 6
Y { B
| | 1 ! X
0 1 2 3 R 5 6
Correct plotting of A (2, 3) B(5, 3) and D(2, 6) 12

Coordinates of vertex C(5, 6)

P!
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Marks

13('). VALUE POINTS / KEY POINTS %Egﬁ gfg J[g:ils
Points
Area of ABCD =3x3
=95q. Unit 1
for visually challenged students
Let number of five rupees coins be x then number of 10 2
rupees coins =10+ x
ATQ 10(10 + x) + 5x = 1000 1
100 + 10 x + 5 x = 1000
x =60 1
. Number of 5 rupee coins =60
and number of 10 rupee coins = 70 ] Ya 3
30. | BD=BE-DE
=7-4=3cm Ya
or ABDC = or AAGH= %Xbx}l
- %x 43
= 6cm? 1
or  [JABEF =FE x AF
=6x7=42cm? Y2
Required area
= ar ABDC + ar AAGH+ ar [ ]JABEF
=(6+6+42)cm?
= 54cm? 1 3
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Marks

13('). VALUE POINTS / KEY POINTS %Egﬁ gfg J[g:-‘il(ls
Points
SECTION -V
B1. P|= Number of mobiles in 2019 = 8000 Ya

A = Number of mobiles after 3 years

= 8000(1+%j2 x(l—%j 2

- 8000@—3}2 x[%j 1

= 8000x 2 x2x 2

=23 x23x19

=10051 1
-.Number of mobiles after 3 years = 10051 Ya 5

32. | Let the present age of Honey = X y1S.
. his age five Years ago =X -5 yrs. 1
Age of shikha five years ago = 3(x-5) yrs.
= 3x-15 yrs.
Present age of shikha =3x-15+5 1
= (3x-10)yrs.
Ten year later
age of Honey = (x+10)yrs.
age of shkha =3x-10+ 10 1
= 3xyrs.
ATQ
3x = 2(x+10)
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Marks

13('). VALUE POINTS / KEY POINTS %E:‘/j’é gfg Jlgiils
Points
= 3x=2x+20
= x=20 1
.. Present age of Honey = 20 yrs. Ya
Present age of Shikha = 60 yrs. Ya 5
OR
Let numerator be x
.. denominator = x+6 2
Now numerator = x + 2 %3
& denominator = x + 6+ 2 2
= x+8 2
~ATQ zig - % 1
= 2x+4 = x + 8
= x=4 1
.. Fraction is % 1
33.
¢ B A
Draw MA = 5.5cm 2
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Marks

S. Allotted to
o VALUE POINTS/ KEY POINTS o A l\rl/ig:ils
Point/Key
Points
Constructing /M = 105° 1
Constructing ZA =75° 1
Finding point R such that AR = 4cm Ya
Constructing ZR = 120° 1
Finding points S and Join MARS 2
It is a Trapezium Ya 5
for visually challenged students
2.2360
5. 00 00 00 00 !
2| 4 Ya
100
42| 84 V2
1600
2
443 1329
27100 Ya
4466 26796
2
30400
44720 0000 1,
30400
V5 =2.2360
= 2.236 (approx) 1 5
34. > !

d=5mm= =2
10

-5 -
r= 20 cm = 0.25 cm

P!
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgr:il( s
Point/Key
Points
22
Volume of barrel = [7 x0.25%0.25x nj
=1.375 cm?® 1
Volume of ink in the bottle =
1 of litre = @cm3 1
5 5
= 200cm?
.. Total number of barrel that can be filled from the
given volume of ink = % 1
So, required number of words
200
= mx?’oo = 48000 1 5
OR
Diameter of cylinder = 8cm
Radius of cylinder = % =4cm Ya
Height = 14cm
vol. of tin can = nr’h
=2 x4 x4 x14
7
=704 cm? 1
Volume of soft drink in each can
= E x 704
4
=528 cm® 1
=528 ml (1Icm® = 1ml) Ya
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgr:il( s
Point/Key
Points
Cost of drink in 1 can =528 x 0.1 1
=3¥528
Cost of drink in 30 can =52.8 x 30 =% 1584 1 5
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MATHEMATICS
(CLAS VIII)

Model Test Paper - 11
Time Allowed : 3 Hours Maximum Marks : 80

afrefed THT ;3 e AT 3T : 80
General Instructions :

1. The question paper consists of five sections :

* Section I Question No. 1 to 12 are of 1 mark each. (10 are MCQ Type and 2 are
Assertion reasoning type Questions.

*  Section II Question No. 13 and 14 are of Case Study Based Questions. Each case
study has 3 case-based sub-pats, two of them are MCQ type (1 mark each) and
third subpart is a short answer type (2 marks) having internal choice

*  Section III Question No. 15 to 22 are Short Answer Type questions of 2 mark each.

*  Section IV Question No. 23 to 30 are Short Answer Type 2 questions of 3 mark each.

*  Section V Question No. 31 to 34 are Long Answer Type questions of 5 marks each.
2. Please write the serial number of the question before attempting it.

3. In questions of constructions / graph, the drawing should be neat, clean and exactly as
per the given measurements. Use ruler and compass only.

4. All questions are compulsory. However, internal choices have been given in some
questions.

Wﬁlﬁ'ﬂ:
. -1 & 5 @S © -
e @ | ¥ yw WEm 1 ¥ 12 7% agfahedis YR % W €, o ¥ T 1 3 B
ews [I & wvd WEAl 13 3R 14 $¥ Wl i 939 B TF &9 WS H 3 HE-3Y
A ST-9M € 378 | T Sgfashed™ YHR (Td® | k) € AR dex Su-9m uh gk
IW YHR (2 FF)T, Toad siafes faweq g1
o we II & wed W& 15 | 22 o S90d YR | & WA €, o 9y & 2 i §
o @e [V © W @& 23 | 30 doh ST FhR 2 % WA €, fo ¥y & 3 o 2
e Ts V H v HeA 31 ¥ 34 <" 309 WA ® o @y & 5 3w 2
2. HE UG G ® 2 G (2 3k YTA), 2 B & 3 G, 3 B ® 2 G AN 5 HH B |
e | e Saies foaeed weM fHe T R
3. P9 YA B T HH ¥ U T T F STIER & UIH H HHS a6
4, FERFEATE & I 4, TET AH-gad 3R Ky 1T A % HER e et ®er 3R U
g s AR
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SECTION -1 (@US - 1)

If V256 —x=+12100  then the value of 'x'is :

I 256 -x=412100 2 @ v F AA &:
(@) 94 (b) -94 (©) 126 (d) -126

If the selling price of a book is thrice the cost price, then profit % is :

I Tk TEF H ORI G 3EH FF Gord H A TR, A A vfaw €
(@) 50 (b) 100 (©) 200 (d) 300

Which of the following is the correct algebraic identity?

T ¥ B o W w82

(@) (x+a) (xtb) =x?+ (atb)x+ab
(b) (x+a) (x+b) =x>+ (a-b)x+ab
() (x+a) (xtb) =x2-(atb)x+ab
(d) (x+a) (x+b) =22+ (a+b)x-ab

The degree of the polynomial (x*- 1) (x*+ 2) is :
TEIR (x2-1) (+2) I oM@ & :

(@ 2 (b) 4 (© 0 (d) 1
The value of x that satisfies the equation 1= 5 is:
X+
L s rwmAm R
x+1
—4 4 5 5
@ - ®) + © 2 @ 2

In the given figure, if AB||CD, and CD || EF, then the value of 'x'is :

& T aRfa §, A AB||CD 3R CD||EF d 'x' &1 HIY ©:
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P
B\J" Dja J/F
(@) 125° (b) 25° (c) 135° (d) 55°

7. Inthe given figure, the value of 'x'is :

ﬂﬂﬁwﬁfﬁ'x'aﬁm%:

(@) 90° (b) 1.30O (c) 110° (d) 50°
8. The coordinates of the point of intersection of the x-axis and the y-axis are:
x- 3 3N x - F Uiaesed fog & e ©:
(@ 0 (b) O ) © ©0 (d) (v y)
9. The perpendicular distance of the point P (3, 4) from the x-axis is:
fag PGB, 4) F »-o18 ¥ ofd 3 2
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10.

(@) 3 units (b) 4 units () 7 units (d) 1 unit

If the perimeter of one face of a cube is 40 cm then the sum of the lengths
of all the edges of the cube is :

IfE Th ¥ B Tk BTk 1 GRAT 40 cm 7, @ 59 & Gt R b1 ezt
AN B

(@) 40 cm (b) 60 cm (c) 120 cm (d) 180 cm

Direction :- In question numbers 11 and 12, a statement of assertion (A) is

followed by a statement of reason (R). Choose the correct option

out of the following :

a) Both assertion (A) and reason (R) are true and reason (R) is the correct

explanation of assertion (A)

b) Both assertion (A) and reason (R) are true but reason (R) is not the

correct explanation of assertion (A)
c) Assertion (A) is true but reason (R) is false

d) Assertion (A) is false but reason (R) is true

U9 W& 11 3R 12 & fow & s fou 7w &- ue @ iR (A)

3T g &I HEUT (R) el & §) e fou 1w Fe /@ (a), (b),
() 3T (d) | 37 Uvil & WEl ST T o7 il
(a) 3fTReM 3R RO S Tod & IR HROT AR 1 Tl A& Hlal

2

(b) 2R 3R FRU I T © AT HRUT TR H1 T&l A& Ta
EaGIS

(¢) ATFUT T © wifhd SN0 39H 2

(d) &IfFaT 79 B AAfhT RO TF 2

11. Assertion (A): 13 +23+3%+4% =10
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12.

1
Reason (R) : (a" xb™)" =ab, a,b>0

SATFIT (A) 17427437 +4° =10

1

FRU (R) @ (4" xb™)" =ab, a,b>0

Assertion (A) : The present population of a village is 10,000 If annual birth
rate is 10.5% and annual death rate is 2.5%, then, population of village afer
a year is 10800.

Reason (R) : Net Growth Rate of Population = Annual birth rate - Annual
Death Rate.

e (A) : T Tiid & S09F SHES 10,000 T AR aiftie S &
10.5% © 3R lftieh G < 2.5% ©, @ Teh o¥ qg=T el 1 SEE 10,800
KRl

FRI (R) : SHHEA Hl Y§ g X = aftfh T X - aftish gog T

Section II (GBS 1II)

CASE STUDY BASED QUESTIONS (&®@ 3Temfia U9 )

13.

13 and 14 are Case Study Based Questions. There are three subparts out
of which two are MCQ type carrying 1 mark each and one short answer
question of 2 marks having internal choice. Attempt all subparts of each

question.

13 3R 14 ®g Wt i yod € i § i w9 g © o ¥
Sgfohedd TR €, fEd q&ieh 1 3w &1 € SR Th 2 3% o oy S
g3 | oTdfie fashed B Y&® 99 & 9t SU-AFT

CASE STUDY-1

A man buys an Industrial plot of land for X 3 crores. He sells one-third of it

at a loss of 20% and two-fifth of it at a gain of 25%.
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13.

Based on he above information, nswr the following questions:
(i) The selling price of land which is sold at a loss of 20% is :
(@) < 80 thousand (b) < 1.5lakhs

(c) ¥ 80 lakhs (d) ¥ 1.5crores

(if) The selling price of land which is sold at a profit of 25% is
(@) ¥ 80 thousand (b) X 1.5lakhs

(c) ¥ 80 lakhs (d) ¥ 1.5crores

(iii) At what price must he sell the remaining land so as to make an overall

profit of 10%?

OR

What overall profit% will he make if he sell the remaining land for 1

crore?
w9 WI-1

T AR 3 HUS IR STHIA T Tk AR qE Tl 31 9% HH Th
et fewm 20% =1 & W SR 2/590 fewmn 25% & o9 W o= 2
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14.

IR SRR & YR W, f=fafed g9 & W <
(i) 9% g St 20% 1 B R S S 2, SHH fowt god ©
(@) 80 TR (b) 1.5 @@

(c) %80 &@ d) T 1.5 R

(ii) @& 9 S 25% & o9 W o= Sl 8, SHhl faeht go €
(@) T80 &SR (b) T 1.5 @@
(c) T80 @ d) % 1.5 RIS

(iii) 39 39 qfH & forq HAT R 9941 =Y Mk I8 10% H1 A1H AfSid
T Th?

(31am)

Ifz a8 99 g 1w TR H S € @ o9 fha oy wfawa st
HAM?

CASE STUDY-2

The given pie-chart shows the games played by 1800 students of a school.
Each student plays only one game. Also, the school management allocated

a total budget of 3,60,000 for different sports in the same ratio as per pie
chart.
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14.

Based on the above information, answer the following questions:
(i) The number of students playing Badminton is
(a) 600 (b) 1200 (c) 1500 (d) 2000
(ii) The budget allocated for all the students playing Football is
(@) ¥30,000 (b) ¥ 40,000 (¢ ¥50,000 (d) ¥60,000
(iif) Find the total number students who play Cricket and Football
OR
Find the difference in the budget allocated for students of Tennis and Hockey.
%Y w2
f&an T wE-=E U ThHA % 1800 I NI Vel W ol Tl I 39l 2

T B HAd TH W Tl ¢ 39 STdl, Thel Eed 7 weft wel |
TEHR 3 & T, 3,60,000 1 Hel o5¢ GHHUE  3feted R 2
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15.

16.

17.

18.

19.

IR SRR & N8R W, fF=fafed g9 & W <

(i) SefieT Tor a s # gew §
(@) 600 (b) 1200 (©) 1500 (d) 2000
(i) Hesie G ol et Bl @ foq e ose €

(@) T30,000 (b) T40,000 () T50,000 (d) T 60,000

(iii) forehe 3R Heald TeH aTel I 1 A T& A Hife|

1

e 3R Bl & BE & fou stEfed asie § @ I wifs|
Section III (@T III)

Find the least number which must be subtracted from 54758 to make it a

perfect square.

o8 AqH & A Hifae, 9 54758 H 9 ®eM W T qU O Hea urw
il

Find the cube root of 91125 by estimation method.
91125 1 e, ke fafyr g1 I sife)
Evaluate: HM F1d ifST ¢ 327 +3/0.008 + 3/0.064
Factorise: TOM@ST IS : 64x2 - 81y>

OR (3AdTn)
Expand: JOR &Hifs@: (3x+2y-2)°

The lengths of the two adjacent sides of a parallelogram are in the ratio
5:3 and its perimeter is 320 cm. Find the lengths of the sides of the
[ 219 ]



20.

21.

22.

parallelogram.
Toh HHI S HT S e et Bl e i A 5:3 §1 AR
THHT IRAT 320cm ¥, A GEIR =S H Gl ensti 1 99 T R

OR (372fa)

Two opposite angles of a parallelogram are of measure (3x -2)° and (50 - x)°

Find the measure of each angle of the parallelogram.

Tk FHN TGS & I gE@ Hl H G99 (3x -2)° 3 (50 - x)° Bl HHK
=4S & 9 FIOT DT AT TG B

Volume of a solid cylinder is 6237 cm?®. Find the radius of the base of the
cylinder, if its height is 4.5 cm.

Teh S S 1 S 6237 cm® B A ded i SR 4.5 cm €, d "o
& YR i 5= wifem)

Find the height of a trapezium whose area is 65 cm? and the lengths of its
parallel sides are 13 cm and 26 cm.

If% Tk GHCS i GHIK ST H WY 13 cm 3R 26 cm ® MR gHHI
9% 65 cm’ © d 39 HHAE HI 9 G hITSU)

Numbers from 1 to 20 are written on twenty separate slips (one number
on one slip), kept in a box and mixed well. One slip is chosen from the box
without looking into it. Find the probability of getting.

a) amultiple of 4 b) a prime number

T W et | ¥ 20 9% forel € (TF W W T Hem)| 3% st 20
YR § fieiet ©h fesd o @ T B1 T W i AgesAl THehren S 2
Wkl 1 ShitSq o o W ferelt He-

a) 4 % TN 7 b) ST FE R
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23.

24.

25.

26.

27.

SECTION -1V (@Ug - IV)

The area of a square is equal to the area of a rectangle whose dimensions

are 48 cm and 27 cm. Find the perimeter of the square.

T a7 1 ATH I A B ATFA B GUR o) Fogert fam 48 cm
AR 27 cm B1 o 1 9REM @ SIS

3 3 2
Simplify (TR HifST) : (25)2 x (24;3)2 4x(32)5
(81)4 x83

A train 270 m long is running at 80 km/hr. How much time will it take to

cross a platform 130 m long?

T 270 m et el 80 fehetiex wiasiar =t wfa ¥ e W @1 T 130
et ofd <IEhH &l IR T § TE Toha1 9 oi?

OR ( 31<@r)

Ravi has enough money to buy 50 shirts each costing I 1400. How many

shirts he can buy, if he gets a discount of ¥ 400 on each shirt.

M & I 50 IS THE % Ty T o {1 Tw wHS R ged 21400 2
e Ferert IS Tl] Tehdl €, I SU Tk HHIS W T 400 T g2 et €2

If 3x - 4y =10 and xy = -1, find the value of 9x* + 16y*
RIS 3x -4y =10 3R xy =-1 %, ar 9x2 + 16y? <1 HM A eI |

OR ( 31<r@r)

Factorise (UA@ET hHIfST) : (64m? - 144mn + 81n? ) - 25p?

Using factor method, divide x* - 7x + 12 by x - 4

S 22 - Tx + 12 H [UFES HIWT 3R W x-4 § 9 g
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28. In the figure given below, 1||m||n and p is a transversal. If £1=50°, find a, b

and c.

& T pfa W, 1||m|n @R p Tk e @ B1 A€ £1=50° ®1 @ 4,b 3R
c &1 A F1d il

-

A 4

b
v

/

~

29. ABCD is a rhombus with ZADB=50°. Find all the angles of the rhombus.

ABCD T& Gregyst € & ZADB=50° 2| GHe=qes & @it vl i =g
BIGECAIS I

/\

D

VB
A

30. Ona graph paper, plot the points P(3, 1), Q(7, 1), R(7,4) and S(3, 4). Connect
the points in that order so as to get a closed figure PQRS. What type of
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31.

32.

quadrilateral do you get? Also, find the area of the figure so formed.

fagefl P(3,1), Q(7, 1), R(7, 4) ¥R S(3,4) &l MH W Mcifea Hifsw) feigat
+ SH wA ¥ fyend qifer Th &< eMpfa PQRS W B G| AUkl fHE
TR I FqS W B 22 I8 ft 9w R 59 YRR S TR 6
kel N B2

Alternate question for visually challenged students in lieu of Q. 30

Find the compound interest on I 15625 for 9 months at 16% per annum,

compounded quarterly.

Y99 G 30 & U W ghesniyd SEl & o Jehfeuss U9l

T15625 W 9 HEM 1 Tehdlg AN 16% i dMftieh 3 R A@ FHiSC, S
fop =t Sifaes &9 9@ "aifsa e 2

SECTION -V (@Ug - V)

The difference between the compound interest and simple interest on a

certain sum of money for 2 years at 7.5% per annum compounded annually

is ¥ 360. Find the sum.

foredt Uf¥t W o & fAw 7.5% A aififer A whdfg =N SR HHR
IS | T360 1 AR B, S AN aiftier A 2ar 71 TR Fd i)

A two digit number is such that the sum of its digits is 4. If 18 is added to

the number, its digits are reversed. Find the number.

Teh & Ahi ! GEA 3@ YR ¢ Tom 5@ fhl &1 4 4 2| A wem o
18 Sl ST df W& & 3 Yole W &1 & A shifer)

OR ( 31<r@T)

There are 100 M.C.Q in an exam. For every correct answer the student gets
5 marks and for every wrong answer 2 marks are deducted from the total

score of correct answers. If a student has attempted all questions and scored

[ 223 ]



33.

34.

220 marks, how many questions did he attempt correctly?

T Then § 100 M.C.Q U1 81 B Wl SW & oy ®F &l 5 3 fhed ©
3R Y& T IW B AU 2 IHF wRE W ¢l AR B oF gt g
YAE I © S 220 3k U HLl © q SHA fohad Gl 1 HEl SO fean?

Construct a quadrilateral TURN in which UR=5 cm, RN=6 cm, £T=60°,
ZU=90°, and ZR=120°.

T 994l TURN @& A1 &S ’SEH UR=5 cm, RN=6 cm, £T=60",
ZU=90° 3R /R=120° B

Alternative questions for visually challenged students in lieu of Q. 33.

Using long division method, check whether x* + 1 is a factor of x* - 4x* - 3x°

+ 3x + 2 or not

Y99 W& 33 & UM U SNEayd Sl & [0 Jehfcush 99|

A fafy &1 T ®eh, 0 BT foh T T8I a2+ 1 FgUR xt - 4a2 - 33 +
3x +2 1 Th OFES g A Tl
The parallel sides of a trapezium are of lengths 25 cm and 13 cm and the

non-parallel sades are equal, each being 10 cm long. Find the area of the

trapezium.

Th A 1 GHI S i A 25 cm R 13 cm € 3Ry
YA ST 10 cm A&l 1 THSAS T &% A1d iU

OR ( 3¥ar)

Given below is a picture of a photo frame whose outer dimension are 30
cmx25cm. The width of each border of the photo frame is 4 cm. Find the

cost of polishing the border of the photo frame at the rate of ¥ 2 per cm?*
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H= ww wEwH w1 o g e feed el SmEM 30 cm x 25 cm @
BREAPH & Y% fHIR A WIS 4 cm @1 BRABH & AR I wifewn wE
W T T witST, g wia o St s g T2 B
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MATHEMATICS

Model Test Paper - 11
Maximum Marks : 80
MARKING SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by the candidates,
be suitably awarded. )

13(')_ VALUE POINTS/ KEY POINTS %ﬁi‘}%& I\T[g;ils
Points
SECTION -1 (@Ug - 1)
1. |(b)-94 1 1
2. [(c)200 1 1
3. | (a) (x+a) (x+b) =x*+ (a+b)x +ab 1 1
4. |(b)4 1 1
5. |(a) = 1 1
6. |(a)125° 1 1
7. | (c)110° 1 1
8. |(c)(0,0) 1 1
9. (c) 4 units 1 1
10. | (c) 120 cm 1 1
11. | (b) Both assertion (A) and reason (R) are true but 1 1
reason (R) is not the correct explanation of assertion (A)
12. [(a) Both assertion (A) and reason (R) are true and 1 1
reason (R) is not the correct explanation of assertion (A)
SECTION -1I (@Us - 1II)
13. | Case Study-1
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Marks

13('). VALUE POINTS / KEY POINTS %Egﬁ gfg J[g:ils
Points
(i) (c) T 80lakhs 1
(ii) (d) T 1.5crores 1
(iii) Total profit earned on
entire land =10% of 3,00,00,000
=7 30,00,000 1
Total S. P of land =¥ 3,30,00,000
S.P of1/3"]land =¥ 80,00,000
S.P of 2/5% of land =% 1,50,00,000
S. P. of remaining land= % 3,30,00,000 - ¥ 80,00,000
-%1,50,00,000 =% 1,00,00,000 1
OR
S. P. of remaining land =% 1,00,00,000
S.P of 1/3" land =% 80,00,000
S. P of 2/5" of land =% 1,50,00,000
Total S. P of land =¥ 3,30,00,000 1
Total Profit on land =% 3,30,00,000 - % 3,00,00,000
=3 30,00,000 Y2
Profit % = %MOO%
=10% Y2 4
14. | Case Study-2
(i) (a) 600 1
(i) (b) 40,000 1
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Marks

13('). VALUE POINTS / KEY POINTS %Egﬁ gfg J[g:-‘il(ls
Points

(iii) Sector angle of cricket

= Sector angle of Badminton

(vertically opp. angles)

=120° Ya
Sector angle of foot ball = 40° Ya
No. of students who play cricket and foot ball

_ 2602 1g0010

3602/
=800 1
OR
Sector angle of Tennis = 180° - Sector angle of Cricket
(linear pair)

=180° - 120° = 60° Ya
Sector angle of (Hockey + football)

= Sector angle of Tennish = 60° Ya
Sector angle of Hockey = 60° - 40°

=20° Ya
Difference between the budget allocated for Tennis and
Hockey - —(60;6‘02000) x3,60,000

= S0 * 360,000 — 40,000 v | 4

360%1
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VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Points

Total
Marks

15.

16.

17.

SECTION -III (@US - III)

234
4758

Ao

o
w
—

4
2

o~

464 1858
- 1856
2

(o0}

2 is the least number which must be subtracted from
54758 to make it a perfect square.
91, 125
o I
Groupl : has 5 inits ones place Now 53 =125
So 5 will be at the ones place of the cube root
Group II' is91

64 <91 <125

4$<91<5°
So the smaller number between 4 and 5 is 4,

So, 4 is at tens place of the cube root

~391125 = 45
327 +30.008 + 3/0.064

a.a B, s 64
1000 ~ V1000
2 4

3

e
10 10

1%

P!

P

a

P!

P!
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Marks

13('). VALUE POINTS / KEY POINTS %Egﬁ gfg J[g:-‘il(ls
Points
=3+02+04 1%2
=3.6 Y2 2
18. | 64x? - 81y?
= (8%)2 - (Y, 1
using a? -b? = (a + b) (a — b)= (8x + 9y) (8x — ) 1
OR
(Bx + 2y - z)?
using (@a+b+c)*> =a’+b’+c* +2ab+ 2bc + 2ca
= (3x)? + 2+ (- 2P +2(3%) (2y)
+2(2y)(- z) +2(3x)(- 2) 1Y2
= Ox?+ 4y + 22 +12xy - 4yz - 6xz Ya 2
19. [ Let ABCD be a parallelogram
Let AB = 5x and BC = 3x 5
Since, opposite sides of "
a parallelogram are equal SRS
-~ AB=CD =5x cm
BC =AD =3xcm Ya
Perimeter of parallelogram = 320 cm
5x + 5x + 3x + 3x = 320 Ya
16x =320
30020
AT
x=20cm Ya
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Marks

13('). VALUE POINTS / KEY POINTS %E:‘/j’é gfg J[g:ell(ls
Points

~ AB=CD=5x=5x20=100 cm

BC = AD = 3x x 20 = 60 cm Ya

OR
Since opposite angles of a parallelogram are equal
(Bx-2)=(50-x) b
3x+x =50+2 Vi
4 x=>52
! A
x =13 - 2
S LA=2C=(3x-2)°
=3x13-2
=39-2
=37° Y2
ZA + ZD =180 ° (adjaccat angles of a
parallelogram are supplementary) 2
37°+ /D =180°
ZD =180° - 37°
ZD =143°
ZB=/D=143° 2 2
20. | Volume of cylinder = 6237 cm?®

Height = 4.5 cm
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Marks

Allotted to
. VALUE POINTS/ KEY POINTS B ettec t0 J[gfll(ls
Point/Key
Points
Volume of cylinder = nr’h Ya
6237 = 27—2 x 12 X 4.5
6237 x7
r’ =
22x4.5
= r’=441 1
= = V44l
= r=2lcm Y2
- Radius of cylinder = 21 cm 2
21. | Area of Trapezium = 65 cm?
Length of parallel sides = 13cm, 26cm
Height = ?
Area of Trapezium =2 X(sum of parallel sides) x Height Ya
= 65 =" x (13 + 26) x Height Ya
65x2 )
39 = Height 2
= Height = %Cm or 3% cm or 3.33 cm Ya 2
22. | Probability of an event = No. of favorable out comes
Total number of outcomes
(@) amultipleof4, 8, 12, 16, 20
. B _1
p(a multiple of 4) = pre =1 1
(b) aprime number =2, 3, 5, 7, 11, 13, 17, 19
22
P(a prime number) = e =5 1 2
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Marks

o VALUE POINTS / KEY POINTS %Egﬁ gfg J[g:-‘il(ls
Points
SECTION -1V (®@Ug - IV)
23. | Length of rectangle =48 cm
Breadth of rectangle =27cm
Area of rectangle =LxB
=48 x27
=1296 cm? 1
Area of square = Area of rectangle =1296 cm?
(side)*>  =1296 Ya
= (side)* = V1296
= (side) = VOO
= (side) =36 cm Ya
- side of square = 36 cm
Perimeter of square =4 x side
=4 x 36
=144 cm 1 3
3 3 2
0y | 2 ><(2543)5 xé(32)5
(81)* x(8)
3 3 2
(5%)2%(3%)% x(2°)°
= 5 n 1
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgrell( s
Point/Key
Points
_ 5% x3% x 22 1
T 3Pkt
_ 125x27x4
© 243x16
_ 15
= 2 1 3
25. | Length of train = 270m
Length of platform =130m
Distance travelled = length of train +
Length of platform
=270 + 130
=400 m 1

Speed =80 km/hr

_ 80x1000 _ 200

=300 9 M/ 1

. distance travelled

Time= speed

400

©200/9

=18 seconds 1

It will take 18 seconds for the train to cross a platform.

OR

Let the number of shirts Ravi can buy after getting a

discount be x

Number of shirts 50

X

Cost of shirts 1400

1400 - 400=1000
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Marks

13('). VALUE POINTS / KEY POINTS %Egﬁ gfg J[g:-‘il(ls
Points
It is a case of inverse variation, xy = k Ya
50x1400 = x x 1000 1}2
_ 50x1400
1000
= x=70
Ravi can buy 70 shirts. 1 3
26. |3x-4y=10 (given)
Squaring both sides
(3x - 4y) 2 = (10)? Ya
= (3x)? +(4y)*- 2 x 3x x 4y =100 1
{using (a - b)*=a? + b?- 2ab }
= 9x?+ 16y - 24xy =100
= 9x?+ 161> - 24(-1) =100(xy = -1) Ya
= 9x*+16y*+24 =100
= 9x?+16y*=100-24
= 9x*+16y*=76 1
OR
(64m? - 144mn + 81n?) - 25p?
= [(8m)? - 2 x8m x 9n + (91)7] - (5p)? 1
= (8m - 9n)? - (5p)? 1
{using (a - b)*=a? + b?- 2ab }
= (8m - 9n + 5p) (8m - 9n - 5p) 1 3

{using a?>- b?= (a + b) (a - b)}
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Marks

13('). VALUE POINTS / KEY POINTS %Egﬁ gfg J[g:-‘il(ls
Points

] x? (—x7_x 4+) 12

_ x*-3x—d4x+12 1

(x-4)
_ x(x Zz_igx 3) ”
_ (x4 (x-3) 1
(x~4)

= (x-3) ) 3
28. Given:1||m| n, 1 =50°

Tofind:a, b, c.

solution : since 1||m and p is a transversal

Z1=a = 50° (alternate exterior angles) 1

Also, m | | n and p is a transversal

a + b =180° (co-interior angles)

50° + b = 180° Ya

b =180°-50°

b =130° 2

Now, b = ¢ = 130° (vertically opposite angles) 1 3
29. [ Given : ABCD is a rhombus,

ZADB = 50°

To find: #1, ZABC, «C, ZADC
Solution

All sides of the rhombus are equal
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No.

VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Points

Total
Marks

- AB=AD =BC=CD.

In AABD

AB=AD

= ZABD = ZADB = 50°

(angles opposite to equal sides are equal)
by angle sum property.

ZABD + ZADB + ZBAD = 180°

50° + 50° + ZBAD = 180°

ZBAD = 180°-100°

ZBAD = 80°

Also, [ £DCB = ZBAD= 80" |

(opposite angles of a rhombus are equal)
In ADCB

CD =BC

= ZCDA=/CBD =x

(angles opposite to equal sides are equal)
by angle sum property.

80° + x + x =180°

2x =100

100>

X = 2 =50°

.. ZCDB = ZCBD = 50°

o £B=«D =50° +50°

P!

P!

P!

)

P!
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Marks

Allotted to
. VALUE POINTS/ KEY POINTS o A l\rl/;g:ils
Point/Key
Points
[ £CBD = ZCDB= 100°) 2 3
30.
y S
S’ -
s(3) (,4)
IV ("
3 -
2 -
¢
+1 (3,) © cé b
o 3+ 1 & & &5 ¢ !
Type of quadrilateral : Rectang]e. Ya
Area of rectangle =L xB
=4x3
_ . Plotting
=12 square units. ints
For visually challenged students in lieu of Q. 30 (2)
P =%15625
R =16% per annum =16/4=4% per quarter Ya
T =9 months = 3 quarters. Ya

R n
A= P(1+ﬁj

1y 3 26
A =15625|1 = 15625 x [—j
[ +J16625j 25
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Marks

Allotted to tal
No. VALUE POINTS / KEY POINTS each value l\rl/igrell( .
Point/Key
Points
26 26 26
=15625 x 55555 %5
=3 17576 1
CI=A-P
=17576 - 15625
=31951 1 3
SECTION -V (@ug - V)
31. | Let the principal be % x
SI= PxRxT
3
_ o8 i
m 20 % lﬁf ﬁ/
3
= Ex 1
R n
CI =P Ml+ﬁj —1]
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B ettec t0 l\rl/ig:ils
Point/Key
Points
=x l:&:‘ 2
1600
CI - SI =360
2493 .
= 1600x-%x—?360 1
249x —240x
= 0 - 360
o O
Teoo = < 360
40
= X = M = 64,000
Principal = 364,000 1 5
32. [ Let the digit at ones place be x Ya
and the digit at tens place be 4-x Ya
So, the number becomes
=@4-x)x10+xx1
=40 -10x + x
= 40 -9x 1
Reversing number =10 x x +(4 —x) x 1
=10x +4 — x
=9x +4 1
ATQ, 40-9x +18 =9 x +4 1

- 9% -9x=4-40-18
-18x =-54
x=3

P!
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B ettec t0 l\rl/;g:ils
Point/Key
Points
So, the number = 13 P2
OR

Let the no. of correct answers = x
So, the no. of incorrect answers = 100 — x 1
ATQ 5x-2(100 — x)=220 1%

5x - 220 + 2x =220

7x — 200 =220 1

7x =220+ 200

a0 _
== 60 1
So, the no. of correct answers are 60 a 5
33. AN
NNy
8] 5cm R

/T+ U+ /R + «N = 360°
60° + 90° + 120° + N = 360°
270° + N = 360°
/N =90° 1
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgr:il( s
Point/Key
Points
Draw line segment UR Ya
Construction of ZU = 90° 1
Construction of ZR =120° P
Making point N Ya
Construction of N = 90° 1
Making point T Ya 5
33. | For visually challenged students
2 +1 xf-3x°-4x*+3x+2 | 2_3x_5
+ 4x?
- 33— 5x%+3x+2
- 33 -3x
+ +
— 5%+ 6 x+2
_5k2 =5
+ +
6 x+7 4
Since the Remainder 6x + 7#0 P!
~ x2+1 is not a factor of x* — 3x%— 4x% + 3 x+2. %) 5

34.




Marks

13('). VALUE POINTS / KEY POINTS %Egﬁgg Jotal
Points

Draw BE || AD

AB||DC = AB||DE

- ABED is a parallelogram

Since opp. sides of a parallelogram are equal

~BE = AD =10cm

DE = AB =13cm

EC =25cm - 13cm 2
=12cm 2

Draw BF L DC

Since ABEC is an isosceles A

= Perpendicular, bisects the base.

= EF =FC =% EC =6cm 1

In BFC, by pythagoras theorem

BF?+ FC?=BC?

h? + 62 = 10?

h? =100 - 36 '

L sem 1 (Fig.)

area of trapezium =72 x h x (sum of| | sides)

= L gt (13+425) em?

=4 x 38 cm?

=152 cm? 1

OR
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Marks

Allotted to
. VALUE POINTS/ KEY POINTS B ettec t0 I\T[g:éll(ls
Point/Key
Points
34. A 30 cm B
I 4 cm
E 22 cm F
& 25 cm
S
H G
D C
ABCD is a rectangle in which AB = 30cm, BC = 25cm
So EF =30cm - (4+4) cm = 22cm Ya
FG =25cm - (4+4) cm =17cm Ya
Height of each trapezium = 4cm
Area of trapezium FGCB =¥ x h x (sum of | |sides)
—x A% x(17+25) cm2
Z )
=2 x 42 cm?
=84 cm? 1
Area of trapezium ABFE
— x A% x(30+22)
x 52 cm?
=104 cm? 1
Similarly area of trapezium AEHD
=84 cm? 1
and area of trapezium CDHG 104cm? P43
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgr:il( s
Point/Key
Points
Total area of border = 84 cm?+104 cm?+84 cm? +104 cm?
=376 cm? a
Cost of polishing =32 x 376
=3752 %) 5
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SOCIAL SCIENCE

DESIGN
I.  Weightage to form of questions :
Form of Questions Marks of each | No. of Questions with Total
Question their serial numbers Marks
Very Short Answer (VSA) 1 16 Sr.No.1to16 16
Very Short Answer (VSA 1I) 2 6 Sr. No. 17 to 22 12
Short Answer (SA) 3 3 Sr. No. 23 to 25 9
Long Answer (LA) 5 5 Sr. No. 26 to 30 25
Source based Question (SBQ) 4 3 Sr. No. 31 to 33 12
Map Question 4+2 2 Sr. No. 34 to 35 6
Total 80
II. Unit wise Division of Questions
VSA | VSA-II SA LA |Sources M
Unit No. |, |1 Mark|2Marks| 3 Marks |5 Marks | based Quift_ Total
& Subiject Quest- [ Quest- | Quest- | Quest- |Ques- ion
ion ion ion ion tions
I. (Geogra-
phy)
Resources 27 5(1) 2(2) 2(5) 1(4) 1(4) 27
and Devel-
opment
II. (History)
Our Past
People& o7 16y | 20 | 200 | 169 | 19 | 12 | 27
Society in
Modern
Period
II. (Pol.
Science)
Rule of 26 | 51) | 22 1(3) 26) | 1@ | - | 26
Law and
Social
Justice
Total 80 80
III. Weightage to difficulty level :
1. Easy 30%
2. Average 50%
3. Difficult 20%
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SOCIAL SCIENCE
(MODEL TEST PAPER - I)

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1.

Questions paper contains 35 questions. All questions are compulsory.

Questions paper comprises six Sections- A, B, C, D, E and F

Sections- A- Question nos. 1 to 16 are MCQs. of 1 mark each.

Sections- B- Question nos. 17 to 22 are of very short answer type questions, carrying
2 mark each. Answer to each question should not exceed 40 words.

Sections- C- Question nos. 23 to 25 are of short answer type questions, carrying 3
mark each. Answer to each question should not exceed 60 words.

Sections- D- Question nos. 26 to 30 are of Long answer type questions, carrying 5
mark each. Answer to each question should not exceed 120 words.

Sections- E- Question nos. from 31 to 33 Case Based questions with three sub questions
and are of 4 marks each.

Sections- F- Question nos. 34 and 35 Map Based questions, Geography (4 marks) and
History (2 marks).

There is no overall choice in the question paper However, an internal choice has been
provided in a few questions. Only one of the choices in such questions have to be
attempted.

In addition to this, separate instructions are given with each section and question,

wherever necessary.

= 3

I.

Frfafaa et o sga graurt ¥ ufgg Siv ST arem hifeu;
T Y T § e 35 99 &1 9eft e erfrerd
Y T H B @WUe- &%, @, T, ¥, €. 3N F 2
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. WIS H W U G | W 16 q agfashedid U3 &1 Yesh Y | 3k Wl B

. WUE @ W U HEA 17 9 22 q% 31fd dY-Suld U9 81 Y U 2 3Rl w2
Yh U T IW 40 TR ¥ Al &1 @I g =Ml

. WS T H Y GE& 23 ¥ 25 q%h AY-3u0d U 81 YAh YA 3 Al 1 B
J&® T h1 IW 60 VR F AfEH FH TG BT =M

. WS ¥ W Y GEA 26 § 30 d% -39 U §1 U Y 5 S| & 2

TAF U9 1 W 120 Ik T AfF w1 Tl B =)

. WU T, W U & 31 ¥ 33 B9 Ui N 21 YO U B WY 3-3 IYUEH ©

Y% T 4 3F H

. @UE 9§ YT HE&A 34 3R 35 gHfad onHia wed B

TheA (4 k) 3R 3faem@ (2 F)|

. THUH 99§ gAY ®9 9 fasheq o w1 geuE 8§ R ot suus o faehew o
JEHE 21 T8 T 4 © Pod T faskedld gvH 1 SO fore B

. TE INfaled Y @ue R T & @iy Wl ot revass ®, yue 9 fw R
2l
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Section- A (@S &)

Which one of the following is NOT a feature of Renewable
Resources?

a) These resources can be renewed either naturally or by
human efforts.

b) These resources are Inexhaustible
C) Coal and petroleum are the examples of Renewable
Resources.

d) The quality of these resources can be affected by improper
usage.

frfafed ® 9 ®F 9 Tk R ‘et e’ w0 faa w7 82

&) T GEEEl B FAHO A q Whide ®Y W AL AEAE FAH
9 g 2

@) I8 EYT &Y T T8l 8|

) I R Uferay eiehoia Taeq’ & S 2l
") T GEEA e Tod YA 9 geierd et 2

What type of a resource is a building?

a) Natural Resource

b) Biotic Resource

C) Man made Resource
d) Renewable Resource

FIE qod fohd YRR 1 GEEA 27
%) Uipfaeh HETeH @)  Sfgew gareE
) HHdhd SEEA q) AR e

Which one of the following is the most populous state of India?

a) Bihar b) West Bengal
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¢)  Uttar Pradesh d)  Kerala
frafafed & @ fFa T59 %t SHEEn 9ra o gefus 72

%) fwr @)  uiEm ST
M) SW AR ) W

Which one of the following statement is incorrect?

a) In the fertile lowlands of the Ganges and Brahmaputra in
India, less concentration of population is found

b) High mountains, rugged terrain and rocky plateau restrict
human settlements

C) People to not prefer to live in regions where temperature
and rainfall are low.

d) Land, where the soil is fertile, has high concentration of
population.

frefafed § 9 99 9 %oF o’ @2

®) UG W T SR SR % SUSS S anl W SHEE o Gl
Tl qrEn S )

) S UEE, Sus-TEe UM R 9 TSN HAG ofeEl
i e €

M) AN ST & A N wHR T Rd Sl e SR Tt %1 el

o) qfF, Sef ® el Sus B 7, 98l e # Sed GhEy
g 2

In the question given below, there are two statements marked as
Assertion (A) and Reason (R). Read the statements carefully and
choose the correct option.

Assertion (A) : Density of population in the states like Bihar, West
Bengal, Kerala, Uttar Pradesh is above 501 Person
per sq. Km.

Reason(R) : Favourable Climatic Conditions, rich fertile soil,
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Well developed agriculture and a high level of
industrialization has brought high density of
population in these states.

Options:

a) Both (A) and (R) are true and (R) is the Correct explanation
of (A).

b) Both (A) and (R) are true but (R) is not the correct
explanation of (A).

C) (A) is true but (R) is false
d) (A) is false but (R) is true.

9 feu T yeT | ) weF, AfTwReA (A) SR &R (R) @1 FHeAl
ufgq 3R WEl forehed o1 =EA wifeg:

iR (A) : fasr, 9v=m oe, Hid, I Ry 99 A o
SEEAT T S 501 Afed 9fd o fhaie 9§ W

2

FROT (R) : 995 IS fHefe, s=al T@ o fasfad o, 3=9 "R
& SRR 3R STmet Serary iRl 3 o Wi o

SHYEA F1 I=9 T Al Bl

fawea :

F)  (A) ¥R (R) IHl @& ¥ 3R (R), (A) #1 9@ =@ 2
@)  (A)IR (R) I W&l § 3R W (R), (A) &I T =we T 2
(A) @& ® AT (R) e 21

T (A) T 7, Wg (R) T T

)

Which of the following events occurred in the 20th century?
a) First war of Independence
b) Establishment of Home Rule League

Q) Partition of Bengal
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d) Establishment of East India Company

Options:
(i) aand b. (i) aandd
(iii) bandc (iv) onlya

frefeafed & & o1 @ w2 204 v A wfeq g of?

%) TG HT FUH G

@) B w W

M) S w1 faeeE

W) ¥R ¥fed w R T

Identify one pair from the following which is correctly matched.
a) Establishment of Indian National Congress-1881.

b) Gandhi smriti - Mumbai

C) Victoria Terminus - Kolkata

d)  Amrita Bazar patrika - Bengali

frefefed & °§ wh g 1 TeuH wifve S8 we gafed 2
%) ARG TR HIUH i O - 1881

@) e Wi - g

M) foeifen iR - wieew

|) ST AR A - e

In which Language was the News paper ‘kesari’ published by Bal
gangadhar Tilak?

a) English b) Marathi
c) Bengali d) Gujarati
o TR faete g IR IHER-u ‘w9l fRg 9 ° en?
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10.

®) S @) HUdt

T Sl ) TS
Identity the pair of states which had not joined the Revolt of 1857.
a) Punjab and Hyderabad. b) Awadh and Jhansi

¢)  Kanpur and Delhi d)  Lucknow and Gwalior
T & 39 S &1 UgdM Sitee st 1857 & fage ® wfte = gu o
%) g 3R TER ) 3y IR

M) AR AR e ) Eds R e

In the question given below, there are two statements marked as
Assertion (A) and Reason (R). Read the statements carefully and
choose the correct option.

Assertion (A) : The planning commissions was set-up for the
planned development of India.

Reason (R) : Planning Commission was replaced by Niti Aayog,

in 2015
Options:
a) Both “A” and ‘R’ are true and ‘R’ is the correct explanation
of ‘A’

b) Both “A” and ‘R’ are true but ‘R’ is not the correct
explanation of ‘A’

C) ‘A’ is correct but ‘R’ is in correct

d) ‘A’ is incorrect but ‘R’ is correct

H9 feu U g9 | Q) oA, afasme (A) S HRU (R) 1w &
fgT 3R FE forhed o1 =@ wifew:

TR (A) : IISHT STERT & WA 9RA & graitea foe™ & fag
EIRIERIT

RO (R) : FISHT A ki 2015 | ifa e g gfaeenfua fewan

[ 253 ]



11.

12.

RIC I RN
o :
F)  (A)3R (R) < @&t € &k (R), (A) 1 Tt = 2

@)  (A)3R (R) A W& € $R W (R), (A) &1 W&l e &
2l

T (A)FE R, A (R) @ 2
q)  (A) T ®, Wg (R) T R
Which one of the following parties is a ‘Regional party” of India?

a) Indian National Congress

o

) Bhartiya Janta Party
C) Communist Party of India

d)  Shiromani Akali Dal

frfafed § & & @ @ IR F &5 A 72
®)  ARAE T HUE

W)  ARAE S 9ret

O R

)  Rumfo s g

Study the following statements regarding the Preamble of the
Indian Constitution and choose the correct option from the
options given below:-

L. The Preamble is the soul of the Indian Constitution
IL. Preamble is an introductory statement in the Indian
Constitution.

III.  Preamble is a part of directive Principle of the constitution.

IV.  Preamble contains the political philosophy of the
constitution.
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13.

14.

Options :
a) [&I1 b) LII&IV
C) only IIT d) only IV

AT Gfaa &1 9o & 999 § fafafad sor w1 1539
AR = feu U fasedi § 9 wE fashew @1 = w1

I WA HfEUH S 2

. T RS w@fauE # T IREaes we B

[l We 9Rd "@agm & <ifg fees fagr = @ fewm 2
IV. we § dfaum &1 Jerfas <9 I 2

®) 1R @) LI RV

M) wed I ") wad IV

If a child of 12 years is employed in any factory or hazardous
occupation, which of the following fundamental right of the child
is being violated?

a) Right to Equality
b) Right to Freedom
C) Right against exploitation

d) Right to constitutional remedies.

g 12 99 1 R dea1 fHE FREM I GdRATR FaHEd H HH H
@, @ 39 9=d & Fefated § § g AYeR &1 59 8 @ 872

%)  HHMEA 1 AR

W) Tl Wl SRR

M) 3 % fawy sfer

) Haue STER W SR

Read the following statements and choose the incorrect
statement:
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15.

16.

Every citizen of India is free to believe in any religion.

Every religious group has freedom to manage its own
affairs.

Constitution observes strict impartiality towards all
religions.

State can discriminate against minority communities on
the ground of religion.

frefafad wual & 9fey 3R STH @ o U 1 wIA ST

%)
)
)

)

qRA &1 Yk ANk fhet off o1 & o7 & fow @dT 2
T 4 TS H ST WE & HHA H Y& FR Kl WA 2
Higur @it ol & gfa Foveran =1 qeE w5 2l

T, o & STHR W eTeeish GEEl & A1y 9K X Gehdl T

Identify the statement which is not true regarding the election of
the President of India

d)

The president is elected indirectly by an electoral college.

Electoral college consists of only the elected members of
the Parliament and the Legislative Assemblies of the states.

The election process is held in accordance with the
single Nontransferable Vote system of Proportional
Representation.

It is essential to secure more than 50% votes to get elected

IH HF H T HISC S WA b Tl A b Hew H FEl T R

)
)
)

)

Tzl 1 e e F9 9 U et Hew gR R s 2l
fafers Hedt | had o5 IR faum awr & Feifad ge= e
A Ui i Tl SRR WA YT & STER Bl 2
faifea g9 o foaw 50 vfdem o Sifier 7q Wa w STERE T

Which one of the following pairs is incorrectly matched.
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17.

18.

19.

20.

a) Supreme Court - A maximum of 25 Judges

b) Criminal Courts - The court of Sessions Judge is the
highest court.

C) High Courts - Number of Judges vary from state to state

d) Civil Courts - Matters related to marriage, money and rent
matters are heard here.

frefafed & @ #F @ g™ Tad gafed 2l
%)  Hered <A - AfeRan 25 =

@)  HISER e - §F AP s e e FEed el @

T I FEEE - ARl S el Th- 9 ¥ g g ° 9
et ©

) S e - foere, T IR fRuT 9 S AHel s g
Bl 2l

Section B (@ W@)

Explain any two economic factors which determine population
distribution in a region.

fordt & w1 SEE foawor =t fuifa @ o el g sifefs srel
D AT HifSU|

Highlight any two factors responsible for low density of
population in a region.

frdt &9 &1 SEE &% WA & HHl & AU SIEE Rl S hRen
IR fRfsm)

Assume that if the industrial Revolution would not have taken
place in Britain and Other European Countries, What would have
been the impact on Indian crafts and industries? Explain

o et o foree wd o i S | o s 7 g€ B
TR S e EEqeheistl T WA Bld1? TR hifoy|
Explain the significance of Lahore session of Congress in 1929.
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21.

22.

23.

24.

25.

1929 ® BT HUH & WER AT & Hew Hi WL HifS

How can we help others to enjoy their Fundamental Rights? Give
any two suggestion.

&0 fhE TR U 1 ‘Hifds sfuerl’ &1 o= oF | weE W
Tohd B2
#E 3 gama fafem)

“In Parliamentary democracy of India the council of ministers is
collectively responsible to the Lok Sabha” Justify the statement.

“IRG % GO dihas § Tl URUE ORfeh €9 9 dAlhad & Ui
STeeeE el 8’1 U ®i gfte s

Section C (@Ug )

Highlight any three injustices made by the Britishers towards
farmers during 18th & 19th Century

FeNEdl R gl "t % <A fafes @ g feaml & @y foeu
M I A SFIE IR HITY|

Describe any three steps taken by the Indian Government to
achieve social progress.

OR

State any three basic features of Indias foreign policy.

TSR Wi & 18T hil I i & o0 YR ThR gRI 331 U foh=i
T hedl 19U HifSq|

SE]

IR &1 fager ifd &1 fr=dl T omamsm fomiwarstt 1 avfF wifsw)

Highlight any three differences between the financial powers of
Lok sabha and Rajya Sabha.

OR
Highlight any three benefits of Universal Adult Franchise.
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26.

27.

28.

A T 3R U5T 99 1 T vt & = i @9 e ISR
HifTa|

SEEN

e ifier oI AR & HiE 99 o9 SRR HITST)

Section D (@WUE ¥)
“Large dams are criticised for causing ecological imbalance.”

Support the statement by giving five suitable arguments.

“qiftefaet 99 § SfUger U991 R & HROT 9 A HY ST H
S @' Ui deh IR 39 R i gfie sife)

Describe any five measures taken by the government of India to
protect the forests.

OR

Describe any five benefits for protecting the wildlife.

A T TN & U IRa SR g) feu U fh=l uie 39 1 9
Hifsa|

3T
ISl o G0 & fohgl 9= o9 &1 9uiF Shifsu)

Highlight any five mistakes committed by the rebels which led to
the failure of the Revolt of 1857.

OR

Highlight any five reasons that led to the participation of sepoys
in the first war of Independence (1857)

fosifedl g0 &1 T fh=l = TAfGA il SR HifSw e HRoT
1857 @1 fasiE T9®d @I

A2qe
ORd o FH Tdadr 9™ (1857) H fawfeai i wfqwfar & fau i@
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29.

30.

31.

HH ad fH=l TF FHRON SR ST

Explain any five values enshrined in the Constitution of India.

IRa & faum § fafeq fesdl o9 qoai 1 e sifew)
Explain any five Executive Powers of the President of India.
OR

Explain any five functions of the Prime Minister of India

ORA & AU hi waqfcren Tt frl o9 wfdaai &1 =
HifsTq|

SRl

O & YU & Rl 99 w1 i AR Sifsu|

Section E (@US ¥)
Read the source given below and answer the questions that follow:

Rapid population growth has resulted in over utilization of the
natural resource. This has led to drastic depletion and degradation
of natural resources. Thus, there is an urgent need to maintain a
balance between population, resource planning and Conservation.
Resources should be used judiciously, otherwise mankind will
have to face dire Consequences. We have to create Sustainable
Community for the sustenance of life on the planet, else the
ecological balance will be disturbed.

31.1 Define the term 'Resource'.

31.2 Explain one impact of rising population on the natural
resources.

31.3 Suggest any two ways to conserve resources.
F= KT MU g 1) IR e e e ge % s S

g Sae gfg & IRUHEaEy Yrhfae WHeAl &1 STtdsh U
g 2| TEW Wiplaew wEeAl ® ) & R fiRee o B e

SEE, gaEEl & fESE SR wiem & oY Sqer S W 6
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32.

33.

T STEvahdl 21 Gqie %1 fadwyel Sugim e w=fEy, sren
e S1fd i THR 9Rome qaad g1 g gest W Sited & faie &
fAU gad FI@E T €, sT=en wififefas Sqe fag S

31.1  ‘wEeE’ v ot uRenfya wifs

31.2  UIhfae HOIE W FEd g8 SMEE & Uh YNE hl TR
it

31.3  GHIEE W& & HiE S U gIEUl

Read the source given below and answer the questions that follow:

The Second World War came to an end in 1945, Prime Minister
Attlee of the Labour Party came to power in Britain. He was
sympathetic towards the demand of Indian people for freedom. A
Cabinet Mission was sent to India in March, 1946, It proposed the
formation of an Interim Government and a Constituent Assembly.
Muslim League refused to participate in the interim government.
They demanded a separate state for Muslims

321 Who gave the Mountbatten plan?

32.2 Highlight the reaction of Muslim league towards the
proposals of the Cabinet Mission

32.3 Mention the proposals of Cabinet Mission.
F= KT T H w1 IR I 9% 3 O Y @ S <

g favags 1945 # 9o g, foA o oo} urdl & 99 w3t Teel &
T U 98 Waadl o g wRdE @rm e ' % gfd werdfd w9l
A, 1946 W Teh hfee faeH 9Ra 9o T4, 394 Tk 3fdlH TR 3R
T Afay™ 99 & Ted h1 TE @ ™ o 3 Siae TR | 9m
T ¥ TTRR T 3= qEemHl & fau T ST U Wi A |

32.1 HESEsE Il forad €02
322 iR feH % wEEl W e ol i kA )y sl
323  whfede fHvE & gl &1 Ioord HISu

Read the source given below and answer the questions that follow:

[ 261 ]



34.

The Chief Justice and all other judges of the Supreme Court
remain in office till they attain the age of 65 years. Once a judge is
appointed, she/he cannot be removed from office under normal
circumstances. She/He can be removed, only on grounds of
proved misbehaviour or incapacity to discharge functions, by the
President on the basis of a resolution passed by each House of the
Parliament by a special majority during the same session. This
process is called impeachment

33.1 Mention the retirement age of a judge of the High Court.
33.2 Name the apex court of India

33.3 Explain the meaning of Special Majority
F= Ry MU g B 1 iR SR SHE 9% o o Wl &% S 3

gates =@ & qed A ok o= gt =mEeiv 65 ad w1 ey
W F qF I I8 W 54 W 21 Th 9) 59 (e & 91 & 915,
U g aifefaal ¥ g @ T g2 S gl ®1 39 dhad gHGER
fag g stuan oo ifae A9 § 919 B & 3MYR W EEg & TS
T g SH W % SR T wgHd @ Wika wEE % SR W {egatd
SR B ST Gohdl €1 39 UhAl sl WElEn sEl S )

33.1 3=d A % AR H GeIgd i 3T W Ieei@ hifad|
33.2  9Rd & Haied AmATed 1 AW FaRy)
33.3  foum Sgaa @1 37 T i)

Section F (@WUg =)

Two places A and B have been marked on the given outline map
of the world. Identify them and write their correct names on the
lines marked in the map

A. Region of Low rainfall
B. Type of forest

On the same political outline map of the world locate and label
the following
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C. Region of high rainfall in South East Asia.

D. Region of Mediterranean Forest in Europe.

ghn & U MU wREn TeHifae JHteT WA 3R B & T
fafea foran o 21 3% TeuH @R S U Wi T el WS
T T fas

%) e aut amen &=

W) YRR T STA

g & SH ToHifaer T R FrEfaiEd s o iR elEel i
M) 3o & T w1 uew I=a 9wl aren &=

) U Y ESIErRE 99 96l T &

MAP FOR Q.NO.-34

WORLD - POLITICAL

0% waters ot
2 B o — #he Foncord / Mester Copy - A-cua::-l.ﬂn-l.ﬂw
Vide Letier No T.B. 35362-0-MA-2  Dated 100772014 3 e




35.

Alternative question for visually challenged students in lieu of
Q.No. 34

341 Name the region in south Africa that receives low reinfall.

34.2 Name one region in Africa where evergreen forest is
found.

34.3 Name one region in South America which receives high
rainfall.

34.4 Name any two animals found in Tropical Deciduous
forests.

W9 WEAT 34 & M W ghedrya & & fou Senfeqss woa
34.1 307 STHIHT & HH I aTCl &F H AH AR

342  STHIH o Tk &F K1 M, & @R 99 IIC A 2
343 <feqor e W Stfues ol arel &1 w1 AW SaEul

34.4 31 e qoiurdt oA H U oW a1 feel <1 Sgett & AW
ferfem|

On the outline political map of India, locate and label the
following places.

a) The city From where Mangal Pandey refused to use the
greased Cartridge.

b) The Place associated with the withdrawal of Non
Cooperation Movement.

qRd & U 0w aAfas w Frefafted o o od o iR
e v fafee-

(F) &% TR &l U He WS A Fell el HRGY F TR B G
7 T e e

(@) A9 AT i Iqdt T Teied T
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MAP FOR Q.NO. - 35
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Alternative Question for Visually challenged students in lieu
of Q. No. 35

35.1 Bahadur Shah Zafar II ruled from which place?

35.2  The city associated with Jallianwala Bagh massacre.

U9 HE&AT 35 & LM W hael ghediyq udameia & fag
Jehfeqsh woI FrAfafaa uoit & s fafaw)

341 TRRWNE TR fgdta 3 forg T @ s foam
342  Sferdidren 9n WEER W Hafd TR
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SOCIAL SCIENCE

(Model Test Paper - I)
Maximum Marks : 80

MARKING SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by the candidates,
be suitably awarded. )

Marks
S. Allotted to
. VALUE POINTS/ KEY POINTS oA I\T[g;ils
Point/Key
Point
Section- A
1. |o) Coal and petroleum are the example of Renew- 1 1
able Resource. [pg. 2]
2. |0 Man made Resource [pg- 3] 1 1
3. |0 Uttar Pradesh [pg. 83] 1 1
4. |a) In the fertile lowlands of the Ganges and the 1 1
Brahmaputra in India, a less concentration of
population is found [pg. 85]
5. [a) Both (A) and (R) are true and (R) is the Correct 1 1
explanation of (A).
6. |(iii) bandc [pg. 95] 1 1
7. |d) Amrita Bazar patrika - Bengali  [pg. 95, 96] 1 1
8 |b) Marathi [pg. 96] ! !
1 1
9. |a) Punjab and Hyderabad. [pg. 129]
10. | b) Both “A” and ‘R’ are true but ‘R’ is not the correct 1 1
explanation of ‘A’ [pg. 175]
11. | d) Shiromani Akali Dal [pg. 177] 1 1
12.|b) LI&IV [pg. 186] 1 1
13. | ¢) Right against exploitation [pg. 197] 1 1
14. | d) State can discriminate against minority communi- 1 1
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VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

15.

16.

17.

ties on the ground of religion.
[pg. 201 & 202]

The election process is held in accordance with
the single Nontransferable Vote system of Pro-
portional Representation. [pg. 220]

Supreme Court - A maximum of 25 Judges
[pg. 233]

Section B

Economic Factors which determine population distribu-
tion in a region:

i)

i)

iii)

iv)

Minerals : mineral deposits play a dominant role
in population distribution. The presence of coal
and iron ore in different parts of the world has
attracted huge population in these areas.

Industries : Development of industries in any
region has a favourable impact on employment
opportunities

Developed means of transport: people have
settled down in distant places due to the develop-
ment of efficient system of transport network.

Discriminatory government policies : Political
unrest in a region or discriminatory policies of a
government against a group of people have made
millions of refugees

(any two)
(any other relevant point)

[pg. 86]
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B ettec t0 J[gfll(ls
Point/Key
Point
18. | Factors responsible for low density of population in a
region
i) Physical constraints
ii) Unfavourable Climate 1
iii)  Slow economic development
iv)  Poor infrastructure 1 D)
(any two)
(any other relevant point)
[ps. 8]
19. [1) De industrialization of India would not have 1+1 )
happened.
ii) Traditional Indian handicrafts would not have
been ruined.
iii)  The national income of India would not have
been declined.
(any two)
(any other relevant point)
[pg. 119]
20. |i) Session was presided by Pandit Jawaharlal Nehru. 1+1 2

ii) The historic resolution of Purna swaraj or com-
plete independence was passed.

iii) It was decided to celebrate Jan 26, 1930 as the
First Independence Day of India.

(any two)

[pg. 163]
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgr;li( S
Point/Key
Point
21. | To help others to enjoy their fundamental rights we can- 141 5
a) Participate in their religious festivities and help
them and extend our services.
b) make sure that our actions do not violate the fun-
damental rights of other.
C) Promote harmony and spirit of brotherhood etc.
(any other relevant point)
[pg. 199]
22. 1) In case, a vote of no-confidence is passed against 1+1 2
anyone minister, the whole council of ministers
has to resign collectively
ii) The Parliament also controls the executive by
asking questions. The period when questions are
asked is called ‘Question Hour” [pg. 213]
Section C
23. 1) Land Revenue Settlements and their administra- | 1+1+1 3
tion.
ii) Economic Exploitation, especially of the rural
masses.
iii)  Long standing loans and indebtedness
iv)  Eviction of peasants from land led them to be-
come landless laboures.
(any three)
[pg. 115]
24 |1) Legislations like provision for reservationinleg- | ;4.4 3

islatives.
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Marks

13('). VALUE POINTS / KEY POINTS %Egﬁgg J[g:ils
Point
ii) Reservation, in government jobs and institution-
alization for schedule castes, the schedule tribes
and other backward classes.
iii) A massive nation wide programme was launched.
(any other relevant point)
[pg. 179]
OR
i) Regional Cooperation
ii) Promotion of world peace
iii)  Panchsheel
iv)  Non Alignment
V) Anti Racialism
(any three)
(any other relevant point)
[pg. 178]
25. | Three differences in the financial power of Rajya Sabha | 14141 3

and Lok Sabha are as folow:

Rajya Sabha Lok Sabha
Money bill connot Money bill can only
(i) be introduced in (i) | be introduced in Lok
Rajya Sabha. Sabha
Rajya Sabha may Lok Sabha may or
(ii) make some recom- (ii) may-not accept the
mendation regard- recommendation
ing a money bill made by Rajya Sabha
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VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

26.

(iif)

Financial Powers Lok Sabha is much
of Rajya Sabha are | (iii) | more Powerful in
limited financial matters.

[pg. 213]
OR

Three benefits of Universal Adult Franchise are-

i)

ii)

iii)

This right gives the people an opportunity to
actively participate in the Political Process of the
Country

The People elect their representatives who consti-
tute the Parliament that controls and guides the
union government.

People express their trust in the functioning of
our democratic set-up

[pg- 209]
Section D

Following ecological problems are caused by large

dams:
i)
ii)
iii)
iv)
v)

Vi)

Extensive forests get submerged under water.
Aquatic life gets affected

Results in soil erosion

River water gets diverted

Population gets displaced

During excessive rain Flood are Caused.

(any five)

5x1
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( S
Point/Key
Point
(any other relevant point)
[pg. 16]
27. | Five measures taken by government of India to protect 5x1 5

the forests.
i) Afforestation or large scale plantation of trees.
ii) ‘Each one plant one” policy

iii)  Efficient utilisation of forest products and usage
of substitutes of wood

iv)  Enforcement of a number of laws/guidelines to
protect forests and prohibit deforestation

V) Discouraging shifting cultivation which causes
forest loss.

(any other relevant point)

[ps- 25]
OR
Benefits for protecting wildlife
i) Wildlife is essential to maintain the ecological
balance on the earth’s surface
ii) The beauty of wild animals boosts tourism and

creates jobs for the people.

iii) ~ Animals' behaviour changes at the time of natu-
ral disasters like tsunami, and earthquake. If this
information can be harnessed for imparting early
warning system.

iv)  Dead and decaying plants and animals produce
humus.
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VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

28.

i)

iii)

iv)

i)

iii)

iv)

wildlife is important for its aesthetic values and
ecological balance.

(any other relevant point)

[pg. 86]

The Uprising had been planned for months, but it
broke out before the appointed date.

There was no unity among the rebels. The idea of
nationalism had not yet developed.

The rising was not widespread. It was limited to
north and central India.

The rebels could not match the sophisticated and
modern weapons and the disciplined army of the
British.

The leadership of the Revolt was neither strong
nor gave direction to the rebels.

[pg. 130]
OR
The sepoys were not given awards of promotions.

There was discrimination between the Indian and
the British soldiers.

The highest pay given to an Indian Sepoy as
subedar was less than the minimum pay of a Eu-
ropean recruit.

They were humiliated by the British.

The Act of 1856, made it compulsory for new
Indian recruit to serve overseas.

5x1
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No.

VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

29.

30.

(any five)
(any other relevant point)

[pg. 127]

Five Visions and values of Indian Constitution

i)

i)

iii)

iv)

v)

Our constitution reflects the country’s distinct
features, cultures and ethos.

Our Constitution is committed to democracy and
guarantees Justice, equality and freedom to all the
people.

The makers of the constitution were concerned
about feeding the starved and clothing the maked
i.e. fulfilling the basic needs of the people.

The constitution tries to end the exploitation of
the already deprived and depressed section of the
society

It aims to provide equality to all the Citizens

[pg. 185]

Five executive powers of the President of India are -

i

ii)

iii)

Being the head of the Union Executive, all the ad-
ministrative decisions are taken in her/his name.

She/He makes all the important appointments.
including those of the prime minister, council of
ministers, governors, Chief Justice and Judges of
the supreme court and High Courts etc.

She/he is the supreme Commander of India’s
defence forces.

5x1

5x1
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgrell( S
Point/Key
Point
iv)  The President also appoints the members of Elec-
tion Commission, Finance Commission, etc.
V) She/He has the right to be kept informed about
all the decisions of the council of ministers
through the Prime Minister.
[pg. 222]
OR
Five functions of the Prime Minister of India are -
i) To form Council of Ministers
ii) To preside over the meetings of the cabinet as
well as council of ministers.
iii) ~ To coordinate the working of various depart-
ments.
iv)  To advise the President to summon or prorogue
the session or to dissolve the Lok Sabha before its
term expires.
V) To act as a link between the president and the
cabinet etc.
[pg. 225]
Section E
31.|31.1 All the things on Earth, which are necessary for 1
our existence on this planet, are known as re-
sources.: [pg- 1]
31.2 Rapid population growth result in over utilisa- 1
tion of the natural resources. [pg. 5]
31.3 Two ways to conserve the resource are: 141 4
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B ettec t0 ﬁg:ils
Point/Key
Point
i) Follow 5 R’s i.e. reduce, reuse, recycle, refuse and
rethink
ii) Minimise the depletion of natural resource
iii) ~ Use the resources according to the need and not
according to the greed
(any two points)
(any other relevant point)
[pg- 4/5]
32.132.1 Lord Mountbatten gave the Mountbatten plan.
32.2 They refused to participate in the interim Govern-
ment
32.3 Cabinet mission proposed the formation of an 2x1 4
interim Government and a constituent assembly
[pg. 168&169]
33.133.1 A high court Judge retires at the age of 62. 1
[pg. 236]
33.2 Supreme Court is the apex court of India 1
[pg- 231]
33.3 Special majority means 2/3rd majority of mem- 2x1 4
bers present and voting in each house of the
Parliament. [pg. 233]
Section F
34. | A. Kalahari
2x1 4
B. Deciduous Forests

Alternative question for visually challenged students
in lieu of Q.No. 34
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Marks
S. Allotted to| Total
No. VALUE POINTS /KEY POINTS each value Mgri‘( s
Point/Key
Point
341 Kalahari region 1
34.2 Equatorial region 1
34.3 Amazon basin/Equatorial region 1
344 Lion, tiger, Elephant 1 4
ANSWER MAP Q. - 34

e y ond comst e of e h o o Doy Dehra Dx A-6 Maya Puri, Ph-1,New Dethi-64
Vide Letior No T8, 363829342 Dated 100772014 - No.:28113536
Price :- Re. 1 - 00




Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( s
Point/Key
Point
ANSWER MAP Q. - 35
INDIA - POLITICAL AND ADJACENT COUNTRIES . HRA - aorifees st wgieht 2ur
.y 2 PN 12 2 ; w ) e ia
| “
= e s e o e e v  S.K. PUBLICATIONS
.:_n:nwl-rm TR lmmua_m lL:\-DMﬁ-}_ A'ﬂm%%m”w -
Price :-¥ 2-00
35. | Correct Location of places-
a) Barrack-pore 1
b) Chauri Chaura. 1 2
Alternative Question for Visually challenged students
in lieu of Q. No. 35
351 Delhi 1
35.2 Amritsar. 1 2
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SOCIAL SCIENCE
(MODEL TEST PAPER - 1I)

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1.

Questions paper contains 35 questions. All questions are compulsory.

Questions paper comprises six Sections- A, B, C, D, E and F

Sections- A- Question nos. 1 to 16 are MCQs. of 1 mark each.

Sections- B- Question nos. 17 to 22 are of very short answer type questions, carrying
2 mark each. Answer to each question should not exceed 40 words.

Sections- C- Question nos. 23 to 25 are of short answer type questions, carrying 3
mark each. Answer to each question should not exceed 60 words.

Sections- D- Question nos. 26 to 30 are of Long answer type questions, carrying 5
mark each. Answer to each question should not exceed 120 words.

Sections- E- Question nos. from 31 to 33 Case Based questions with three sub questions
and are of 4 marks each.

Sections- F- Question nos. 34 and 35 Map Based questions, Geography (4 marks) and
History (2 marks)

There is no overall choice in the question paper. However, an internal choice has been
provided in a few questions. Only one of the choices in such questions have to be
attempted.

In addition to this, separate instructions are given with each section and question,
wherever necessary.

= 3

Frfataa et o aga graurt ¥ ufgg Sfiv ST Urem shifeu;

T Y T § e 35 99 &1 weft e erfred ?

Y U9 W B @UE- &, @, T, ¥, €. 3N F 2

IS % W Y G | W 16 T agfashedd Ye €1 Yh Y 1 3k H 2
GUe @ W YeI HeA 17 W 22 e 3Mfd o-3ud U 81 WS Y9 2 3 Wl B
YF YT T IW 40 TR © A &1 @ g Amfenl

g T H Y & 23 W 25 q% Y-S Y 21 TAH YA 3 Skl I 2l
Y% T I IW 60 TR | AfEEH &1 @I B =M

s ¥ W Y G&A 26 ¥ 30 T IH-STE U B YAE YA 5 AhT I T
Y% T 1 IW 120 VARl § Afeen 1 781 g1 16Ul
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. GUE T T U 9@ 31 9 33 BY NHRd U 81 U&E WeT & Wi 3-3 S ©

Y U9 4 3k H B

. @UE 9 H YUY G 34 3R 35 AEfad S| uv 7

Tt (4 k) 3R s (2 3fH)

. TE U U9 § gAY ®Y ¥ fowey o1 *iE gauE T8 § R off Suws § fasew @
YEY™ g1 TH Y3 | § %had T fowedid 99 i ST fae 2

. 3ES i Yo @Ue 3R Y¥ % Wiy Wl ot fevaes v, yue § fRy K
2l
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Section- A (@8 &)
Resources that are classified on the basis of their origin are:

a) Biotic and Abiotic

o

) Natural and Man Made
C) Renewable and Non Renewable

d)  Potential and Actual
frefafad & @ ®F 9 HEEA SAf™ & YR W oied fhT Wi €7
%) Sfeer R TSI W)  Yiplae IR HHe i
M) TR SR sEdRvE W) Heifad iR Atk

The Resources available in a country but not fully tapped are
known as:-

a) Biotic Resources b) Potentials Resources

C) Abiotic Resources d) Actual Resources

T G SS9 ° Syers € W feR 98 e ° v A1 fmen
T 3% frefafed § 9 9 el S 22

%) Siferh HETEA @)  Hefed g

) eraifas HEEA W) o ganeE
Which one of the following is the most populous Continent?
a) Asia b) Africa

C) America d) Europe

frfafed & @ #F o FeEY qo¥ siftd SAEE A TR 87
)  TREn ) ST

M) SH{w ) U

In the question given below, there are two statements marked as
Assertion (A) and Reason (R). Read the statements carefully and
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choose the correct option.

Assertion (A) : Mineral deposits play a dominant role in the
distribution of population in a region

Reason(R) : The hilly areas of Jharkhand have rich mineral
resources which attract large industrial settlements

options:

a) Both (A) and (R) are true and (R) is the Correct explanation
of (A).

b) Both (A) and (R) are true but (R) is not the correct
explanation of (A)

C) (A) is true but (R) is false
d) (A) is false but (R) is true.

F= fou T g | T wed, Ao (A) 3R ®Ro (R) ©1 HeRl
ufeu 3R el famed &1 =om Hifvg:

sifaeped (A) : el &3 ¥ Sge & fomo ¥ e yq@ i
fasm 2

FO (R) : 9REE & TE &9 § 9gg @i gaeH € S oe!
treifirer afqel & a& 1 HRO 2

fase :
F)  (A)3R (R) < @&t € &k (R), (A) 1 ¥t = 2

@)  (A) 3R (R) I W& 7 3R WG (R), (A) I W&l =men T&l
2

T (A)TE @ A (R) Ted R
T)  (A)Ted 7, Wg (R) T 2
Choose the incorrect statement from the following

a) The growth rate of population is the net change in
population between two fixed periods of time expressed in
percentage.
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b) The growth rate of population is negative if the population
declines.

C) The growth rate of population increases when birth rate is
more than death rate.

d) The growth rate of population decreases when in-
migration is more than out-migration.

frfafea ¥ 9 o ®oH 9T -

F) ween ‘i’ q v safEl & e S ¥ g s
et faed o o w2

W) SEEEN Ted W SEE ®i giget’ o 8 S ©

M) SEE #i gig 99 Sedl € We o R, g K 9 e
Bl B

H)  EEd ¥ ‘gigel’ 99 wH Bl © S 3T ol YerreE i
T e W a9 gt @ eifien g 2l

Fill in the blank by choosing an appropriate word from the
following -

The Ancient Indian history is included in the ..................... period
a) Vedic b) Mughal

C) British d) Modern Period

= XU vkl ¥ 9 Th S0 R gH W e wum & gfd i
T IR 3R A e 1A § wfae fan e 2

*) o @) g

M fafew W) MYk

Which of the following is Not a source of Information of modern
Indian History

a) British Document b) Inscriptions

C) News Paper d) Books
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10.

freAfefed & @ A o e IRATE Sfer 1 SRRl 1 Hiq Tl 2
%) fafewr swmes @) focmwcE

M) TR 99 ¥) g

The source of information of Modern Indian History are Preserved

a)  Temple b)  Church

¢  Community Hall d)  Archives
aMyfTeh R 3fier & i Frefafed o 9@ wel diferm €2
%) AR @) fRemR (F)
M) AR e q)  AMeEmR

Which one of the following was NOT a socio-religious cause for
the beginning of Revolt of 18577

a) Policy of racial discrimination
b) Industrial goods from Britain flooded Indian Markets
Q) Introduction of Western education

d) Conversion of Indians to christianity.

1857 & fosiE =t yr&ema & foq frefefead o @ & o T |t
HTfHe PR T&I of1?

%)  AAI W_HE & A

@) e Y Siifies oRgel W WRAE SIS el ST
M) uRErd e & EsTd

) AR a $EE oW W OgRedd

Who from the following was the First governor general of
Independent India?

a) Lord Curzon b) Lord Attlee

Q) Lord Cripps d) Lord Mountbatten
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11.

12.

frefafed § § ®F @dd 9Rd ® YUH T SRA 97
%) e e ) i
M) e fo ) AE Hiseded

Identify the leader from the following who spoke the words
given below

“The day is not far behind when enlightened and ignited minds
will transform India into a competitive beautiful nation.”

a) Jawahar Lal Nehru b) Sardar Patel
C) Dr. AP.J Abdul Kalam  d) Dr. Rajendra Prasad.

frafafaa 5 9 59 a1 <t 989 ifse e qefafed s 9 9 -

“og fT R A T9 Yeg IR wafaa Afask wRa # s giaerst g
Wﬁwgﬁ”

F) AR 1w W) WER 9

M) B LS. TEA Ha™ ) Tl TS TR

Which one of the following statements is the meaning of
‘sovereign state’.

a) Government is elected by the people.
b) Country is free from any external controls
C) All religions enjoy equal Freedom

d) The Head of the state is an elected person.
frefafea ® 9 ®F o %Ud ‘w9 T w1 e 22

®)  WHR S gR g S @)

@) 3 fed ot sEd w9 g 2l
T 3w gt od A wdE 2

) T o1 qien T Fraffad safe gar 2
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13.

14.

15.

Which one of the following freedom is Not available to the Indian
citizens?

a) Freedom of speech and expression

b) Freedom to Form association and unions

C) Freedom to assemble with arms and weapons
d) Freedom to reside and settle in any part of India

frafafed & @ IR TR B B @ A S T/ 2
F) T s AR A

@) ggeE iR e fefor &) s

M) TER % WY $hagdl B i waudl

¥)  9Rd & fEE o TR A WA SR 9w &1 wEd

Which one of the following pair is correctly matched?

a) Right to work - MNREGA

b) Right to education - Directive Principle
C) Safeguard Public Property - Fundamental Right
d) Equal pay for equal work- Fundamental Duty

frfafea & 9 o9 @ gm 9 gafaa 21

%) M H AYSRR - TR

w) foan @ afver - feve fagia

M) HEWTR HOd H G I - Hifd e

¥)  HEH &M & fau 96e ad9- Oifas wde

In the question given below, there are two statements marked as
Assertion (A) and Reason (R). Read the statements carefully and
choose the correct option.

Assertion (A) : The Vice President of India takes over the
responsibility of the President in case the office of

[ 286 ]



16.

the President falls Vacant.

Reason(R) : The Vice President is elected by the nominated
members of both the Houses of the Parliament.

Options :

a) Both (A) and (R) are true and (R) is the Correct explanation
of (A).

b) Both (A) and (R) are true but (R) is not the correct
explanation of (A)

C) (A) is true but (R) is false
d) (A) is false but (R) is true.

i fEw T yea §  wed, AAfawed (A) @R &R (R) B FeAl F
ufeu 3R &) famed &1 =w@m Hifeu:

AfTFe (A) : Teufd &1 g R g &1 Rodt ¥ 9ra & ISwrsefd,
Tzt w1 et a2

FRO (R) : SRUfd 1 FAE AT G o HHHIa ge@l g faan
ST 2

fase :

(A) 3R (R) SHf W&l € iR (R), (A) &I W&l =ame 2
@) (A)3R (R) 3 T € &R W/ (R), (A) F Tt = & 2
(A) & & @fd (R) 7o 2

T (A) T 7, Wg (R) TE 2

%)

M)

Complete the sentence correctly by filling in one of the following
options : -

In India the supreme court solves not only the disputes but also

a) Keeps a check on the opposition parties

b) It is the final interpreter of the constitution
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17.

18.

19.

20.

21.

C) Supervises the working of both the houses of the
parliament

d)  makes amendments in the Constitution
Frefafed ™ & ke T foewed ° 9 92t fosed 99 X qof ifsq
TR § Tated ARed T Hae (A&l H HEEE H T ACHE v
%)  foled sal W AR T R

W) I G w1 e

M) HEE H I G w1 HEGEN HFEREAT FO B

o) gfaum o Hened s 2

Section- B (&S @)
Analyse any two reasons for the decline of sex ratio in India.
IRd H famgua ¥ fiee & fohgl <1 wRon 1 faweor wifs)
Why is the literacy rate an important indicator of the socio-
economic strength of a country? Explain any two reasons.

HaRal I, ol < o1 arf-snfdies wife o1 T weequl Hehd I
22 HI3 T HNU TR HITSY

“The Permanent Settlement gave birth to a new class of landlords
and increased their power.” Justify the statement.

“rorft el A SHIRR % Tk AU o & 5= fEa @R 3T vifed o
gfg &I'" ®eA &l gfe wifsu

Examine any two reasons for sending the Simon Commission to
India by the British Government.

foafesr TR g0 9T § 9EH FHITE 999 & TRl g RN 6l

T&TOT hifer|

Write any two Directive Principles that are included in the nature
of ‘Social Principles.’
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22.

23.

24.

25.

ratfsrer fagial o wifaer fere SI9 aret =i =) Fifa feves fagia fafew)

“In India Central Government is more powerful than any state
Government.” Support the statement with the help of two
examples.

“ard B TR R off 59 R 9 stfus sifseent 717 ]
ST 1 TEAl ¥ HeA &I g ity

Section- C (@ )

Highlight the contribution of Birsa Munda in the Tribal Revolt
against the Britishers?

OR

Explain any three reasons for murmu Brothers to revolt against
the Britishers.

S & fowy SHemdE fosie ¥ foxan quetr & aFeH &1 3SR i)
e

7H WAl g SUsh & fowy fage & & fR=l 39 ®Ron i =
STy

Highlight any three main provisions of the Indian Independence
Act, 1947

TR Tadsrdr fafaam, 1947 & fo=l 9 gaem W Yk Sifdu)

Examine any two differences between the functions of the speaker
of Lok Sabha and Rajya Sabha.

OR

Analyse the importance of the “Vice President” of India.

AFGT 3 T o TG b HA B dg TRl & ST H G
EAiS

31eqa
IRd & ‘ST’ & Hed & faveryul Siftg
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26.

27.

28.

29.

Section- D (€T ¥)
Suggest any five method to conserve water.
OR

Suggest any five methods to conserve soil.
Sl HEU % HiE Tid U GHET

SEE])
T W& & 1T G I YA
State any five characteristics of ‘“Temperate softwood Forests.”
it wfedeia o= @t #E W= R fafem)
The revolt of 1857 was a great event, but it was effectively

suppressed by the Britishers.” Support the statement with
five arguments.

OR

Why did the revolt of 1857 prove to be an eye opener for the
British which Compelled them to take some corrective actions to
re-establish their authority? Explain.

‘1857 1 Toxig Wk SSI Bl off, W SIS - JHERNC ST § SHbI
Tan feam’ f=l of9 ql &t WerEd | FeH @t g Hifsu)

SEEN

‘1857 =1 fagie f@ gwR U &1 efd @ieH aren fag gan @R
3= foaer g X o IfyeR # 99T R % fau w8 guncds

FH I3M US| TR Hifeu

State any five features of the Parliamentary form of government.
OR

State any five constitutional provisions that make India a
Federation with unitary features.

TEET IMEA Yot i Tl o foRivaet &1 Sooi@ Sifsa)
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30.

31.

3reran

fereel e G Wl 1 oo FIFST SR TS
foreroansty aren we a9 €
Describe any five legislative powers of the President of India.

IR & U i TRl wig faurh sifedi &1 9o S|

Section- E (@T &)
Read the source given below and answer the questions that follow:

“All the things on earth which are necessary for our existence
on this planet, are known as resources. Even human beings are
considered as a resource because human beings are an asset. It is
only with the help of human skill that the other resources can be
developed. Resources become useable when they are processed.
With the advancement of technology. availability of capital and
skilled labour became a necessity for the utilization of resources.
For example, the USA is termed as a developed country because
it is economically self-sufficient and technologically advanced. On
the other hand India is still in a developing stage”.

31.1 Why are human beings considered a Resource?

31.2 State any two factors which influence the utilization of
Resources.

31.3 Why is India still in a developing stage? Explain any two
reasons.

F= feu T g o ufeu SR SEe | fRu T uwe % S g

“gest W 9 el aEY S TH UE W TAR 3N & faw srewds €,
FHHA HEdrdl 81 Tl q%h T T i W Teh GEEA & ®9 H G S
& iR IS b HET @1 HId hIvel i TRl W € 3 GHEA
forehre feha ST Wehal 81 THER B & o€ FHEE YA %3 479 81 S
g1 drEifieht 1 S & WY WY WA % S & forg geft #iR s
e Bl Sl & Ty ge T SR 1 T faeRfad 29 el
STl SEifer g8 enfef w9 W et SR draifel § S @1 gEd
AR 9qRa aAeft forepraeiier ereeen o 21"
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32.

3.1 O o GEEA & A S 82

312 HEEA % SYAN l yaifad s ol Rl S Rl 1 Soaid
HiTSTT

31,3 ARG At off foemreiiar stawen ¥ w82 ®IE q FHR0 W
EAIEI

Read the source given below and answer the questions that follow:-

In 1922, the police fired upon a group of demonstrators, at Chauri
Chaura in Uttar Pradesh. The agitated mob set the police station on
Fire and burnt 22 policemen alive. Gandhi ji was shocked. He called
off the Non-Cooperation movement as he felt that the movement
had lost its non-violent character. Some leaders supported his
decision but leaders like Jawaharlal Nehru and Subhash Chandra
Bose opposed the withdrawal of the movement due to one violent
incident.

321 State one reason responsible for the beginning of the Non-
cooperation Movement.

32.2  Which Party was formed by Motilal Nehru after the
withdrawal of the Non cooperation movement?

32.3 Explain the significance of the Non cooperation movement
in India’s struggle for independence.

F= Ry MU g w1 iR SR SHE 9% oM o Wl &% S 3

1922 ¥, gfed 4 S WY & A0 AN F YeeRRE & Tk 99 W
Teft wer <1 shifa g 3 o o e o @R 22 yferessial i fS
STt e Tt St Rt gkt Tl I STEEAnT SR i afad & femn
Hifer 5% @ fF etidier 7 oo ifews =i @ Ko @1 % Aare |3
ST hEe w1 GHL TR wifehd SemetE TEE SR gum =g O Sy
AT A UH fETw TSN & HRUT SN i A9d o k1 fauy fEam

32.1  STHEAN M=o & YRE B 1 i Toh &R0 fafem)

32.2  STHEAN ST ki AT9El o &% HIUF & Adl A T88 o
fFg a1 &1 T fwan?
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33.

323 HdIdl & AU 9 & 99 § AU e % Hed hl TR
Hifa|

Read the source given below and answer the questions that follow:

The Supreme Court of India comprises of a Chief Justice and a
maximum number of 31 other judges who are appointed by the
President of India on the recommendation of the collegium system.
Collegium is a closed group consisting of Chief Justice of India and
four senior judges of the Supreme Court. While appointing the
Chief Justice, the President consults other judges as she/he deems
proper. Normally, the senior most judge of the Supreme Court is
appointed as the Chief Justice of India. Similarly, the other judges
of the Supreme Court are also appointed by the President of India.

33.1  Where is the Supreme Court of India located?

33.2  Which system makes recommendations for the
appointment of Judges of the Supreme Court?

33.3  Which two essential qualifications are required to be
appointed as a judge of the Supreme Court?

F= Ky T Ha # 1 iR SIR SHH 9% oM o Wl & S 3

IR & Haied <EeE H Th & <FEEy & Afdie sifemad 31 4
A B € S hictforam yomedt st faiier ™ 9ra & Tegafd g g
foran ST 1 T T W wge § O 9Ra & gem =i @R weted
A % =R GRS S Wi e € ged e s Fa s
o, Togafd 1o e W o o el § Wt s © 5 o ot
T o8 Sfed THIA €1 S AN W, Helted e & oS RN
9RA & G A & ®9 P TR S €1 3 TR Helted =
% o I e o wrd ® Tegafd g S 2

33.] 9RA @1 9ared < HEl e 22

33.2 Hdred AEeE & ARt w gfe 2g fRw gomedt & "ieem
g famifer # S 22

33.3  Hdied <AEed & <R e g6 & fau savas wE
TArand fafen
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34.

Section- F (@% <)

Two places A and B have been marked on the given outline
map of the world identify them with the helping information
and write their correct names on the lines marked in the
map.

A. Region of high rainfall in South America.
B. Type of forest

On the same political outline map of the world, locate and
label the following

C. Region of low rainfall in Australia

D. Region of Temperate Softwood forest in Asia.

HOR &% TsHides @ AETES W g @80 A 3R B 39T U g
= T TR & YR W S TSNy a9 S &l ™
gHfes o St T et wfafem)

%) <o smRen | sAfye aui aren &7

@) Il h TH YR

feu U HUR # YeHfdew W wAfas ) fefafed s geise den
39 T fafeaw

M) omforan w1 %9 W aren |
) e | vfiar sfedfia (TREd) O w1 T &
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MAP FOR Q. - 34

| 2 The Extemal Bow b if Inia shy s Map agreo with the R Master Copy Dy A- 6 Maya Puri , Ph-1,New Delhi-84
Vide Lettor No T.B. 36382-0-3A-2  Dated 1007/2014 Rt
l!hﬂr@.i-‘“

Alternative question for visually challenged students in lieu of

Q.No. 34

341 Which region in Southern part of Africa gets low rainfall

34.2 Name the type of forest found in South-Eastern Asian
Countries.

34.3 Name a region which receives high rainfall in Africa.

34.4 Name any two trees commonly found in Tropical

Evergreen forests.
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35.

W9 GWE 34 & WM W gheartua faenfoat & fau denfeusn v
34.1  STRISRT & SFRIOT N k1 FH 9O Tl &F HH 9@ 2?2

34.2 o g URMN ¥ 9 S arel 99 1 99 fafau)

343 <faor ol W sifver 9wt amel & @1 AW fafeu)

34.4 Tl T gani & AW fafau S g 37 FHfedfiE g3@er
9§ 9T S B

On the outline political map of India, locate and label the following
places.

a) The place from where sepoys broke out into open revolt
on 10th May 1857.
b) The Place where first meeting of Indian National

Congress took place in 1885.

qRd & U U Y@ ' e geftas ® fEfafed e s gar ol
R g 99 fafee-

(%) o Ty el 9 famfesi 3 10 92 1857 o fagie arw fwam
(@) o8 T &l 1885 | 9RAE U SiUE Hi Ygelt S g3 off|
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MAP FOR Q. - 35

—
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(Ve e oiter Mo TB. 452.A-360-2 Distnd 15:11,2010.) Phone No. : 28113536
Price - ¥ 200

Alternative Question for Visually challenged students in lieu
of Q. No. 35

35.1 The place from where Nana saheb led the revolt.

35.2  The place where congress split up into Moderates and
Radicals in 1907.

W9 WEAT 35 & AN W gREaTiad Bl o o Sehfedess WoAl
34.1 9% TN Wl ¥ A9 9Rd A fagie &1 A fw

342 o€ T W@l 1907 W hiM % H S IR T A § e gem
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SOCIAL SCIENCE

(Model Test Paper - II)
Maximum Marks : 80

MARKING SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by the candidates,
be suitably awarded. )

Marks
S. Allotted to
. VALUE POINTS/ KEY POINTS cach value I\T[g;ils
Poll)nt/Key
oint
Section- A
1. | a) Biotic and Abiotic Resources [pg. - 3] 1 1
2. | b) DPotentials Resources [pg. - 4] 1 1
3. | a) Asia [pg.-83] 1 1
4. | a) Both (A)and (R) are true and (R) is the Correct 1 1
explanation of (A). [pg. - 86]
5. | d) The growth rate of population decereases when in- 1 1
migration is more than out-migration.  [pg. - 86]
6. | a) Vedic [pg.-95] 1 1
7. | b) Inscriptions [pg.-95] 1 1
8. | d) Archives [pg. - 95] 1 1
9. | b) Industrial goods from Britain flooded Indian 1 1
Markets [pg. - 127]
10. [ d) Lord Mountbatten [pg. - 174] 1 1
11.| ¢) Dr. A.P.J Abdul Kalam [pg. - 180] 1 1
12. [ b) country is free from any external controls 1 1
[pg. - 189]
13.| ¢) Freedom to assemble with arms and weapons 1 1
[pg. - 196]
14.| a) Right to work - MNREGA [pg. - 201] 1 1
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B ettec t0 ﬁg:ils
Point/Key
Point
15.[ ¢) (A)istrue but (R)is false [pg.-212] 1 1
16.| b) Itis the final interpreter of the constitution 1 1
[pg. - 230]
Section B
17. | Sex -ratio in India is declining due to following reasons: 1x2 )
i)  preference for male children to social, economic
and religious reasons.
ii) Infant mortality is higher among girls than among
boys because of lack of proper medical facilities.
iii) General neglect of female children during
childhood is largely responsible for high female
mortality rate.
iv) Pre-natal sex determination tests continue to large
scale practice of female forticide.
(any two)
(any other relevant point)
[pg. - 88]
18. | Reasons for considering the literacy rate an important 1x2 )

indicator of the socio-economic strength of a country

i)  The people of a country are its real wealth. They
make use of country’s resources.

ii) Population becomes human Capital when there
is investment made in education, health and skill
development.

iii) Investment in human Capital Yields highest return

(any two)
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Marks

Allotted to
. VALUE POINTS/ KEY POINTS B ettec t0 ﬁg:ils
Point/Key
Point
(any other relevant point)
[pg. - 89]
19.| i)  They had the power to evict any cultivator of the Ix2 2
soil due to non-payment of revenue.
if) They used oppressive methods to collect the taxes.
iii) Maximum benefit went to the Zamindars. As the
Company could not claim on the increased income
of Zamindaras as they had fixed it permanently
(any two)
(any other relevant point)
[pg. - 112&114]
20.| i)  To review the government of India Act of 1919. 1x2 2
ii) To suggest further reforms to appease the Indians.
[pg. - 162]
21. | Social Principles 1x2 2
i)  To make an effort to raise the standard of living
and public health.
ii) To guard children against exploitation and moral
degradation. [pg. - 200]
22.| Central government is more powerful than any state 1x2 D)

government because-

i)  The Parliament has the exclusive power to legislate
on all the ninety seven subjects of the union list.
All these subjects are of national and international
importance.

ii) Regarding all the fifty two subjects included in
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VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

23.

24.

ii)

iii)

ii)

iii)

ii)

the concurrent list, parliament as well as the state
legislatives both may make laws But in case of a
conflict, the central law prevails over the state law.

[pg. - 208]
Section C

As the Birsa movement spread, the popularity of
Birsa Munda also increased he told his people that
land policies of the British were destroying their
traditional land system.

Birsa was jailed for two years but on his release he
instigated the tribals to attack zamindars.

He raised the white flag as a symbol of Birsa Raj.
This movement ended in 1900 with the death of
Birsa [pg.-118]

OR

The santhals found themselves quite helpless
against the ruthless exploitation and oppression of
the traders and the middle men.

They were expecting the British government to
safeguard their interest.

When nothing was done, they revolted against the
Britishers in 1855 to 1856 under the leadership of
Sidhu and Kanhu Murmu, Popularly known as
Murmu Brothers.

The British rule over India would end with
immediate effect.

West Punjab, North-West Frontier Province, sindh
and East-Bengal would to to Pakistan

1x3

1x3
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgrell( S
Point/Key
Point
iii) The Princely states were given the freedom to
decide which dominion to join.
iv) The dominion of India and Pakistan were granted
complete freedom and they became members of
British Commonwealth. [pg. - 173]
1Y2+1%2 3
25. | Two differences between the functions of the speaker of

Lok Sabha and Rajya Sabha are-

Speaker of Lok sabha |Speaker of Rajya Sabha

i) [The Lok Sabha i) | The Rajya Sabha
Speaker presides Speaker connot
over the joint preside over the joint
sitting of both session of lok sabha
the houses of the and rajya sabha
Parliament

ii) |She/He has the [ii) [She/He does not have

the right to vote on
any issue raised in
Rajya Sabha unless
there is a situation of
tie.

right to vote on
any issue raised
in the Lok Sabha

[pg. - 212]
OR

Importance of the Vice-President of India.

i)

ii)

The Vice President of India is the ex-officio
Chairman of the Rajya Sabha

She/He presides over the meetings of Rajya
Sabha, conducts its proceedings and maintains the
discipline and decorum of the House. [pg.- 212]
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgrell( .
Point/Key
Point
Section D
26. | Methods to conserve water. 1x5 5

i)
ii)
iii)

iv)

Water harvesting is one of the methods of saving
surface water runoff

The surface water runoff can be minimised by having
vegetation cover to improve underground storage.

The demand of water for industries can be met by
the recycled water

Water can be saved by adopting modern methods
of irrigation, such as drip or trickle irrigation
technique and sprinkler method of irrigation.

The rain water can be impounded by making dams
across the rivers.

(any other relevant point)

[pg. - 16]
OR

Methods to conserve soil

i

ii)

iii)

iv)

Afforestation reduces the surface runoff and binds
the soil.

Rows of trees or shelter belts are  planted in
desert regions to protect the fields from wind
erosion

Overgrazing by animals like sheep and goats must
be checked.

Steps should be taken to check reckless cutting or
felling of trees.
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgrell S
Point/Key
Point
v) Floods should be avoided by building dams across | 5x1 5
the rivers
(any other relevant point)
[pg. -12]
27. | Five characteristics of temperate softwood forests. 1x5 5
i)  These forests are commonly known as Coniferous
forests as the shape of the trees look conical.
ii) Most of the trees are tall and conical in shape.
iii) Due to their shape, the snow cannot accumulate on
them.
iv) These trees do not shed their thick needle-shaped
leaves and hence, look evergreen.
v) These trees have commercial importance and are
used for various purposes, such as making of pulp,
plywood etc.
(any other relevant point)
[pg. - 24]
28.| i)  British military officers freed Delhi, the epicentre 1%5 5

of the Revolt, from the rebels.
ii) The kashmiri gate was blown up.
iii) Hundreds of people were massacred.

iv) Bahadur Shah Zafar II, The mughal Emperor, was
tried for treason and exiled to Rangoon.

v) Lucknow was recaptured in 1858.

vi) Rani Lakshmi Bai was killed in the battle and
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgrell( S
Point/Key
Point
Tantya Tope was Captured and hanged to death.
(any other relevant point)
[pg. - 129]
OR
i)  The rule of the East India Company ended with
Queen Victoria as Proclamation of November 1,
1858.
ii)  The British Crown took over the administration of
India. 5x1 5
iif) The governor-general was given the title of
viceroy- The Representative of the British Crown.
iv) The British reorganized the army to prevent any
future revolts.
v) Full religions freedom was guaranteed to the
Indians.
vi) The policy of ruthless Conquests and annexations
of Indian territories was given up.
(any Five)
[pg. - 130]
29. | Five features of parliamentary form of government are- 5x1 5

i)

ii)

iii)

In a parliamentary democracy, there is a close
relationship between the legislature and the
executive.

The council of ministers is constituted form
amongst the members of the legislature.

It holds the office as long as it continues to enjoy
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No.

VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

30.

iv)

the confidence of the legislative.

In a parliamentary form of government, the head
of the state, the President in case of India, is a
nominal head

Although She/He enjoys many powers, but in
practice all these powers are exercised by the
council of ministers headed by the Prime Minister.

[pg. - 190]
OR

The following points support the statement that India is
a federation with unitary features

i)

ii)

iif)

iv)

The constitution of a federation is written and
rigid and it divides powers between the centre and
the states.

There is an independent judiciary which interprets
the constitution and settles disputes.

India has a federal system but with a difference,
the central government is so powerful that at times
it appears that India is not really a federation but a
Unitary state.

However the constitution of India has several
features of a federation combined with the
elements of a unitary state.

Some people describe India as a federation with a
very strong central government.

[pg. - 190]

The President can Summon, prorogue and address
the two houses of the Parliament.

5x1
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Marks

Allotted to| Total

VALUE POINTS / KEY POINTS each value Mgri .

Point/Key
Point

ii) She/He can dissolve the Lok Sabha before the
expiry of its normal term if she/he is advised to do
so by the Prime Minister.

iii) No bill passed by both the Houses of the Parliament,
becomes a Law without his/her consent.

iv) Prior approval of President is essential before a
money bill is introduced in Lok Sabha.

v) 12 members of Rajya Sabha are nominated by the
the president from amongst the distinguish persons
in the fields of art, science, literature, sports etc.

vi) He/She can also nominate 2 anglo indians to the
Lok Sabha if the community is not adequately

represented.
(any five)
(any other relevant point)
[pg. - 222]
Section E
31.1 Human beings are called a resource because human 1 1

skill helps to develop other resources.  [pg. - 1]

31.2 Availability of Resources. 1 1
Skill of Human beings
Availability of Capital
Availability of Water
Advancement of technology
(any two)
[pg. - 2]
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B ettec t0 ﬁg:ils
Point/Key
Point
31.3 India is still in a developing stage because. 1+1 2
i) Itis not economically self sufficient.
i) It is not technologically advanced. [pg. - 2]
32.| 32.1 Injustices done by the British in Punjab and Turkey 1 1
32.2 Swaraj Party 1 1
32.3 i) It was successful in bringing the entire country | 141 )
close and helped in giving a national character
to the country’s freedom struggle.
ii) The wunity between hindus and muslims
strengthened.
iii) It took the form of a mass movement which
involve peasants, traders, women etc. [pg.-162]
33.| 33.1 The Headquarter of the supreme court is situated 1 1
in New Delhi [pg. - 233]
33.2 The judges of the supreme court are appointed by 1 1
the president of India on the recommendation of
the collegium system. [pg. - 233]
33.3 Two qualifications required to beajudge of supreme | 142 2

court are -
a) She/He must be a citizen of India

b) She/He must be a judge of the high court/
Courts for a minimum period of five years

c) She/he must be a distinguished jurist in the
opinion of the President of India

(any two)

[pg. - 233]
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VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

ANSWER MAP Q. - 35

he bopraprate taselne

E S.K. PUBLICATIONS
v of e 3 Masiar Copy - A-Umﬂ.mm
Vicke Letter No T8, 3M2-5-3A-2  Dated 10:07/2014 A No.:28113538

34.

Section F
A) Equatorial region of South America
B) Mediterranean forest

Alternative question for visually challenged students
in lieu of Q.No. 34

34.1 Kalahari region

34.2 Tropical evergreen forests

1x4
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B ettec t0 ﬁgiils
Point/Key
Point
34.3 Equatorial region/congo basin 1 1
34.4 Mahogany/ebony/rosewood, rubber/palm 1 4
(any two)
35. | Correct location of places-
A) Meerut 1x2 2
B) Bombay
Alternative Question for Visually challenged students
in lieu of Q. No. 35
1x2 2

35.1 Kanpur
35.2 Surat

ANSWER MAP Q. - 35

INDIA - POLITICAL AND ADJACENT COUNTRIES
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12. |enge e TgIh e 1
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33.

34.

35.
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SIS % Wda FrEH ¥ 'y wn e et @2

YR & HIE B: W faee 36! ==ren fafem)
Frere
T HTH i SRAT SHIfST
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fawa: wifqen forem (wem) 2023-24
ik TauTe wd ST-Hehd Jferhan 39k 80
= ey afs gdenedf 7 ton +iE WE S| foren 8 S 39 SW Hehd H 9 ® d S99
ot Frgag % R |

. . faifa | =/
aTT-%
1. @, 7 1 1
2 T I 1 1
3. ERCICIS| 1 1
4. | ofizd 1 1
5. R ARIRE| 1 1
6. T, 9 1 1
7. T, @ 1 1
8. o, M 7 1 1
9. . HETcHT BHUS 1 1
10. |7 fem@ 1 1
1. @ e 1 1
12, |W. aFTE 1 1
13. |9 1886 1 1
14.  |@. omfER 37 At 1 1
15.  |@h. ¥Rd 1 1
arT-T

16. |99a/99Ed & Gl I foeRfad & aren stefq §EEal | 2

a1 SgH arel| 2
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UEE , . fruifa
- Ity Heaie foig st
17.  |3T§F & TS T & 1+1
18.  |9maffaneht, 3:@-grAl, feis-aret| ($18 I Afewn o) 1+1
19.  |=9 H e, YA SR wAlQ § @ 1+1
20.  |mA % Yfs w1 faum T @ % enm wA doAf, gu, eEwR| 2
afe R el ¥ god e O & wia B, HgwEEr SR
TEAN M T 3R A ¥ 9 R
21, |smmn, wfE, S9E, IR Yox4
22.  |=f-gfei & R fomneft &1 Sftem 9ga & e, da | 2
SN BT feq| 39 s H fomneff =1 fomn o &6 &
fow. 3R uRem & =nfeu|
23, |9 & o U™ % & U e 9 fyen § ®wEe US| 2
FE B
24. |12 TR 1967, SENE| 1+1
25.  |€. T-1910, TA.TAH.-1912 1+1
W17
26.  |"uw SER WA AW FwA [E 17 A R AER W Fw| 3
el T E R
27.  |E-wH, a=F R wH 9 TG "t & e e gl | 1%+1%
e a1 AR ww g few 2
28.  |foremefi- fomnefi = foru au =€t @ for sfua @mw, Sfaa @@ eR| 1%+1%
AT H T < 9 L hH T w9 g ° feem | sifee
foam wew R
ST~ STET0T <l Y ofR] o1 STEE T 92l &Y ol TR HET €
29. |womt <am=, T fadeT, HETAT T 1+1+1
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o . . fraifa | =
) ITufera Hodiehw foig ) b
HET & 3Hh 3Hh

30. TR TRA, 50 He=< HeloH, 90 ToH, Heredl 89 TS| 1+1+1

31.

32.

(e off o 7=)
-7

T&hd 9 | oS % &R died | fedt gEd o9m
H oTUe AU WA T HEhd S drdl ol fava-w I,
foRo: 9Ra ot fopelt ft w1 1 died § A T sTden A
T Al €1 THeh ARl SN AR 1 e g &l 9%
faen 9em #a € TEQ o w1 e den fomm & fawai |
o9l G ©l W R

31eqel

HOR 1 GHE Uishd 9l § Ghd & YrEiaad 81 HEhd
dier 3R fered el 3 "ehfa qen g w1 fmio fen
Bl IR I MYfer AOTd HWeha oo @ € fenelt 1 HWehd
3R RAETTHE! 1 AT SR 3 ol GeY | H&hd 9l
qrotetl @ e §, STqud HEhd 3 WIS i S 2

T 2 A0S 1 use o &1 22 fKu 9 & vt ® 7
39 Tl 109 R IR Tohg o 96® S ¥ Al off| 95® S
T Y SIS I WA I &3 B o1l $ER <A St 29 W HH
T B W 9 T H s I FaE den 98 e <™
J Zeq St % =Yg fou iR I ufed dew @t <@ 9
SIS oF @A HI €S WH o &I WA A SR HEA @
Fel fF T9 TSE I & o5 SIS i R B2 Tl 3F <A, 99
e S HE® S H1 3 HEA I TS B MU SUSH Hl USE
e w ge 3 A R

J1eqel
St g WikErH A 98y gde fag feen fe 9r wwa
% Hal, Al 3R wyeti & oreErel @ feuE-faae (W 3
@ & T A O A ufvem &%) N ¥ q 9R Ui Yl ot
o<t & € <ot onl 98 9R I K GUh A o
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33.

34.

T &9 dl 98 T@ €, S A W & SH & U9 g he
¥ ® W 2

TET WU~ TR T SR T e B e S amgfa §
gftaferd om g <90 €9 gd Hed | e wmar € 399 af,
S, o, RV, geolt, sy, seufd, =, Jem iR gd
s |eft eanet i v fierdt 2

T ®U- I8 €9 IF F A6l & gad H SR 3Th Y&H
IRR © faue 9 €, S (geH THR) o & @y fader gem
21 A o TSl IRR 1 Sigdt €, @ geH IR} oft o &
Y S B T ged IR @ faudt g 9 el wgn oIk
forgeTd SeRY ST o1 GL SIR G@ 34 oTel offehl o o Sl
&l

Fere
TEehT @1ef - Ha-TUdl, WE-EgE, W~ oS Td 3
FGoHl 1 Wl HETN S AR WA € SR gl w1 e
Yol T €, ST 7, fa@n, a9 @R o, 4 =R =S et
gl HETRd & FeI-Fraftat dag ¥ FRufeet 3w €, gai i
Yol & ¥ 77 o gfg aren e @)

AT € SHfd B "= 7 W) 3% A% ot 3@ =ifeu fe 3
YUY A drell A1 1w a3 Afdd it Rt wHE
w9 9 I BNl Ued IE G o =@ifey fF TR 3@ e 9
TAR SMY-UE & o 3T &l W 39T hig T J9me ot
TEl BN BAR S 9 AR WY-WY T AN i o S
B =1feq| euRl S=ifa THS, 39 3R GHE " i S
31 B aft WER o "o g@ enmi

3+3
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Uty Hodieh foig

A

35.

SREl

BN HIRER HAN & 3= |l < | difdgess g =i
TH e Y @R 9 dier Oifet fhdt & @y wedr A ek
FEER &l HA AUl W Widgdsd =aeRr w1 31ef a8 T
for W1 oaferd SAR WY ST A1 w1 S SHEER A @l 7 SHE
e off g9 ol difa fard st oo fi & wiy fw @ ®1 TR
vl % foeg B gl foIq 3N =7aer wifayds 89 & we-we
¥d &% AR off g =1feu) ¢MiJER FEER & € §9 T A
T A UK R A Gohd &1 TH SHH SEell df T oA =,
T P T TN ¥ TR H ey & & ' 7 7@ ek
IHh R0 § UR 3T o |

1. fote:- @ 95 YR % S i Yo L €l
2. AfF:- S IFEEEY, TER IR IS w4 R
3. - St gaw fi 2, 999 S8 & @)

4. faop:- =R IR =R WA H AT
5
6

. Toma:- weeh weam w9l

. SEH:- Gl ST Rl TR dgM Sl
(3799 9™ ot |9)
31

@ St & ST ER Sia seg T € ik Sfa &1 9 iR T
i 81 g e (TWHRHT) Feld © SR ST TNl 3y B
GE-3@, S -1 % o ¥ o B 1 A hed 21 TEE
I TATCHT T Jo-IAEAT B3 o, M § 1 o6 & AW
R e W i U 8 Wehdl €1 i bt rewen W sfeme
W< B Gl Sl 7= 9 foreRor s B a0 99
W el B aaeH S | Ry Tl % SR WOE A
1 ST S T BT 2

1x6
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At -3 (fgdtar) 2023-24
HeAT-ISel

fawa-Afas forer
|HT ; 3 U JfereRan 3k : 80

e a9 -
1. gt e sifer €
2. T Y H 9N WUE § - (F, @, T AR A)F |
3. 39 U-U9 § el 35 99 €
4, IR-YFEHT W Yo I & WA ge fafen S ger-u § sifwd )

WAT-h
EI@EF%CEFW:
LR I et R 1
. Gt ©. 3@
T 5N o,
2. 3M3q wIsg | ‘o1’ e fepueR! Wiaes B- 1
*. T . g
T, I o efE iR Heg
3. ‘foraR" wrs T atef - 1
. SIgHt @, dAEHh
T, TR . ARTH
4. ToEs wedd WU 9 N W A 61 T Hednl e 87 1
F. o] @, @
T ST o, 3Ai3m
5. i o YRR Rl @ e T @2 1
ECH IS .
. YYed . YR
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10.

11.

12.

13.

14.

‘T we e -

&, <ol . g

7. A EARNEIE]

‘S owor T St qror feRe wisg W ered @2

ERRCILIE . 9q:

R C RSk

=t fosm< f/g 7= &1 99 d 972

%, Tfd 7= ©. Heqgsd 7
T, MEE g o 9 94
Q. T § U9 1 Ty R HegEy 9 22

. HETCHT BES T, efi gaH=<
T G0 AEIH . W SR
‘FA’ 3Teg T 31ed B2

%, A @, T

T e R

oo 1 3AEd 31y fehad o W e @2

%, 70 98 . 100 o9

T 120 99 .90 I9

AT AT &1 foaR IR =R f5Fg sTe™ & o & 27
&, TEE . aAYE

T o, el
. Heen % qed 358y TR 22

F. Th teAl|

A . 9R

‘it v W e B2

. 9 . e

7. f= u ufF
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

‘o= A ferae ferw wam femean T @2

&, 9Rd . 99t
. S ., SHAT
-9

& olizH e 9 o Won fierd €2

I w1 AR fRed 8 oI feed @1

T T &% fawa o were el 3w s 22

T o T foh SaEl 9§ @2

¥ 1 g 1 A SAfEE €2

s %8 I 82

I sgHl & M fafem

‘forg R WIS | M o wod qEE @ 9 WA e 22
M0 TetE= weeH & fud @ um w w9 fafew)
M0 UETE HETSH 1 S e 3R HEl ga?

TR
‘a3’ & famg ® Sufteg H @@ e mn ©?
‘W' T et ¥ SR SRl
et wd & w1 q9 fafem)
‘gui’ il fFE YR W Sier T ?2
foren =1 o1 fafEm

qNT-q

Gpd A1 SR YRS 1 Gl 3R T h g R IR 7?2
aFera

HEHd AH &1 Hewd fafeu)

[324]



32.

33.

34.

35.

TETHT T A SOsH0T 1 9RA & TR BH W 3T T3 FEIe
& & fau = T2

SRE
s 4 &l & gem & foae = fea?

SERIY Rl 38N 4 foaeet s1ef Tt wifsu)
aFeqan
AR Sed § ©H %1 31 e o

forn o stforan 9 M9 N GHEA ©2 rdEHS 3 SAfoamn & AW+
fau F=r-on & few?

Stera
s & T9d fram ¥ 79 @ foran faert @2

T SO F T Y1l ki THAT 1 hi?
Aeqan

Jatal T hi SRl ShIfSU)
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HET- IS
fawa: wfaes forem (fgdar) 2023-24
3fer faurem wd I Gehd fereRan 31k 80
wur=r Fden: afe wdenelf 7 T w9t W foren g St 39 SW Weahd | A ¥l U
off gen g sfw fEu S

OHT-%k
1. (&) TEit 1 1
2. (@) anfg 1 1
3. (1) e 1 1
4. (=) 3™ 1 1
5. (&) ™K 1 1
6. |(Tr) W= 1 1
7. (@) 9 1 1
8. (1) TEE 7= 1 1
9. (@) weff = 1 1
10.  |[(=) T 1 1
1. |(@) 100 54 1 1
12 |(%) "9=m| 1 1
13. (o) IR 1 1
14. |(=r) T 1 1
15. (=) 9@ 1 1
qrT-T
16.  |ZAR Sfed &l 9+t &7 § yfd w wd AeE O o awRer| 1+1
w1 Foon firerd 3 ?
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LA . . frgifa | =
e TR et g sw | siw
17.  |99a &1 aifwR &8 ¥ § A o faoga 1+1 2
18. |t wer e feerfem iR Wik g% @ fepen T W edfw| 141
T % Tkl Hl R HE w1 WL @ B AR AN ® 2
T ST 2
19. |wmfses v =feaa A1 S=fa 9@l 1+1 2
20. |BEM R SHASHE I BN AN, S, Sede, e oA B 2 )
TA-THH F R
21.  |"ehR 3R fomn @ g1 o € 1+1 2
22. () semed sem (I) Teear smgm () amued emsm (IV)|  Vaxd 5
T THH
23. |2 dve) S o T @ ofiq e, o H wfkd W Sfew o 2 ,
aedl g1 got 3T Wi H IR i)
24.  |faan &1 TH-gVE TH G A HT AH TR 1+1 2
25. |23 feEwR, 1889 i feumael W & fSen witel & Ta fegamr|  1+1 )
TR § g3
qAT-T]
26. |3T®R TR §eq 142
Fold 7% 99 £ N3q & B S T o, S 7, S AW T, 3
T R 8 fq SAHR G @Al & IR 9 I8 T HD LA
wdl, 9 ot AR foeme T 2
27.  |'=@’ =0 F FEd &) R H owg H A ST G A | 1%+

3IGH JeI f{u o o =l R
‘ere’ @ ot B, A T wew orefa el S wt owg I
aod § 9 @
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LA . . frgifa | =
28. |TEEElt W A9 YA URAR, FHS TS T 1 wasl ° wHg foaam| 1%+1%

29.

30.

31.

3R 9w H FE A FE |
GO/ 1 d9 Y qG1 TS hI & B U e G Bl

aui faure s @ T stftg o1, % IR W & MR W
el & el T B: =IgEvd WA g o

faumTer: sterfq =R a5t gfe o, s fgam W enenia 2
foren gurt 1 oM B1 fren SH- WA iR wHS e
TR I T EHAR e oAl i T8 il g1 <9 w1 A,

IR, AEhfas R & 9t vife @ oW e B Afm &
Fatior fawmE o Teaqut FEE @ 2

HOT-H

Teepd IR ARAATEal 1 Al IR G 1 T B GEhd W6
T et ¥ Wi €, ST SEhd 3T WISt i S 2
TH 9 % GHM Ggoldl, HeRAl SR SATgehar fhdt amw o
Bl 9RA 1 THE WS 1 Wid GEhd B WEhd & WeR 9
& fafa= wmel & v fiepel € 3R e o1 ®@ B wEE
A Tifge, 98 SeTvn, Sufes, < enfder T oiR sfaer@
ot Hepa o fo@ 7w € oW et @t wn ® ferm o
Geehd 1 M BN oEd 3TE9Ih B

reren

AN YrEad Eifecd T s o foen w@n @ S| % M R
G&pd A1, A0 A GRYRA | GHR Y FHEd Isha et
o Hepd € WEiad 1 HE&hd e 3R foen ol 3 gehia
den qerar 1 fmior fhen @1 wRa # smyfTeR W Heha
qrer ¥ & ferell €1 GEhd % YR W TC-TY IR i T H
1 IR &mal 21 gHA Aweh § wifaes = qen a6y we
ol 1 € Seoi@ e € Seieh HEhd § e WIY-Eiy

1+1+1

1+1+1
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32.

33.

e foan 1 oY oM o e Wer femdE €1 Hehd
T S HEHd G 6 A SN ER HER 6 @i 2

39 Al 9% o <o "o ¥ &=T H gEnor T8 s ¢ 9o
I% gam fo st 3 #E wiw T Ken 3% I wew o
- “gfren &t o s =ifew fo iR (steiq wRd) STUSH
S 21 S @ el wed o fem fafe W oeer W oW W
SETER Bt @t o7 & fokeht e o fvan 1 fean S0 a1
I TR STEATIHT i TN AT 3T hl HeR HR 3Tl i
AR FId S SAEd R 31l H qeT &kl % dAR T
M H TSR A wal’

SEEl

T T A o e gy o fe=t ol STuAEn S et T
et ¥ fam 3= e 1 e % 9 9@ TR SR wedt
2Tl A TH U H HaE I 3Tk A o FEN A
&t & yuR & forg emers & fry &= & wHER-T @ik
ufrehTd faehrefl| <faror s, frs ik wifter, sTwteRt safs
¥ off o TS & YRl 1 T yER H 9gr & e
fet-mfeet & Fior w0 ¥ om-faget w1 9ed @ e
AN Wl 399 ¥ 9gal &l e, aRdE Tt difecd T e
TN ¥ WIS TR 3R S=ia Ud qRfih SRl 9
TR I g 2

eI H1 U TH G B W 9 d YHR EH
ST a9 TETHT &1 O &%, =9 § &8 S 3R
M- Bk W & 3z A¥an fordt o= M 1 39d
A BT ST LA TS 7 1 ST Hich 9o qefl ST
1 fome T =1fET iR 78 U9 %9 Jegd | gaed @ o
qT W ! YA ¥ T KT =M

rerer
TAR W S & ot oH w1 S 9 T 2| U @RR

343
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34.

R, 7d W, Ih g wE o, ge e §, 7@i 9 fm S
AR g & o5 ft TH H TH THR @IS o4 KA1 B
S8 ST for g w8 & T Wehdl TH 7 @ 7T &
T-01 ot faga-dt S gt 31 9% faga s o wfas
B € o ufesar o ®, TH—Aar ot @1 Wil § Heenu
M 2| T8 Hiftash 0 TF & @Y € 477 & 3= ot 31
2, 3afey BAR od ¥ Yd T W, Y% 91d & fau T
1 e o w2

foen 1 a1l forelt oft o w1 Fened srefq Sw-dw TE R
arEdfeshdl & foadia @ i eifern wed €, S i i gl
A, S I T9 HHSHI, T4 S WA GHAI, I§ AT
eiq oM 21 srufavard o fordl ot = W fam wie-omg
forgamrd R o off stferen @1 rEiEEN 3 W erufavaEl S9-
Tolwen, fauer-foare 9 @, geEd R aa-foare efg #
T 0 & forg agd var e B srufavaral = e
w1 T S W @ T w5 gig, TeE R

SE]

70 fem o ge fYen foerdt @ for fore semen oIk &9 o wq=
F WAAA Y A ST TET W wA e R fwE
SO AT & H IH HH HW FHI AT THS R T AR
TEH AN & fed &l =9 W@ g A T8 I o
% SHR SR A WEu o9 fed siwerem, fammem =
S SRl T ®1 [ FH & fau AR @ 2
T <IRIEA H e 39 & fau oMy o= T € evedq
fo @i # A © T T w9 en e §
g o e ¥ gUR g @1 U 6 SifEd B Y ST ©
Tel 79 T e &) IRl " el U & R % o
Eapicacificuil
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35.

Wit #ed € A0 3@ T HI aH w1 qeH §aeH
-G 319 1 Yhl K3 21’ @ e T U HEN
i 9 Torei Sem-w omdcd, 1u| 9 guegian el fwam
3= fava @ oA, e R o #I fen % 3evd 9
B Tened-YehTeT Ft A hi

31eqell

TH Ao H AETIA-Aea & fawa o s e 21 ferened
#i fFg oy o, fem <0 9, frg fawa =1 9= < =few den
Tehdd B - fraw en wifew 99 oIk qvEE 9 g o
ol & fowa § oft SdEn T R T we-we sEred den o
tre & Wee Wt ==l @i T R

@ St & STTER T IR TR I off e o A 1 SRR
1 AR 21 9 fored € o o <o & wemime s faen
IR A & ¥ B YER B B T 9 WAFISE e ¢
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DESIGN 2023-24
Subject : Punjabi
Class: 8th
Time : 3 hrs.
Max Marks : 80

1.Weightage to Learning Objectives :

Objectives : | Knowledge | Understanding /comprehension Wrifing Grammar Total
{(K) {u) {{c) {Expression {Application
_ (w) (£) | (G) W
% of Marks | 31.25 % 26.25% 20 % 225% 100%
Marks 25 [ 21 16 18 80

2. Weightage to different form of Questions :

Form of Questions : A SA VSA [ (m.ca) Total

No. of Questions : 04 04 07 05 20

Marks 25 21 27 18 80 |
S.No of QUESTIONS 45,16,3 1,181518 [89,10,11,12,1920 | 2,67,1317 | 20 ]

3. Weightage of content:

Sr. Name of unit Marks i
No.
1. | -8 uZo ans :- ]
| mfie Dy 5
afe-gadt (wzfEsh) 3
RS R
1.3n9 S5 5
2 =9/ 3T 7
3.8y 8
3. 771 -€ (fenaas ):- 2
U -, Eg-woE »@wﬁiﬁmﬁgfeﬁmm FIIEERt | 2
e i mae e NIy 2
2
2
_ 3,3,3,3
4. 91 -A-(ATI3/Us -yAsa) -fe-gad) afes o Aw ug-feamft | s
Yy (e rea o8 yns ) yns 839, (f¥s-uw reat o8 )fans - 5
fang foor mee -niaw 8
; _ 82,2, ]
4. | Weightage of the Question level : Total
1.Difficult Questions =20 %
2.Average Questions =50 %
3.Easy Questions =30%

[332]



5.Scheme of Questions
133 yrs @392 ' v )

2.f88 iz /& Ume (2 fRe fEw)
3.3y g (€ 9 &)

6. Scheme of Sections -4 Section
8) uzs 3

n) fosuz 3ns

¥) fonrags

H) Us-yAsat Afas

Sr.No. | Type of Questions [ Expected length of Expected time for
answers. each Questions
1. Long Questions 50-200 FEE Lufer
2. Short Questions 20-40 AE® 30 fife
3. Very Short Questions 1-5 AEE 45 file
4. Multiple Choice Questions 1-5 HEe 45 fifz
ﬁ A o 2
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Sample Q.PAPER OF PUNJABI |
CLASS VIl
' SESSION - 2023-24

g% nig-80 ANt 3 ufe
3z - fer yEs -u'Se T TF 20 yRs 7o

A YHS 896 Agdt 95 |

hyg oty nigAe o8 diar e |
9 € (ugs dRm) Wa -8
yns -1 J5t 72 wizfs3 09 g ug & ymot @ @59 fsl (5)

s Utan Unme @ a3 et gt fe9' 3 gt €t guer & Unmdht mrfos @ dige feg o stz 3 | wifigr

YizH § U & wem faor afer 31 mey's 8F & 99w o @ mafit @agt St Wist v Boat € ot €
Z9aHSt T | wifiET i3 3 Afoz ¥ 993 A gut '3 amH wiEEl diEt ¥ g 8F § @09 wes afesdt
239 3F B &

1 wifi3r Uiz vre @ faod et fe'g eim 37

2 wiEryfisH g ot fxor wier 32

3 wifigzr Yizw &t ouer @ fei fao3 os?

4 wififz iz § =09 W fam fe'e fieft 32

5 fen O = gt firgdy ol |

yrs -2 I fndft arfe -gat § ug & wg-feamdt yrst @ @59 fobr- (3)

fefonr 3t yaBuardt &,

T O e B

Her i Uy 9T 9,

8n ¢ feors we@et &

fefomr fo'a Bimr 95z 9,

# Ho © nieg maeT 8,

fen s 933 wahr e

oA f5o 39 saeT 2

® et st 32

1.8 2.HI 3. g 4 uaBuardt

() fefenr 3 fast ygH ot O 2

1. ug 2.¥% 3. Afos 4.fart
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() fon fast g8 nieg B 7 7
1. Of 2. =fomr 3. " 495
s ( fouz 39®) wia -20
yms -3 (8) ot fo'dh andte v w95T 50 § Auet ' a9 (5)

yms -3 () faret ymrfes fefomradinr w2t yme
wfegdt & w3z feh 3 dnro g Aeet fe'e v feue fod

YAs -4 Ho'B fe'e 8T I3 I8 THe s milaet € ie § dv agwz Addt fd-u'se fed- )
za3- B9 wem, Fo yore fefonradh, finrgt 3 aggart § uoEa!, FHE wiew 11 @7 39 I »rfami
At

£2 597 3 UTH @ 5 -5 S € HTBST B R 92 U9 el
s>~ ugel e yR fros & Agdt st s g Agdt , RS 3 Wt Agnet gEt v fean

YAS -5 I YgHE (8
ga2 ;_ giHer , ygrE ot I? U7 YRS I YTHE T Je9d! A96 , IS YTHE © Hodl 96 097 YTRT

2 ygre g<t ygRE gz © Gumi AR
H

nith fe'sr Re
53 ;- Fiier, el T eetan fu fusrdht v e fe'o e | Jedt & foms , ufad wit & 83 o 57,
€% won @ 38, wir i, gA o S 83, e faser 3 AR

71 (%) fewrags I vl 22
yrs -6 gfeamit yrs (03]
(®) Fa mee 13 g2:-
1. Y953 2. Udg 3. U9g 4.U9F
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12. 3)

(8) sa=s
() FTHSE

(®) 5AH
13. (3)
1. (8) wiud arst 93 mi2 saR efit & dee
2. (¥) Jarg o695 2 5aRS oF 96
3 ( E)Rfan
14, 3

(®) AU &t 1= X o uger &Y famr O Ty Bo wedt fog mrat 8w o famr 2
(nf) ASaS B3 B AszT @ o9 T 97 Su=ht O

(7) fimrfent St diwt & 25 ugs o8 H9 TR AEE 72 75|
gt -A (Ffoz ) wig (30)

15. 1.feg arfe-zaat i et Uare @ afox o afesr 59 & ot 91 (1x5=5)

2.fer arfe-zast @ o€t v aH fesw=is ReE O

InfeRFt g gt affed fa@uaftagz du @ B o)

4.fer afe -zt 9 E7 arfud o fiaga nrfenr 91

5.5 drrt 88t § flpre ager I €9 feo miz 3 59t Haer |
16. ‘mdiEt HeR afezr &=t Aoz fifw Hiar €t fondft 3t & (fem afesr fég =t & @t arg 2o goveg st &

Foes 89 finrs &3 9 @9 A & feu nowes 57 3 Qus €6 & AOYZ 2 98 s o At mEt afifer O fx T A
3 A A uoHt T Af3ers gaa € 4oer fodt 3 [@rg it wise 7S g9v §9THT UG »3 HY H'GE3T © HadT e 98
g fosg 9 & /e gder ¥ imat @ue oier sart & itz 3t & 1arg it wisrr ifoe yafie aroenmd wid o9
YHEHT 8t UIHEHT TR JgeT 9 13" &t g1t ags o8 R & vifsererg 2 weg@R st g5 ma9st A I wist 9,
far & wze vt fE8R ot | BT W BfsaEgder o5 T HaYET Ot AF 3 S5 USH I s

17. ag-feamft yms - (1x8=8)
1. (&) un fife = file,ffa afde

2.0 uT

3. (F) H&Y €1 wigH w3ar 3o

4. (1) ufmrg

5.8 R

6. (8) wFAw

7.(8) AT fedhmi sgws ==t

8.(8) Fa=t mam

18.1.115 T 33 22 A0 gAY &% o3 &t 92t Atingez o @r and &w mr@e wra #l fer &8t wa dht

2Zit- A St 8= et @ T &8 o8 U At I 5e® 8o &8 § fhus @ 03 Sger At
(2x4=8)
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2.fazmg ugfent fEx U9 3 Hidedt & oro 7K ot Ifasm few fifmn i {x &t @1a wiet ot § 9@, W'
ﬂ’raa*érsavé%asa@'ﬁnﬁaawmé‘aa@mamﬁﬁaam%mﬁa%#éw@am%
R fFe Uo1fiR a9e Soas 19 €3 3 & SoEs HEY B0 75 |

3.3Y 58 UIAS Y BT 396 @ vy § g #h €R3 Rfowr (@ faR we = evewr ugafonr AR 19 AaeT J fa
yE mEt I3 e AR 18R 3 fen wir o fBa we o egew vaatenn (R ¥ ves & BR 3 Uiz met Yo v few
TR fesr)

45T ‘It 2 fonrd * fém 2 8= 397 T3 A9 3 <5 oua HEIA A 1 faR fos e 3 e AR 3t ost
g3t féy 3 ® & wer Uenife ay <t Qost 52 aoa A | uT i3t &9 ude A Bust wet Aegar At |

5. Hfdedt 5o afenr fen et fEug-Bie &t foor it fafa fo2 W FEt-yEt R W aB o & B
e Igg 3 A1 3 W v 39 8RR Wo fE fao e Al@u fee At o wer st di sw oA BRg Wi 3 g
A YT |

6.aEwRS © 1 2 &% fumrg U2 wAs ags feo i fa Grct & o ot At i it €t 8re &t it w3 Bo o
FfdEt At it § Bu & B8R 3wt ot are wRE At 18R § oRmt it nudt ot aett mart At

19. (8) &® 3 Aave & (1x2=2)
(o) rawtes 3 st € fus g
20. (8) &=e/fds , (1x2=2)

(o) Rarg/maHier
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TEN PRINCIPLES OF
THE ARYA SAMA]

God is the primary source of all true knowledge and of all that can be
known throughit.

God is Existent, Intelligent and Blissful. He is formless. Almighty,
Just, Merciful, Urborn, Infinite, Unchallengeable, Beginningless,
Incomparable, the Support and Lord of all, Omniscient,
Imperishable, Immortal, Fearless, Eternal, Holy and the Maker of the
universe. To Him alone worship is due.

The Vedas are scriptures of true knowledge. It is the duty of the
Aryas toread them, hear them being read and recite them to others.

Wesshould always be ready to accept the truth and give up untruth.

All actions should be performed in conformity with Dharma, that s,
after due consideration of right and wrong.

The primary aim of the Arya Samaj is to do good for all, that is, to
promote their physical, spiritual and social well-being.

We should treat all people with love, fairness and due regards for
their merit.

One should aim at dispelling ignorance and promoting knowledge.

One should not only be content with one's own welfare, but should
look for itin the welfare of others also.

. One should regard oneself under restriction to follow altruistic
rulings of the society, while all should be free in following the rules % |
of individual welfare. ;
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